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1  %4D4>F5D<EF<>4 D4=>=4 ?> <5EFG D4E?>?>65=<O >5N5>F>6 
>4?<F4?L=>7> EFD><F5?LEF64 < GE?>6<= EFD><F5?LEF64, D5>>=EFDG>F<<, 
>4?<F4?L=>7> D5<>=F4 

1.1 �5M<5 44==O5 

&>< 7 ?> >5N5>FG «�5GEFD>=EF6> %N?L4N>4DE>>7> <5EF>D>645=<O. $47654>G=4O 

E>646<=4 .%4-9$. ,?4<>6O= 4<54D» 6O?>?=5= =4 >E=>64=<<: 

-  ??4= D476<F<O ?D54?D<OF<O < ??4= ��$; 

- ?D>5>F ?D>5=>= M>E??G4F4F<< %N?L4N>4DE>>7> <5EF>D>645=<O, GF65D64U==O= 

?D>F>>>?>< &�$ 776-20 >F 09.12.2020 7.; 

- 7444=<5 =4 ?D>5>F<D>64=<5 ?> >5N5>FG: «�5GEFD>=EF6> %N?L4N>4DE>>7> 

<5EF>D>645=<O. $47654>G=4O E>646<=4 .%4-9$. ,?4<>6O= 4<54D», >F 2024 7., GF65D645==>5 

?D54EF46<F5?5< ?> 4>65D5==>EF< ��� «%N?L4N>4D�5DF5�47» �.�. %NF><=O< < 75=5D4?L=O< 

4<D5>F>D>< ��� «/>GF%FD>=�D>5>F» �.% �5=<EN>><; 

- F5E=<G5E><E >FG5F>6 ?> D57G?LF4F4< <=65=5D=>-75>457<G5E><E, <=65=5D=>-

75>?>7<G5E><E, <=65=5D=>-7<4D><5F5>D>?>7<G5E><E < <=65=5D=>-M>>?>7<G5E><E <7OE>4=<= 

6O?>?=5==O5, 6O?>?=5==O< ��� «/>GF%FD>=�D>5>F» 6 2024 7.; 

- <EE>4=OE 44==OE, ?D54>EF46?5==OE �4>47G<>><; 

- 7444=<= E<56=OE >F45?>6; 

- %� 48.13330.2019; 

- %�<� 1.04.03-85*; 

- <5F>4<G5E><E D5>><5=44F<= ��% 12-81.2007; 

- D4EG5F=OE =>D<4F<6>6 4?O E>EF46?5=<O ��%. 

�<4 EFD><F5?LEF64 3 =>6>5. 

%>45D64=<5 =4EF>OM57> D4745?4 D47D45>F4=> E>7?4E=> �>EF4=>6?5=<N   �D46<F5?LEF64 

$$ >F 16.02.2008 7 87 «�>?>65=<5 > E>EF465 D4745?>6 ?D>5>F=>= 4>>G<5=F4F<< < FD55>64=<OE 

> <E E>45D64=<N». 

&>< 7 D4EE<4FD<645F >E=>6=O5 6>?D>EO >D74=<74F<< EFD><F5?L=>-<>=F46=OE D45>F ?> 

>5N5>FG «�5GEFD>=EF6> %N?L4N>4DE>>7> <5EF>D>645=<O. $47654>G=4O E>646<=4 .%4 -9$. 

,?4<>6O= 4<54D». 

�D>5>F >D74=<74F<< EFD><F5?LEF64 D47D45>F4= E F5?LN >55E?5G5=<O E6>56D5<5==>7> 

66>44 6 M>E??G4F4F<N >5N5>F4 E =4<<5=LL<<< <4F5D<4?L=>-F5E=<G5E><<< 74FD4F4<< < 

6OE>><< >4G5EF6>< %�$, 6O?>?=O5<OE 557>?4E=O<< <5F>44<< 6 ED>><, =5 ?D56OL4NM<5 

=>D<4F<6=GN ?D>4>?6<F5?L=>EFL EFD><F5?LEF64. 
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�D>5>F >D74=<74F<< EFD><F5?LEF64 O6?O5FEO >E=>64=<5< 4?O ??4=<D>64=<O 

>4?<F4?L=OE 6?>65=<= < >5NU<>6 D45>F, >55E?5G5=<O EFD><F5?LEF64 D45>G<<< >44D4<<, 

EFD><F5?L=O<< <4L<=4<<, 46F>FD4=E?>DF>< < M=5D75F<G5E><<< D5EGDE4<<. 

�?O ?D><76>4EF64 EFD><F5?L=>-<>=F46=OE D45>F 4>?6=O 5OFL D47D45>F4=O < 

GF65D645=O ?D>5>F ?D><76>4EF64 D45>F < F5E=>?>7<G5E><5 >4DFO =4 6E5 >E=>6=O5 6<4O D45>F 

?D< EFD><F5?LEF65 >5N5>F4. 

�D>5>F >D74=<74F<< EFD><F5?LEF64 6O?>?=5= 6 F5=4E 2001 7. 

� D4<>4E ?D>5>F4 ?D54GE<4FD<645FEO: 

ý L?4<>6O= 4<54D D47654>G=>= E>646<=O .%4-9$. 

� 44==>= ?D>5>F=>= 4>>G<5=F4F<< ?D54GE<>FD5=> D47<5M5=<5 L?4<>6>7> 4<54D4 

D47654>G=>= E>646<=O .%4-9$ =4 ??>M44>5 ?><E>>6>->F5=>G=>= E>646<=O .%4-9�, 

74?D>5>F<D>64==>= D4=55 ?> L. /%�/&��/54-23. 

�FEO?>4 F5DD<F>D<< ?D><76>4<FEO E>4?L=O<<, >DG?=>>5?><>G=O<<, ?5EG4=O<< < 

7?<=<EFO<< 7DG=F4<< (?> >?4EE<D<>4F<< ��%& 25100-2011). �D54?>GF5=<5 E?54G5F >F4464FL 

7DG=F4<, =4E>4OM<<EO 6 F4?>< E>EF>O=<<. 

�F>>EO =4EO?5= ??>M44>< 74?D>5>F<D>64=O >DGF<7=>= 1:2. 

�4 ??>M44>5 D47654>G=>= E>646<=O 74?D>5>F<D>64= L?4<>6O= 4<54D, V=1390 <3. 

�?O <E>?NG5=<O 747DO7=5=<O ?D<?574NM5= F5DD<F>D<< >FE>44<< 5GD5=<O 

?D54GE<>FD5=> GEFD>=EF6> ?D>F<6>D<?LFD4F<>==>7> M>D4=4 L?4<>6>7> 4<54D4 <7 >><5<=4F<< 

?D<D>4=OE < <E>GEEF65==OE <4F5D<4?>6. �D>5>F>< ?D54GE<4FD<645FEO <E?>?L7>64=<5 

<4F5D<4?>6 GEF>=G<6OE: 

- > 6>745=EF6<N 65M5EF6, 6E>4OM<E 6 E>EF46 >FE>4>6;  

- D<7<G5E><< < <5E4=<G5E><< 6>745=EF6<O<. 

�5D54 G>?44>>= 7<4D><7>?OF<>==>7> E?>O D>D<<DG5FEO 6OD46=<64NM<= E?>= 6 

>4G5EF65 >>F>D>7> <E?>?L7G5FEO 7?<=<EFO= 7DG=F F>?M<=>= 0,10 <, >4=>6D5<5==> 

6O?>?=ONM<= D>?L ?D<D>4=>7> ?D>F<6>D<?LFD4F<>==>7> M>D4=4. �>47>F>6?5==4O 

?>65DE=>EFL ?>4EF<?4NM57> E?>O 4>?6=4 5OFL 7?44>>=, >G<M5==>= >F <GE>D4, >>D=5= < 

>EFDOE >4<=5=, >D74=<>< < 4DG7>7> <4F5D<4?4.  

'>?44>4 7<4D><7>?OF<>==>7> <4F5D<4?4 ?D><76>4<FEO =4 4=> < >F>>EO L?4<>6>7> 

4<54D4. 

�?O <E>?NG5=<O D<E>4 ?>6D5645=<O 7<4D><7>?OF<>==>7> <4F5D<4?4 6O?>?=O5FEO 

G>?44>4 ?> E?>N 75>F5>EF<?O. �>E?5 G>?44>< 7<4D><7>?OF<>==>7> <4F5D<4?4 E>7445FEO 

74M<F=O= E?>=, ?D54>ED4=ONM<= 7<4D><7>?OF<>==O= E?>= >F <5E4=<G5E><E 6>745=EF6<=. � 

>4G5EF65 74M<F=>7> E?>O <E?>?L7GNFEO E?>= 75>F5>EF<?O < E?>= <5?>>7> G??>F=5==>7> ?5E>4 
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F>?M<=>= =5 <5=55 0,15 <, ?D54=47=4G5==O= 4?O >55E?5G5=<O ??>F=>EF< 57> ?D<?574=<O. � 

>4G5EF65 7<4D><7>?OF<>==>7> <4F5D<4?4 <>7GF ?D<<5=OFLEO =>6O5 ?5DE?5>F<6=O5 

>><?>7<F=O5 <4F5D<4?O. 

�> ?5D<<5FDG L?4<>6>7> 4<54D4 GEFD4<645FEO >564?>64=<5 <7 7DG=F4 6OE>F>= =5 =<65 

>564?>64=<O ??>M44><, L<D<=>= ?> 65DEG 0,5 <, E >F>>E4<< 1:1,5. 

�?O >55E?5G5=<O 557>?4E=>EF< ?> 6E5<G ?5D<<5FDG L?4<>6>7> 4<54D4 ?D54GE<>FD5=> 

GEFD>=EF6> >7D4645=<O <7 >>?NG5= ?D>6>?>><. 

�?O >55E?5G5=<O GEF>=G<6>EF< >F>>E>6 75<?O=>7> ?>?>F=4 >F D47<O6>6 4F<>ED5D=O<< 

>E44>4<<, 65FD>6>= MD>7<< < E=<65=<O 6>745=EF6<O =4 >>DG64NMGN ED54G ?D54GE<>FD5=> <E 

G>D5??5=<5 ?>E56>< <=>7>?5F=<E FD46 45<GF4F<>==O< E?>E>5><. 

1.2 �D4F>4O D<7<>>-75>7D4D<G5E>4O E4D4>F5D<EF<>4 < F5E=>75==O5 GE?>6<O  

� 44<<=<EFD4F<6=>< >F=>L5=<< .6=>-%N?L4N>4DE><= ?<F5=7<>==O= GG4EF>> 

=4E>4<FEO =4 F5DD<F>D<< �<D=<=E>>7> D4=>=4 $5E?G5?<>< %4E4 (/>GF<O). �?<64=L<5 

>DG?=O5 =4E5?5==O5 ?G=>FO: 7. �<D=O=, D4E?>?>65= 6 26 >< N7>-6>EF>G=55 ?D>5>F<DG5<>7> 

>5N5>F4 < ?. %65F?O= D4E?>?>65= 6 40 >< E565D>-74?44=55 ?D>5>F<DG5<>7> >5N5>F4.  

�> F5DD<F>D<< ?<F5=7<>==>7> GG4EF>4 ?D>E>4<F 46F>FD4EE4 �<D=O=- '44G=O=. 

1.3 �?<<4F 

�> 44==O< %� 131.13330.2020  ?> >?<<4F<G5E>><G D4=>=<D>64=<N 4?O EFD><F5?LEF64 

>F=>E<FEO > I D4=>=G, ?>4D4=>= I �.   

�?<<4F<G5E>4O E4D4>F5D<EF<>4 F5DD<F>D<< D45>F E>EF46?5=4 ?> 44==O< =45?N45=<= 

5?<64=L5= <5F5>EF4=F<< �<D=O=. 

�?<<4F D57>> >>=F<=5=F4?L=O=, >>F>DO= ?D>O6?O5FEO >G5=L =<7><<< 7<<=<<< < 6OE>-

><<< ?5F=<<< F5<?5D4FGD4<< 6>74GE4 

�<<4 =4 D4EE<4FD<645<>= F5DD<F>D<< OE=4O, EGD>64O, <4?>E=56=4O, GEF>=G<64O < 

?D>4>?6<F5?L=4O. �5F> 4>6>?L=> 74EGL?<6>5, >>D>F>>5 < 64D>>5. 

�5D5E>4=O5 E57>=O 7>44 >D4F>>6D5<5==O < E4D4>F5D<7GNFEO 5>?LL<<< EGF>G=O<< 

4<??<FG44<< F5<?5D4FGD. 

�?<<4F<G5E><5 E4D4>F5D<EF<>< EF. �<D=O= ?D<6545=O 6 F45?<F5 1.1. 
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&45?<F4 1.1 4 �?<<4F<G5E><5 E4D4>F5D<EF<>< EF. �<D=O= 

�4D4<5FDO 

 
I II III IV V VI VII VIII IX X XI XII �>4 

%D54=OO 

<5EOG=4O  < 

7>4>64O 

F5<?5D4FGD4 

6>74GE4, °% 

-

30,9 
-27,1 -16,2 -5,6 4,6 13,9 17,3 13,5 5 -7 -22,4 -29,6 -7 

�5E>?NF=O= 

<4>E<<G< 

F5<?5D4FGDO 

6>74GE4, °% 

-2 1 10 18 31 34 35 37 26 18 4 -1 37 

�5E>?NF=O= 

<<=<<G< 

F5<?5D4FGDO 

6>74GE4, °% 

-54 -54 -48 -32 -19 -6 -1 -4 -14 -33 -52 -53 -54 

%D54=OO <7 

45E>?NF=OE 

<4>E. 

F5<?5D4FGDO 

6>74GE4 , °% 

-12 -10 1 10 22 29 31 28 20 8 -3 -10 32 

%D54=OO <7 

45E>?NF=OE 

<<=<<G<. 

F5<?5D4FGDO 

6>74GE4 , °% 

-46 -42 -34 -23 -9 0,3 5 1 -7 -24 -39 -45 -49 

%D54=OO 

<5EOG=4O < 

7>4>64O 

F5<?. 

?>65DE=>EF< 

?>G6O, °% 

-

32,4 
-29,7 -19,0 -7,3 5,6 17,7 21,5 15,9 5,6 -7,8 -23,2 -29,8 -6,5 

%D54=OO  

<5EOG=4O < 

7>4>64O 

E>>D>EFL 

65FD4, </E 

2,7 2,7 3,0 3,5 3,6 3,3 3,0 2,9 3,2 3,4 2,9 2,8 3,1 

�?<<4F<G5E><5 ?4D4<5FDO ?D54EF46?5=O 6 F45?<F5 1.2. 

&45?<F4 1.2 4 �?<<4F<G5E><5 ?4D4<5FDO 

�4D4<5FDO �<D=O= 

&5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=>= ?OF<4=56><, °% >55E?5G5==>EFLN 

0,92 % 

-48 
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�4D4<5FDO �<D=O= 

&5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=>= ?OF<4=56><, °% >55E?5G5==>EFLN 

0,98 % 

-51 

&5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=OE EGF>>, °% >55E?5G5==>EFLN 0,92 % -51 

&5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=OE EGF>>, °% >55E?5G5==>EFLN 0,98 % -54 

%D54=OO F5<?5D4FGD4 6>74GE4 (°%) ?5D<>44 E> ED54=5EGF>G=>= F5<?5D4FGD>= 

6>74GE4 <5=55 8 °% 

-14,9 

�D>4>?6<F5?L=>EFL ?5D<>44 E> ED54=5EGF>G=>= F5<?5D4FGD>= 6>74GE4 <5=55 

8 °%, 4=< 

264 

%D54=OO F5<?5D4FGD4 6>74GE4 (°%) ?5D<>44 E> ED54=5EGF>G=>= F5<?5D4FGD>= 

6>74GE4  5>?55 0 °% 

12,1 

�D>4>?6<F5?L=>EFL ?5D<>44 E> ED54=5EGF>G=>= F5<?5D4FGD>= 6>74GE4 5>?55 

0 °%, 4=< 

155 

&5<?5D4FGD4 6>74GE4 6 F5??O= ?5D<>4 (E> ED54=5EGF>G=>= F5<?5D4FGD>= 

6>74GE4 6OL5 8 °%) >55E?5G5==>EFLN 0,95 

14,4 

&5<?5D4FGD4 6>74GE4 6 F5??O= ?5D<>4 ( E> ED54=5EGF>G=>= F5<?5D4FGD>= 

6>74GE4 6OL5 8 °%) >55E?5G5==>EFLN 0,98 

14,0 

%D54=OO F5<?5D4FGD4 6>74GE4 6 F5??O= ?5D<>4 (E> ED54=5EGF>G=>= 

F5<?5D4FGD>= 6>74GE4 6OL5 0 °% 

14,5 

�D>4>?6<F5?L=>EFL ?5D<>44 E> ED54=5EGF>G=>= F5<?5D4FGD>= ?>65DE=>EF< 

?>G6O 5>?55  0 °%, 4=<  

148 

%GF>G=O= <4>E<<G< >E44>>6, << 82 

(17.08.20187) 

� ED54=5< 74 7>4 6O?4445F 302 << >E44>>6. �4==O5 ?> >>?<G5EF6G >E44>>6 ?D<6545=O 6 

F45?<F5 1.3. 

&45?<F4 1.3 4 �5EOG=>5 < 7>4>6>5 >>?<G5EF6> >E44>>6 E ?>?D46>4<< =4 E<4G<64=<5, <<  

�<4 I II III IV V VI VII VIII IX X XI XII �>4 

F65D4O5 14 11 9 11 4 - - - 7 17 22 17 112 

6<4><5 - - - 1 10 32 45 55 19 2 - - 164 

E<5L4==O5 - - - 3 8 2 - 2 6 5 - - 26 

 

1.4 �5>?>7>-75><>DD>?>7<G5E>>5 EFD>5=<5 

&5>F>=<G5E>>5 EFD>5=<5 F5DD<F>D<< D4E?>?>65=<O ?D>5>F<DG5<>7> >5N5>F4 

>?D545?O5FEO 55 ?>?>65=<5< =4 EFO>5 46GE D47=>6>7D4EF=OE EFDG>FGD=OE >5?4EF5=: 
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65DE=5?4?5>7>=E>>= &G=7GEE>>= E<=5>?<7O < 5>?55 <>?>4>= (<57>7>=E>>=) =4?>65==>= 

EFDG>FGDO 3 �=74D>-�<?N=E>>7> <57>7>=E>>7> ?D>7<54. 

� 75>?>7<G5E>>< EFD>5=<< GG4EF>4 <7OE>4=<= 4> <EE?54G5<>= 7?G5<=O 17,0 < 

?D<=<<4NF GG4EF<5 4??N6<4?L=>-45?N6<4?L=O5 >F?>65=<O G5F65DF<G=>= E<EF5<O (4dQIII-IV). � 

=<6=5= G4EF< 6E>DOF>7> 75>?>7<G5E>>7> D47D574 74?574NF M?N6<4?L=O5 ED54=5-

=<6=5>5<5D<=E><5 >F?>65=<O (e�2-3). 

% ?>65DE=>EF< ?>GF< ?>6E5<5EF=>, 74 <E>?NG5=<5< <5EF, 745 F5DD<F>D<O <7DOF4, 

?D<EGFEF6G5F 7445D=>64==O= E?>= <>M=>EFLN 4> 0,2 <, >>F>DO= =5 6O45?O5FEO 6 >F45?L=O= 

<=65=5D=>-75>?>7<G5E><= M?5<5=F < =5 D5>><5=4G5FEO 6 >4G5EF65 >E=>64=<O E>>DG65=<=. 

�> 44==O< 5GD5=<O 6 ?5D<>4 ?D>6545=<O D45>F 4DE<6=OE <7OE>4=<= [43] (E5=FO5DL 

2023 7.) =4 ??>M44>5 .%4-9$ 74?574NF <5D7?O5 EG7?<=><, >F=>EOM<5EO > M?N6<4?L=O< 

>F?>65=<O< =<6=57> FD<4E4 (e�2-3).  � 65DE=5= G4EF< D47D574 74?574NF 4??N6<4?L=>-

45?N6<4?L=O5 >F?>65=<O G5F65DF<G=>= E<EF5<O (4dQIII-IV) 4 EG7?<=>< F4?O5 < <5D7?O5 >F 

?>?GF65D4>= < <O7>>??4EF<G=>= >>=E<EF5=F<<.  

�4 >E=>64=<< ?>?56OE >?<E4=<= 7DG=F>6, ?45>D4F>D=OE >?D545?5=<= < 

EF4F<EF<G5E>>= >5D45>F>< ?>>474F5?5= D<7<>>-<5E4=<G5E><E E6>=EF6 7DG=F>6, 6 75>?>7<G5E>>< 

D47D575 F5DD<F>D<< D4E?>?>65=<O ?D>5>F<DG5<>7> >5N5>F4 6O45?5=> 4 <=65=5D=>-

75>?>7<G5E><E M?5<5=F>6 (��-). 

&4?O<< D47=>EFO<< O6?ONFEO: 

��--4 %G7?<=>> E5D>64F>->>D<G=56O=, FG7>??4EF<G=O=, E 6>?NG5=<5< 74?L>< < 

7D46<O 4> 5 %, 4dQIII-IV. 

� <5D7?>< E>EF>O=<< =4E>4OFEO E?54GNM<5 D47=>EF< 7DG=F>6: 

��--3< %G7?<=>> E5D>64F>->>D<G=56O=, ??4EF<G=><5D7?O=, =5?L4<EFO=, <4EE<6=>= 

>D<>F5>EFGDO, 6 F4?>< E>EF>O=<< F65D4O=, D565 ?>?GF65D4O=, E 6>?NG5=<O<< 74?L>< < 7D46<O 

4> 5 %, 4dQIII-IV; 

��--4< %G7?<=>> E5D>64F>->>D<G=56O=, ??4EF<G=><5D7?O=, E?45>?L4<EFO=, 

E?><EF>= >D<>F5>EFGDO, 6 F4?>< E>EF>O=<< <O7>>??4EF<G=O=, ?D>E?>O<< FG7>??4EF<G=O=, 

4dQIII-IV;  

��--17< %G7?<=>> E5DO=, E5D>64F>->>D<G=56O=, ??4EF<G=><5D7?O=, =5?L4<EFO=, 

<4EE<6=>= >D<>F5>EFGDO, 6 F4?>< E>EF>O=<< F65D4O=, e�2-3. 

 

 

 



 

 

      

/%�/&��/99-24/��%.&' 

�<EF 

      11 
�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4 

 

�
74

<
. 

<
=

6
. 

7
 

 

�
>

4
?

<
EL

 <
 4

4F
4 

 

�
=

6
. 
7

  
?

>
4

?
. 

 

1.5 �<4D>75>?>7<G5E><5 GE?>6<O 

� 7<4D>75>?>7<G5E>>< >F=>L5=<< <EE?54G5<4O F5DD<F>D<O D4E?>?>65=4 6 ?D545?4E 

�5=>-�<?N=E>>7> 4DF57<4=E>>7> 54EE5==4.  

� ?5D<>4 ?D>6545=<O D45>F 4DE<6=OE <7OE>4=<= (E5=FO5DL 2023 7.) 7DG=F>6O5 6>4O 

E>646<=4<< 7?G5<=>= 4> 17,0 < =5 6E>DOFO.  

� E6O7< E L<D>><< D4E?D>EFD4=5=<5< 7?<=<EFOE 7DG=F>6 =4 6E5= <EE?54G5<>= 

F5DD<F>D<< D4E?>?>65=<O ?D>5>F<DG5<>7> >5N5>F4 6>7<>6=> D476<F<5 65DE>6>4><.  

�D< ?D><76>4EF65 75<?O=OE D45>F (?D>E>4>4 FD4=L5=, 6E>DOF<5 >>F?>64=>6 < 4D. 

6O5<>>) < 44?L=5=L5= M>E??G4F4F<< E>>DG65=<= =5>5E>4<<> ?D54GE<>FD5FL <5D>?D<OF<O ?> 

>F6>4G ?>65DE=>EF=OE 6>4. �D< ?D>E>4>5 FD4=L5= D5>><5=4G5FEO =5 >EF46?OFL =4 4?<F5?L=O= 

ED>> >F>DOFO<< EF5=><, GF> <>65F ?D<65EF< > G65?<G5=<N 4<E?5DE=>EF< 7DG=F>6 < <E 

D47DGL5=<N. 

�D< ?D><76>4EF65 75<?O=OE D45>F (?D>E>4>4 FD4=L5=, 6E>DOF<5 >>F?>64=>6 < 4D. 

6O5<>>) < 44?L=5=L5= M>E??G4F4F<< E>>DG65=<= =5>5E>4<<> ?D54GE<>FD5FL <5D>?D<OF<O ?> 

>F6>4G ?>65DE=>EF=OE 6>4. �D< ?D>E>4>5 FD4=L5= D5>><5=4G5FEO =5 >EF46?OFL =4 4?<F5?L=O= 

ED>> >F>DOFO<< EF5=><, GF> <>65F ?D<65EF< > G65?<G5=<N 4<E?5DE=>EF< 7DG=F>6 < <E 

D47DGL5=<N. 

1.6 %6>=EF64 7DG=F>6 

�> <4F5D<4?4< 4DE<6=>7> >FG5F4 >>DD>7<>==4O 4>F<6=>EFL 7DG=F>6 >?D545?5=4 ?> 

D57G?LF4F4< ?45>D4F>D=OE 44==OE 4?O 6E5E ��-, E>7?4E=> F. 2.4 ��%& 9.602.2016. �> 

>F=>L5=<N > G7?5D>4<EF>= < =<7>>?57<D>64==>= EF4?< 7?<=<EFO5 7DG=FO >5?444NF 6OE>>>= 

47D5EE<6=>EFLN. %>7?4E=> %� 28.13330.2017, ?> EF5?5=< 47D5EE<6=>EF< EG?LD4F>6 6 7DG=F4E ?> 

>F=>L5=<N > 55F>==O< >>=EFDG>F<O< =4 ?>DF?4=4F5<5=F5 <4D>< W4 7DG=FO E?45>47D5EE<6=O, 

> >EF4?L=O< <4D>4< 55F>=>6 3 =547D5EE<6=O. �> >F=>L5=<N > 55F>==O< >>=EFDG>F<O< =4 

L?4>>?>DFF5<5=F5 < EG?LD4F>EF>=>>< F5<5=F5 6E5E <4D>> 7DG=FO =547D5EE<6=O. �> EF5?5=< 

47D5EE<6=>EF< E?>D<4>6 6 7DG=F4E > 65?57>55F>==O< >>=EFDG>F<O< 7DG=FO =547D5EE<6=O >> 

6E5< <4D>4< 55F>=>6. 

� E>>F65FEF6<< E ��%& 25100-2020, 7DG=FO <EE?54G5<>= F5DD<F>D<< =574E>?5==O5. 

1.7 �5D7?O5 < E?5F<D<G5E><5 7DG=FO 

�4 GG4EF>5 <7OE>4=<= D4E?D>EFD4=5=O <5D7?O5 7DG=FO, E4D4>F5D<7GNM<5EO 

<7<5=5=<5< F5>EFGD=>-EFDG>FGD=OE E6>=EF6, ?D>G=>EF=OE < 45D>D<4F<>==OE E4D4>F5D<EF<> 6 

D57G?LF4F5 6=5L=<E 6>745=EF6<=, >5?444NM<5 =5>4=>D>4=>EFLN < 4=<7>FD>?<5= (D<7<G5E>>= 
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< 75><5FD<G5E>>=) < E>?>==O5 > 4?<F5?L=O< <7<5=5=<O< EFDG>FGDO < E6>=EF6 6> 6D5<5=< 

(%� 11-105-97 (G4EFL III) < %� 47.13330.2016). 

�5D7?O5 7DG=FO. �4 F5DD<F>D<< D4E?>?>65=<O ?D>5>F<DG5<>7> >5N5>F4 

<=>7>?5F=5<5D7?O5 7DG=FO D4E?D>EFD4=5=O ?>6E5<5EF=>. � ?5D<>4 ?D>6545=<O D45>F 

4DE<6=OE <7OE>4=<= (E5=FO5DL 2023 7.) 7DG=FO 45OF5?L=>7> E?>O =4E>4OFEO ?D5<<GM5EF65==> 6 

<5D7?>< E>EF>O=<<, <>M=>EFL E57>==>-F4?>7> E?>O <7<5=O5FEO >F 0,3 4> 2,7 <. 

� F4?>< E>EF>O=<< <5D7?O5 EG7?<=>< >5?444NF >>=E<EF5=F<5= >F F65D4>= 4> 

<O7>>??4EF<G=>=. 

� E>>F65FEF6<< E ��%& 25100-2020 F45?. �-26, �-27, <EE>4O <7 ?L4<EF>EF< 74 EG5F 

6<4<<OE ?54O=OE 6>?NG5=<=, EG<<4D=>= ?L4<EF>EF< < F5<?5D4FGDO: > =5?L4<EFO< 7DG=F4< 

>F=>EOFEO ��- 3<, 17<, > E?45>?L4<EFO< 7DG=F4< >F=>EOFEO ��- 4 4<.  

%G7?<=>< ��--3< < ��--17< >5?444NF <4EE<6=>=, EG7?<=>< ��--4< 3 E?><EF>=. 

1.8 �5>?>7<G5E><5 < <=65=5D=>-75>?>7<G5E><5 ?D>F5EEO 

�4 <EE?54G5<>< GG4EF>5 ?D>F5EEO <>D>7=>7> ?GG5=<O 7DG=F>6 4>F<6=> ?D>F5>4NF 

?D4>F<G5E>< ?>6E5<5EF=>. �FF4<64=<5 7DG=F4 =4G<=45FEO 6 >>=F5 <4O 4 =4G4?5 <N=O < 

74>4=G<645FEO 6 E5=FO5D5->>FO5D5 <5EOF5. �4F5< 45OF5?L=O= E?>= =4E>4<FEO 6 F5G5=<< 

>>D>F>>7> ?5D<>44 6 EF45<?L=>< E>EF>O=<<, 4 E E5D54<=O E5=FO5DO =4G<=45F ?D><5D74FL 

E65DEG. &4><< >5D47><, ?D>4>?6<F5?L=>EFL EGM5EF6>64=<O E57>==>F4?>7> E?>O =5 ?D56OL45F 

445 <5EOF56. 

�> <4F5D<4?4< 4DE<6=>7> >FG5F4, ED54< 7DG=F>6, 74?574NM<E 6 ?D545?4E 45OF5?L=>7> 

E?>O, ?> EF5?5=< <>D>7=>= ?GG<=<EF>EF<, ?> ��%& 28622-2012, 6O45?ONFEO:  

- E?45>?GG<=<EFO5 4 ��--3<, 17<; 

- ED54=5?GG<=<EFO5 4 ��--4, 4<. 
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2 �?<E4=<5 FD4=E?>DF=>= <=DD4EFDG>FGDO 

�>EF46>4 EFD><F5?L=OE <4F5D<4?>6 < >5>DG4>64=<O >EGM5EF6?O5FEO 65?57=>4>D>6=O< 

FD4=E?>DF>< 4> 7. 'EFL-�GF. �D<5< 7DG7>6 >EGM5EF6?O5FEO =4 5475 �� «�E5FD>6E><= D5G=>= 

?>DF». �4?L=5=L4O 4>EF46>4 ?D54GE<>FD5=4 ?> 46G< EE5<4< 6 746<E<<>EF< >F E57>=4, 6 

>>F>DO= 6O?>?=O5FEO FD4=E?>DF<D>6>4. 

� ?5D<>4 M>E??G4F4F<< 7<<=<>>6 (45>45DL-<4=) FD4=E?>DF<D>6>4 >EGM5EF6?O5FEO 

46F>FD4=E?>DF>< >F ?G=>F4 ?D<5<4 7DG7>6 ?> 46F>4>D>74< >DG7?>7>4<G=>7> 45=EF6<O < 

46F>7<<=<>4< 4> 547O E>?44<D>64=<O =4 ���. 

� ?5D<>4 =46<74F<< (<4=-E5=FO5DL) FD4=E?>DF<D>6>4 >F ?G=>F4 ?D<5<4 7DG7>6 

>EGM5EF6?O5FEO 6>4=O< FD4=E?>DF>< ?> D5>5 �5=4 4> 547O E>?44<D>64=<O 6 7. �5=E>5. 

�F 547 E>?44<D>64=<O 4> <5EF ?D><76>4EF64 D45>F 4>EF46>4 7DG7>6 >EGM5EF6?O5FEO 

46F>FD4=E?>DF>< ?> 46F>4>D>74< >DG7?>7>4<G=>7> 45=EF6<O. 

�DG=F 4?O >FEO?>< ??>M44>< 746>7OF <7 >4DL5D4 «$476<?>4». 

'44?5==>EFL >4DL5D4 >F >5N5>F4 EFD><F5?LEF64 3 17,0 ><.  

  �5E>> <7 >4DL5D4 «'G4EF>> 71». 

'44?5==>EFL >4DL5D4 >F >5N5>F4 EFD><F5?LEF64 - 37,5 ><. 

&D4=E?>DF=4O EE5<4 ?D54EF46?5=4 =4 ?<EF4E 2, 3 7D4D<G5E>>= G4EF<. 

�>44 4?O E>7O=EF65==>-?<FL56OE =G64 ?5DE>=4?4 - ?D<6>7=4O. �>EF46>4 6>4O 

>EGM5EF6?O5FEO 46F>FD4=E?>DF>< E ��%-1, ��%-3 <?< ��%-4, D4E?>?>65==OE =4 ??>M44>4E 

>?>D=>= 547O ?D><OE?4 ��� (��'-100) =4 ?<F5=7<>==>< GG4EF>5 %D54=55>FG>5<=E><= 

/�'11144�-.  

 �>EF46>4 6>4O >EGM5EF6?O5FEO ?> E?54GNM<< 4>D>74<: 

-  �6F><>5<?L=4O 4>D>74 4/4 «�<?N=» IV F5E=<G5E>>= >4F57>D<< (L<D<=4 75<?O=>7> 

?>?>F=4 - 10,0 <, L<D<=4 ?D>5765= G4EF< - 6,0 <, ?>>DOF<5 ?5D5E>4=>7> F<?4 (?5EG4=>-

7D46<==4O E<5EL - 25E<); 

- �6F><>5<?L=4O 4>D>74 «1163-= >< 4/4 «�<?N=» - �<D=O= - '44G=O= - �?5=5> - 

%4E>O?4E - .DN=7-%4O (4/4 «�=454D») E ?>4N574>< > ?.�=E4?, <45=F<D<>4F<>==O= =><5D 98 

�� $� 98�-004, IV F5E=<G5E>>= >4F57>D<< (L<D<=4 75<?O=>7> ?>?>F=4 - 10,0 <, L<D<=4 

?D>5765= G4EF< - 6,0 <, ?>>DOF<5 ?5D5E>4=>7> F<?4 (?5EG4=>-7D46<==4O E<5EL 3 25 E<); 

- &5E=>?>7<G5E><= ?D>574 > ??>M44>5 E>646<=O .%4-9$ (L<D<=4 75<?O=>7> ?>?>F=4 

3 5,5 <, L<D<=4 ?D>5765= G4EF< 3 3,5 <, ?>>DOF<5 ?5D5E>4=>7> F<?4 (M555=>G=>-?5EG4=4O 

E<5EL 3 40 E<). 



 

 

      

/%�/&��/99-24/��%.&' 

�<EF 

      14 
�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4 

 

�
74

<
. 

<
=

6
. 

7
 

 

�
>

4
?

<
EL

 <
 4

4F
4 

 

�
=

6
. 
7

  
?

>
4

?
. 

 

3 %6545=<O > 6>7<>6=>EF< <E?>?L7>64=<O <5EF=>= D45>G5= E<?O ?D< 
>EGM5EF6?5=<< EFD><F5?LEF64 D5>>=EFDG>F<<, >4?<F4?L=>7> D5<>=F4 - 4?O 
>5N5>F>6 >4?<F4?L=>7> EFD><F5?LEF64, D<=4=E<DG5<OE E ?D<6?5G5=<5< 
ED54EF6 E>>F65FEF6GNM<E 5N465F>6 5N465F=>= E<EF5<O $>EE<=E>>= 
$545D4F<<, ED54EF6 ?<F, G>474==OE 6 G4EF< 1 EF4FL< 8_3 
�D44>EFD><F5?L=>7> >>45>E4 $>EE<=E>>= $545D4F<< 

%=4565=<5 EFD><F5?LEF64 >EGM5EF6?O5FEO ?D<6>7=O<< <4F5D<4?4<< < >5>DG4>64=<5<. 

�D5<5==>5 E>?44<D>64=<5 EFD><F5?L=OE <4F5D<4?>6 < >5>DG4>64=<O ?D54GE<>FD5=> =4 5475 

E>?44<D>64=<O =4 ��� .%4.  

-?5>FD>E=4565=<5 >5N5>F4 ?D54GE<>FD5=> 46F>=><=>5. �EF>G=<>4<< 

M?5>FD>E=4565=<O E?G64F ?5D546<6=O5 4<75?L=O5 M?5>FD>EF4=F<<. 

� ?D>5>F5 ?D54GE<>FD5=> <E?>?L7>64=<5 64EF>6>7> <5F>44 >D74=<74F<< EFD><F5?LEF64. 

�D>5>F>< ?D<=OF4 GE?>6=4O 75=5D4?L=4O ?>4DO4=4O EFD><F5?L=4O >D74=<74F<O, 547<DGNM4OEO 6 

7>D>44E �>6>E<5<DE>, 7. %4<4D4, 7. �D>GFE>. �D>6<64=<5 D45>G<E =4 ?5D<>4 64EFO 

?D54GE<>FD5=> =4 ��� .%4.  

%>F<4?L=>-5OF>6>5 >5E?G6<64=<5 D45>G<E >D74=<7>64=> ?> <5EFG 6D5<5==>7> 

?D>6<64=<O ��� .%4. %D54=56765L5==>5 D4EEF>O=<5 5654=56=>= 46F>?5D56>7>< D45>F4NM<E 

4> >5N5>F>6 EFD><F5?LEF64 E>EF46?O5F 24,0 ><. 

�>44 4?O ?D><76>4EF65==OE < E>7O=EF65==>-?<FL56OE =G64 ?D<6>7=4O. �>4DO4G<> 

6O?>?=O5F 74>?NG5=<5 4>7>6>D4 =4 ?>EF46>G <?< 745>D 6>4O 4> =4G4?4 ?D><76>4EF64 D45>F. 

�>4>>55E?5G5=<5 D45>F4NM<E >EGM5EF6?O5FEO E ?><>MLN 6EFD>5==OE 5<>>EF5= 

(54>>6) ?5D<>4<G5E>>7> 74?>?=5=<O, D4EEG<F4==OE =4 EGF>G=O= 74?4E 6>4O (?>  

��%& 58762-2019). 

�D>5>F>< ?D<=OF 64EF>6O= <5F>4 >D74=<74F<< EFD><F5?LEF64. �D>4>?6<F5?L=>EFL 

64EFO 3 45 4=5=. 

&5?5E>>5D47=>EFL ?D<<5=5=<O 64EF>6>7> <5F>44 >D74=<74F<< EFD><F5?LEF64 

>?D545?5=4 E?54GNM<<< D4>F>D4<<:  

- 6OE>><5 F5<?O D45>F <, >4> E?54EF6<5, E>>D4M5=<5 ED>>>6 EFD><F5?LEF64.  

- =5>55E?5G5==>EFL FDG4>6O<< D5EGDE4<< 6 <5EF4E ?D><76>4EF64 D45>F; 

- D4EED54>F>G5==>EFL < ?D>FO65==>EFL ?<=5==OE >5N5>F>6 6 >4=>< F<FG?5 EFD>=><. 

�D74=<74F<O D45>F 64EF>6O< <5F>4>< 5G45F >55E?5G<64FL D<F<<G=>EFL, >><??5>E=>EFL 

6O?>?=5=<O D45>F =4 >5N5>F5. 
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4 �5D5G5=L <5D>?D<OF<= ?> ?D<6?5G5=<N 4?O >EGM5EF6?5=<O 
EFD><F5?LEF64, D5>>=EFDG>F<<, >4?<F4?L=>7> D5<>=F4 
>64?<D<F<D>64==OE E?5F<4?<EF>6, 4 F4>65 EFG45=G5E><E EFD><F5?L=OE 
>FDO4>6, 6 F>< G<E?5 4?O 6O?>?=5=<O D45>F 64EF>6O< <5F>4><,  - 4?O 
>5N5>F>6 >4?<F4?L=>7> EFD><F5?LEF64, D<=4=E<DG5<OE E ?D<6?5G5=<5< 
ED54EF6 E>>F65FEF6GNM<E 5N465F>6 5N465F=>= E<EF5<O $>EE<=E>>= 
$545D4F<<, ED54EF6 ND<4<G5E><E ?<F, G>474==OE 6 G4EF< 2 EF4FL< 8_3 
�D44>EFD><F5?L=>7> >>45>E4 $>EE<=E>>= $545D4F<<  

�D< >EGM5EF6?5=<< EFD><F5?LEF64 6>7<>6=> <E?>?L7>64FL D45>G<5 < <=65=5D=O5 

>44DO <7 ?D><OL?5==>-D476<FOE D57<>=>6. 

�D<6?5G5=<5 EFG45=G5E><E EFD><F5?L=OE >FDO4>6 =5 ??4=<DG5FEO, F.>. =4 44==>< 

>5N5>F5 FD55GNFEO >64?<D<F<D>64==O5 E?5F<4?<EFO 4?O D45>FO =4 64EF5. 
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5 %4D4>F5D<EF<>4 75<5?L=>7> GG4EF>4, ?D54=47=4G5==>7> 4?O 
EFD><F5?LEF64, D5>>=EFDG>F<< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64, 
>5>E=>64=<5 =5>5E>4<<>EF< <E?>?L7>64=<O 4?O EFD><F5?LEF64, 
D5>>=EFDG>F<< <=OE 75<5?L=OE GG4EF>>6 6=5 75<5?L=>7> GG4EF>4, 
?D54=47=4G5==>7> 4?O EFD><F5?LEF64, D5>>=EFDG>F<<  

$4EG5F D47<5D>6 75<5?L=OE GG4EF>>6 ?D<6545= 4?O ?><E>>6>->F5=>G=O= E>646<=O 

.%4-9$ 6 F45?<F5 5.1 . 

&45?<F4 5.1 3 �5<5?L=O5 GG4EF>< 4?O D47<5M5=<O ?D>5>F<DG5<OE >5N5>F>6 

�
4<

<
5=

>6
4=

<
5 

>5
N

5>
F4

 

&
D

55
G5

<
4O

 ?
?

>M
44

L 
4?

O 
D

47
<

5M
5=

<
O

 
?

D
>5

>
F<

D
G5

<
>7

> 
>5

N
5>

F4
  

(�
5M

4O
 <

E?
D

4L
<

6
45

<
4O

 ?
?

>M
44

L)
, 7

4 

�
?

>M
44

L 
75

<
5?

L=
>7

> 
GG

4E
F>

4,
 7

4 

�
44

4E
FD

>6
O

=
 =

><
5D

  
75

<
5?

L=
>7

> 
GG

4E
F>

4 

�
D

44
>E

FD
><

F5
?

L=
O

=
 ?

?
4=

  
75

<
5?

L=
>7

> 
GG

4E
F>

4 

�
>7

>6
>D

 4
D

5=
4O

 7
5<

5?
L=

>7
> 

GG
4E

F>
4 

�?>M44>4 

D47654>G=>= 

E>646<=O 

.%4-9$ 

6.8706 15.5631 14:16:050101:1359 

 ���' $$-14-4-00-

1-01-2024-0031-0  

>F 24.07.20247. 

�>7>6>D 4D5=4O 778 

>F 24.01.2024 7. 

0.1030 0.1595 14:16:050101:1363 

 ���' $$-14-4-00-

1-01-2024-0032-0  

>F 24.07.20247. 

0.1112 0.1581 14:16:050101:1364 

���' $$-14-4-00-

1-01-2024-0033-0  

>F 24.07.20247.  

0.0263 0.0392 14:16:050101:1357 

 ���' $$-14-4-00-

1-01-2024-0053-0  

>F 22.08.20247. 

0.0518 19.5128 14:16:000000:5547 

 ���' $$-14-4-00-

1-01-2024-0058-0  

>F 26.08.20247. 

�>7>6>D 4D5=4O 7373 

>F 21.03.2024 7. 

�&���: 7.1629 35.4327   
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6 �?<E4=<5 >E>55==>EF5= ?D>6545=<O D45>F 6 GE?>6<OE 45=EF6GNM57> 
?D54?D<OF<O, 6 <5EF4E D4E?>?>65=<O ?>475<=OE >><<G=<>4F<=, ?<=<= 
M?5>FD>?5D544G< < E6O7< - 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O 

� ?D>5>F=>= 4>>G<5=F4F<< EF5E=5==O5 GE?>6<O =5 6OO6?5=O, <5D>?D<OF<O ?> D45>F4< 6 

GE?>6<OE 45=EF6GNM57> ?D54?D<OF<O, 6 <5EF4E D4E?>?>65=<O ?>475<=OE >><<G=<>4F<=, 

?<=<= M?5>FD>?5D544G< < E6O7< =5 D47D454FO64NFEO. �D><76>4EF6> D45>F ?> EFD><F5?LEF6G 

>EGM5EF6?O5FEO =4 E6>5>4=>= F5DD<F>D<<, =4E>4OM<=EO 6 ?D545?4E EFD><F5?L=>= ??>M44><, 

F5DD<F>D<O >G<M5=4 >F EGM5EF6GNM<E E>>DG65=<=, 46<65=<5 EFD><F5?L=>= F5E=<>< 

>EGM5EF6?O5FEO ?> EGM5EF6GNM<< ?D>5744<. 

%FD><F5?L=>-<>=F46=O5 D45>FO =4 ??>M44>5 ??4=<DG5FEO 6O?>?=OFL 557 ?D5DO64=<O 

?D><76>4EF65==>7> ?D>F5EE4. 
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7 �5>E=>64=<5 ?D<=OF>= >D74=<74F<>==>-F5E=>?>7<G5E>>= EE5<O, 
>?D545?ONM5= ?>E?54>64F5?L=>EFL 6>76545=<O 744=<= < E>>DG65=<=, 
<=65=5D=OE < FD4=E?>DF=OE >><<G=<>4F<=, >55E?5G<64NM5= E>5?N45=<5 
GEF4=>6?5==OE 6 >4?5=44D=>< ??4=5 EFD><F5?LEF64, D5>>=EFDG>F<<, 
>4?<F4?L=>7> D5<>=F4 ED>>>6 7465DL5=<O EFD><F5?LEF64, D5>>=EFDG>F<< 
(<E MF4?>6), >4?<F4?L=>7> D5<>=F4  

$45>FO D475<FO >4?5=44D=O< ??4=>< =4 464 ?5D<>44: ?>47>F>6<F5?L=O= < >E=>6=>=. 

� ?>47>F>6<F5?L=O= ?5D<>4 6E>4OF: 

ý D47D45>F>4 ?>4DO4=>= >D74=<74F<5= ?D>5>F4 ?D><76>4EF64 D45>F (��$) < 

F5E=>?>7<G5E><E >4DF 6O?>?=5=<O >F45?L=OE 6<4>6 D45>F; 

ý E>7?4E>64=<5 ��$ E F5E=<G5E><<< E?G654<< �4>47G<>4; 

ý >D>D<?5=<5 6E5E 4>F>6 < D47D5L<F5?L=OE 4>>G<5=F>6 =4 ?D><76>4EF6> D45>F; 

ý <765M5=<5 E?G65O F5E=<G5E>>7> =447>D4 �4>47G<>4 > 7>F>6=>EF< ?>4DO4G<>4 > 

D54?<74F<< F5?5= ?D>5>F4; 

ý >D74=<74F<O ?>65DE=>EF=>7> EF>>4 6>4 (?D< =5>5E>4<<>EF<); 

ý EFD><F5?LEF6> 6D5<5==OE 744=<= < E>>DG65=<=; 

ý GEFD>=EF6> ?D<>5N5>F=OE ??>M44>> E>?44<D>64=<O; 

ý 746>7 EFD><F5?L=>= F5E=<><, EFD><F5?L=OE <4F5D<4?>6 < <745?<=; 

ý >E=4M5=<5 <4L<=4<<, >5>DG4>64=<5<, <=EFDG<5=F4<<, F4>5?46=O<< 

?D<E?>E>5?5=<O<< (6O5<D4NFEO =4 EF44<< ��$ ?> =>D<>>><??5>F4<); 

ý <=65=5D=>-75>457<G5E><5 D45>FO (6O=>E GG4EF>4 EFD><F5?LEF64 6 =4FGDG E 

6O?>?=5=<5< EFD><F5?L=>= >>>D4<=4F=>= E5F><); 

ý >5>7=4G5=<5 (>7D4645=<5) >?4E=>= 7>=O 4?O <E>?NG5=<O ?>?444=<O =4 ??>M44>< 

?>EF>D>==<E ?<F; 

ý >E65M5=<5 ??>M44>> E>7?4E=> =>D<4< (=5 <5=55 30?>); 

ý E>744=<5 E<EF5<O 4<E?5FG5DE>>= E6O7<. 

�><5=>?4FGD4 < >5N5<O ?>47>F>6<F5?L=OE D45>F GF>G=ONFEO 6 ��$. 

�F65FEF65==>EFL 74 E>5?N45=<5< <5D 557>?4E=>EF< < E>ED4==>EFL >5>DG4>64=<O =4 

F5DD<F>D<<, ?5D544==>= 4?O EFD><F5?L=>-<>=F46=OE D45>F, =5E5F DG>>6>4<F5?L ?>4DO4G<>4. 

�E5 D45>F=<>< ?>4DO4G<>4 (DG>>6>4<F5?<, E?5F<4?<EFO, D45>G<5), 4>?GE>45<O5 > 

D45>F4< =4 >5N5>F5, 4>?6=O ?D>=F< 66>4=O= <=EFDG>F46 ?> >ED4=5 FDG44, ?>64D=>= 

557>?4E=>EF< < ?5D6<G=O= <=EFDG>F46 ?> >55E?5G5=<N 557>?4E=>EF< ?D><76>4EF64 D45>F =4 

>5N5>F5. 
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�D< =4?<G<< ?5D5G<E?5==OE 6OL5 4>>G<5=F>6, 6O?>?=5=<< 6E5E 6OL5G>474==OE 

<5D>?D<OF<= < FD55>64=<= 6 ?D<EGFEF6<< ?D54EF46<F5?O M>E??G4F<DGNM5= >D74=<74F<< =4 

<5EF5 ?D><76>4EF64 D45>F ?>4DO4G<> <>65F ?D<EFG?<FL > D45>F4<. 

�D>5>F=>= 4>>G<5=F4F<5= «�5GEFD>=EF6> %N?L4N>4DE>>7> <5EF>D>645=<O. 

$47654>G=4O E>646<=4 .%4-9$. ,?4<>6O= 4<54D», L<DD 99-24, E>7?4E=> 7444=<O =4 

?D>5>F<D>64=<5 MF4?O EFD><F5?LEF64 =5 ?D54GE<4FD<64NFEO. 

&5E=>?>7<G5E>4O ?>E?54>64F5?L=>EFL D45>F EFD><F5?LEF64 >5N5>F4 >FD465=4 6 

?<=5==>< 7D4D<>5 EFD><F5?LEF64. 

�<=5==O= 7D4D<> EFD><F5?LEF64 (<5E.) 

2026 7>4 

1 >6. 2 >6. 

1 2 3 4 5 6 

                                                                                  $47654>G=4O E>646<=4 .%4-9$ 

                                                                                                    1,0 <5E.       

 

- ?5D<>4 ?D>6545=<O EFD><F5?L=>-<>=F46=OE D45>F; 

�5M4O D4EG5F=4O ?D>4>?6<F5?L=>EFL EFD><F5?LEF64 E>EF46?O5F 1,0 <5E., 6 F>< 

G<E?5 ?D>4>?6<F5?L=>EFL ?>47>F>6<F5?L=>7> ?5D<>44 3 0,2 <5E. 

%D>> =4G4?4 EFD><F5?LEF64 3  2 >6. 2026 7.  

�<4 EFD><F5?LEF64 3 =>6>5 

�>47>F>6<F5?L=O= ?5D<>4 >?D545?O5FEO 6 ?D545?4E 20 % >F >5M5= 

?D>4>?6<F5?L=>EF< EFD><F5?LEF64 (?.4 ?D<?>65=<5 73 %�<� 1.04.03-85*). 

%D>>< =4G4?4 < >>>=G4=<O D45>F <>7GF <7<5=OFLEO 6 ?D545?4E 4<D5>F<6=>7> ED>>4 < 

4>?6=O 5OFL GF>G=5=O �>4DO4G<>>< ?> EFD><F5?LEF6G ?D< D47D45>F>5 ��$ < E>7?4E>64=O E 

�4>47G<>><.  

'>474==4O ?D>4>?6<F5?L=>EFL EFD><F5?LEF64 <E?>?L7G5FEO �4>47G<>>< ?D< 74>?NG5=<< 

4>7>6>D4 EFD><F5?L=>7> ?>4DO44, 6 >>F>D>< �4>47G<> 6?D465 <7<5=<FL D5>><5=4>64==GN 

>D74=<74F<5= EFD><F5?LEF64 ?D>4>?6<F5?L=>EFL EFD><F5?LEF64 6 <5=LLGN EF>D>=G, F.>. 

>E=>64=<5< 4?O 6O?>?=5=<O EFD><F5?L=>-<>=F46=OE D45>F O6?O5FEO 4>7>6>D EFD><F5?L=>7> 

?>4DO44, 74>?NG5==O= <564G �4>47G<>>< < ?>4DO4G<>>< 6 E>>F65FEF6<< E �D4644=E><< 

>>45>E>< $$. 
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8 �5D5G5=L 6<4>6 EFD><F5?L=OE < <>=F46=OE D45>F, >F65FEF65==OE 
>>=EFDG>F<=, GG4EF>>6 E5F5= <=65=5D=>-F5E=<G5E>>7> >55E?5G5=<O, 
?>4?564M<E >E6<45F5?LEF6>64=<N E E>EF46?5=<5< E>>F65FEF6GNM<E 4>F>6 
?D<5<>< ?5D54 ?D><76>4EF6>< ?>E?54GNM<E D45>F < GEFD>=EF6>< 
?>E?54GNM<E >>=EFDG>F<= 

%>7?4E=> %� 48.13330.2019 6 ?D>F5EE5 EFD><F5?LEF64 4>?6=4 6O?>?=OFLEO >F5=>4 

6O?>?=5==OE D45>F, D57G?LF4FO >>F>DOE 6?<ONF =4 557>?4E=>EFL >5N5>F4, => 6 E>>F65FEF6<< 

E ?D<=OF>= F5E=>?>7<5= EF4=>6OFEO =54>EFG?=O<< 4?O >>=FD>?O ?>E?5 =4G4?4 6O?>?=5=<O 

?>E?54GNM<E D45>F < GEFD>=EF64 ?>E?54GNM<E >>=EFDG>F<=.  

�>EFD>5=<5 75>457<G5E>>= D475<6>G=>= >E=>6O E?54G5F ?D><76>4<FL E>7?4E=>  

%� 126.13330.2017. �>F ?D<5<>< 75>457<G5E>>= D475<6>G=>= >E=>6O >D>D<?O5FEO E>7?4E=> 

?D<?>65=<O � %� 126.13330.2017. � E>EF465 <E?>?=<F5?L=>= 4>>G<5=F4F<< E>EF46?O5FEO 4>F 

>E6<45F5?LEF6>64=<O 75>457<G5E>>= D475<6>G=>= >E=>6O ?> D>D<5, ?D<6545==>= 6 

?D<?>65=<< 1 $� 11-02-2006. 

�>FO D475<6>< >E5= >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 =4 <5EF=>EF< >D>D<?O5FEO 

?> D>D<5 ?D<?>65=<O 2 $� 11-02-2006. �D< ?5D544G5 >F45?L=OE G4EF5= 744=<O < E>>DG65=<= 

>F >4=>= EFD><F5?L=>-<>=F46=>= >D74=<74F<< 4DG7>= =5>5E>4<<O5 4?O 6O?>?=5=<O 

?>E?54GNM<E 75>457<G5E><E D45>F 7=4><, 74>D5??ONM<5 >E<, >F<5F><, >D<5=F<DO < 

<4F5D<4?O <E?>?=<F5?L=OE EN5<>> 4>?6=O 5OFL ?5D544=O ?> 4>FG E>7?4E=>  

%� 126.13330.2017. 

$57G?LF4FO ?D<5<>< D45>F, E>DO645<OE ?>E?54GNM<<< D45>F4<<, 4>?6=O 5OFL 

>D>D<?5=O 4>F4<< >E6<45F5?LEF6>64=<O E>DOFOE D45>F, GEF4=>6?5==>= D>D<O, 6 

E>>F65FEF6<< E FD55>64=<O<< ?D>5>F=>= < =>D<4F<6=>= 4>>G<5=F4F<<. 

�D< ?D>6545=<< EFD><F5?L=>-<>=F46=OE D45>F =5>5E>4<<> E>EF46<FL 4>FO 

>E6<45F5?LEF6>64=<O =4 E?54GNM<5 6<4O E>DOFOE D45>F: 

- ?>EFD>5=<5 75>457<G5E>>= D475<6>G=>= >E=>6O; 

- 75<?O=O5 D45>FO. 

�5D5G=< >5O74F5?L=OE 4>F>6 >E6<45F5?LEF6>64=<O E>DOFOE D45>F G>474=O 6 

E>>F65FEF6GNM<E D45>G<E G5DF564E. 

�E6<45F5?LEF6>64=<5 D45>F, >>F>DO5 >>47O64NF 6?<O=<5 =4 557>?4E=>EFL >5N5>F4 

>4?<F4?L=>7> EFD><F5?LEF64 < 6 E>>F65FEF6<< E F5E=>?>7<5= EFD><F5?LEF64 >>=FD>?L 74 

6O?>?=5=<5< >>F>DOE =5 <>65F 5OFL ?D>6545= ?>E?5 6O?>?=5=<O 4DG7<E D45>F, >D>D<?O5FEO 
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4>F4<< >E6<45F5?LEF6>64=<O E>DOFOE D45>F ?> >5D47FG, ?D<6545==><G 6 ?D<?>65=<< 7 3  

$� 11-02-2006. 
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9 &5E=>?>7<G5E>4O ?>E?54>64F5?L=>EFL D45>F ?D< 6>76545=<< 
>5N5>F>6 >4?<F4?L=>7> EFD><F5?LEF64 <?< <E >F45?L=OE M?5<5=F>6 

9.1 �D74=<74F<>==>-F5E=<G5E>4O ?>47>F>6>4 > EFD><F5?LEF6G  

�D74=<74F<>==>-F5E=<G5E>4O ?>47>F>6>4 > EFD><F5?LEF6G 4>?6=4 6>?NG4FL: 

3 E> EF>D>=O �4>47G<>4: 

4) >55E?5G5=<5 EFD>=>< ?D>5>F=>-E<5F=>= 4>>G<5=F4F<5=; 

5) 74>?NG5=<5 4>7>6>D4 ?>4DO44 =4 EFD><F5?LEF6>; 

6) >D>D<?5=<5 D47D5L5=<O =4 EFD><F5?LEF6>; 

7) >D>D<?5=<5 D<=4=E<D>64=<O EFD><F5?LEF64; 

4) >?D545?5=<5 ?>EF46M<>>6 < ED>>< ?>EF46>< >5>DG4>64=<O < 6E5= =><5=>?4FGDO 

?>EF46>< �4>47G<>4. 

3 E> EF>D>=O �5=?>4DO4G<>4: 

4) 74>?NG5=<5 4>7>6>D>6 ?>4DO44 < EG5?>4DO44; 

5) >D>D<?5=<5 4>>G<5=F>6 4?O ?>?GG5=<O D47D5L5=<= < 4>?GE>>6 =4 ?D><76>4EF6> 

D45>F; 

6) <7GG5=<5 �&$ ?D>5>F=>-E<5F=>= 4>>G<5=F4F<<; 

7) D47D45>F>4 ��$ =4 EFD><F5?LEF6>; 

4) G>><??5>F>64=<5 EFD>=??>M44>< <4F5D<4?L=>-F5E=<G5E><<< D5EGDE4<<; �&$ < 

D45>G<<< 6 E>>F65FEF6<< E ��% < ��$. 

9.2 �>47>F>6<F5?L=O5 D45>FO 

�5EL >><??5>E EFD><F5?L=OE D45>F D5>><5=4G5FEO D4745?<FL =4 464 ?5D<>44: 

3 ?>47>F>6<F5?L=O=; 

3 >E=>6=>=. 

�> =4G4?4 >E=>6=OE D45>F 4>?6=O 5OFL 74>>=G5=O 6E5 ?>47>F>6<F5?L=O5: 

3 E>744=<5 75>457<G5E>>= D475<6>G=>= >E=>6O; 

3 GEF4=>6>4 6D5<5==OE E4=<F4D=>-5OF>6OE < 44<<=<EFD4F<6=OE 744=<= 4?O =G64 

EFD><F5?5=; 

3 GEFD>=EF6> E>?44>6 4?O ?D<>5N5>F=>7> ED4=5=<O <4F5D<4?>6 < >>=EFDG>F<=; 

3 746>7 EFD><F5?L=>= F5E=<>< < EFD><F5?L=OE <4F5D<4?>6; 

3 D4EG<EF>4 ?>?>EO >F ?5E4; 

3 <>=F46/45<>=F46 >7D4645=<O EFD><F5?L=>= ??>M44><; 

3 <>=F46/45<>=F46 >E65M5=<O EFD><F5?L=>= ??>M44><; 
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3 >D74=<74F<O E6O7< 4?O >?5D4F<6=>-4<E?5FG5DE>>7> G?D46?5=<O EFD><F5?LEF6><. 

 �>E?5 >>>=G4=<O EFD><F5?L=> 3 <>=F46=OE D45>F >EGM5EF6<FL 45<>=F46 6D5<5==OE 

744=<= < E>>DG65=<=.  

�>47>F>6<F5?L=O= ?5D<>4, ?D>4>?6<F5?L=>EFL <>=F464 < ?GE>>=4?44>G=OE D45>F 

G6O74=O E =4G4?>< D45>F ?> ??>M44>5 < 66>4>< >5N5>F4 6 M>E??G4F4F<N. �<4O D45>F 

6O?>?=ONFEO 6 F5E=>?>7<G5E>>= ?>E?54>64F5?L=>EF< 6545=<O EFD><F5?L=>-<>=F46=OE D45>F. 

�O5>D <5F>4>6 ?D><76>4EF64 ?>47>F>6<F5?L=OE D45>F >5GE?>6?5= GE?>6<O<< 

EFD><F5?LEF64 < ?D<=OFO<< 6 44==>< D45>G5< ?D>5>F5 D5L5=<O<<.  

9.2.1  $4EG<EF>4 >F E=574 

%=57 E7D554NF 5G?L4>75D>< <?< 7D5=45D><. �?O ?D54>F6D4M5=<O ?>6D5645=<O 

<>E>D4EF<F5?L=>7> E?>O > =<6=5= >D><>5 >F64?4 5G?L4>75D4 <?< 7D5=45D4 >D5?<FEO ?O64.  

745  F=0,0565 74 3 ??>M44L 6 ?5D<>4 EFD><F5?LEF64 ??>M44>< 4?O D47<5M5=<O 

E?5FF5E=<>< < 647>=-7>D>4>4; �=77 <<- 6OE>F4 E=56=>7> ?>>D>64 

�4>E<<4?L=>5 >>?<G5EF6> E=574: V= Fx�=565 E 0,125=70,625 <3. 

� 7<<=<= ?5D<>4 6D5<5=<, ?D< =4?<G<< E=56=>7> ?>>D>64, �>4DO4=4O >D74=<74F<O 

>D74=<7G5F 57> E5>D E F5DD<F>D<< ??>M44>< ��<% < EF>O=>< F5E=<><, 4?O ?>E?54GNM57> 

6O6>74 ��� «%N4L4N>4D�5DF5�47» 6 L?4<>6O= 4<54D =4 >GEF>6GN ??>M44>G 71 .6=>-

%N?L4N>4DE>>7> ?<F5=7<>==>7> GG4EF>4, 6 �$�$� 714-00792-�-00029-240123. �5N5< 

L?4<>6>7> 4<54D4 13078 <3. $4>F<G5E>>5 74?>?=5=<5 - 4057 <3. 

% =4EFG??5=<5< F5??>7> >4?5=44D=>7> ?5D<>44, ?>E?5 F4O=<O E=56=OE <4EE, 5G45F 

?D><76545=4 >F>4G>4 6<4>>= D47O <7 G>474==>7> L?4<>6>7> 4<54D4 E ?>E?54GNM<< 6O6>7>< 

?5D546<6=O<< F<EF5D=4<< =4 «�G=>F ?>47>F>6>< < E5>D4 =5DF<» �>EF>G=OE 5?>>>6 

%D54=55>FG>5<=E>>7> ���� �� «$��» 4?O 44?L=5=L5= >G<EF>< < 74>4G>< 6 E<EF5<G 

?>445D64=<O ??4EF>6>7> 446?5=<O. 

�>=F5=FD4F<< 747DO7=5=<= E=56=OE <4EE, ?D<=OFO 6 E>>F65FEF6<< E F45?<F5= 15  

%� 32.13330.2018 (F5DD<F>D<<, ?D<?574NM<5 > ?D><OL?5==O< 7>=4<) < ?D54EF46?5=O 6 

F45?<F5 9.1.  

&45?<F4 9.1 3 �>=F5=FD4F<< 747DO7=5=<= E=56=OE <4EE 

�>>474F5?L 
�=4G5=<5 ?>>474F5?5= 747DO7=5=<=, 

<7/4<3 

�765L5==O5 65M5EF64 3000 

���5 120 

�5DF5?D>4G>FO 20 

%��  1000 
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9.2.2 �5>457<G5E><5 D45>FO 

�5>457<G5E><5 D45>FO ?D< EFD><F5?LEF65 4>?6=O 6O?>?=OFLEO �>4DO4G<>>< 6 >5N5<5 < 

E F>G=>EFLN, >55E?5G<64NM5= E>>F65FEF6<5 75><5FD<G5E><E ?4D4<5FD>6 < D47<5M5=<5 

>5N5>F>6 EFD><F5?LEF64 ?> ?D>5>FG < FD55>64=<O< EFD><F5?L=OE =>D< < ?D46<?. 

�?O GE>>D5=<O D475<6>G=OE D45>F, ?>6OL5=<O <E ?>F>G=>EF< =4 <5EF=>EF< E>744NF 

75>457<G5E>GN D475<6>G=GN >E=>6G 6 6<45 D476<F>= E5F< 74>D5??5==OE 7=4>4<< ?G=>F>6, 

>?D545?ONM<E ?>?>65=<5 >5N5>F4 EFD><F5?LEF64. 

�4>47G<> =5 <5=55 G5< 74 10 4=5= 4> =4G4?4 EFD><F5?L=>-<>=F46=OE D45>F >5O74= 

?5D544FL �>4DO4G<>G F5E=<G5E>GN 4>>G<5=F4F<N < 74>D5??5==O5 =4 ??>M44>4E EFD><F5?LEF64 

< FD4EE4E ?<=5==OE >5N5>F>6 ?G=>FO < 7=4>< 75>457<G5E>>= D475<6>G=>= >E=>6O. 

�5>457<G5E><5 D475<6>G=O5 D45>FO 6O?>?=ONFEO 6 ?D>F5EE5 EFD><F5?LEF64 

75>457<G5E><<< E?G654<< �>4DO4G<>4. �=< 4>?6=O >55E?5G<64FL 6O=>E 6 =4FGDG >F ?G=>F>6 

75>457<G5E>>= D475<6>G=>= >E=>6O >E5= < >F<5F>>, >?D545?ONM<E 6 E>>F65FEF6<< E ?D>5>F>< 

?>?>65=<5 6 ??4=5 < ?> 6OE>F5 6E5E >>=EFDG>F<=, G4EF5= < M?5<5=F>6 744=<= < E>>DG65=<=. 

�?O E>EF46?5=<O D475<6>G=OE G5DF565= < 6O?>?=5=<O D475<6>G=OE D45>F <E?>?L7GNFEO 

E?54GNM<5 ?D>5>F=O5 <4F5D<4?O: 75=5D4?L=O= ??4=, EFD>=75=??4= ??>M44>< EFD><F5?LEF64, 

D45>G<5 G5DF56< >F45?L=OE >5N5>F>6 < E>>DG65=<=, ?D>5>F 65DF<>4?L=>= ??4=<D>6>< 

EFD><F5?L=>= ??>M44><, ??4=O < ?D>D<?< ?>475<=OE >><<G=<>4F<= < ?<=5==OE E>>DG65=<=, 

??4= 75>457<G5E>>= D475<6>G=>= >E=>6O. 

$45>FO ?> ?>EFD>5=<N 75>457<G5E>>= D475<6>G=>= >E=>6O 6O?>?=ONFEO 6 E>>F65FEF6<< 

E %� 126.13330.2017. 

�5>457<G5E>4O D475<6>G=4O >E=>64 >F45?L=OE ??>M44>> EFD><F5?LEF64 >?<D45FEO =4 

?D>?>65==O5 ?D< <7OE>4=<OE <47<EFD4?L=O5 F5>4>?<F=O5 E>4O, 74>D5??5==O5 6 =4FGD5. 

$475<6>4 75>457<G5E>>= >E=>6O ??>M44>< EFD><F5?LEF64 6O?>?=O5FEO 6 GE?>6=>= 

E<EF5<5 >>>D4<=4F. �?O D475<6>G=OE D45>F =4 ?5D<>4 EFD><F5?LEF64 E>7445FEO E5FL >644D4F>6. 

&>G>< >?>D=>= E5F< 74>D5??ONFEO 7=4>4<<, >>F>DO5 O6?ONFEO EF>D=O<< ?D< D475<6>5 

>E5= >F45?L=OE 744=<= < E>>DG65=<=. �O=>E 6 =4FGDG F>G5> >?>D=>= E5F< >EGM5EF6?O5FEO E 

?G=>F>6 75>457<G5E>>7> >5>E=>64=<O EN5<>< ??>M44><. 

&>G=>EFL ?>EFD>5=<O 75>457<G5E>>= D475<6>G=>= >E=>6O E?54G5F ?D<=<<4FL, 

DG>>6>4EF6GOEL 65?<G<=4<< 4>?GE>>6 ED54=<E >644D4F<G=OE ?>7D5L=>EF5= G7?>6OE ?<=5==OE 

< 6OE>F=OE <7<5D5=<= ?> %� 126.13330.2017. 
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�5>457<G5E>4O D475<6>G=4O >E=>64 4?O >?D545?5=<O ?>?>65=<O FD4EEO ?<=5==OE 

E>>DG65=<= 6 ??4=5 E>7445FEO 6 6<45 F5>4>?<F=OE E>4>6 ?> >E< FDG5>?D>6>44 < >F5<645FEO 6 

=4FGD5. 

�4>D5??5=<5 FD4EEO 6 ??4=5 ?D><76>4<FEO 6O=>E>4<<, GEF4=46?<645<O<< 6=5 7>=O 

?D><76>4EF64 >E=>6=OE EFD><F5?L=>-<>=F46=OE D45>F. �4>D5??ONFEO 65DL<=O G7?>6 ?>6>D>F4 

=4G4?4 >D<6OE, 4 F4>65 EF6>D=O5 F>G>< =4 ?DO<OE GG4EF>4E FD4EEO. 

�5>457<G5E>4O D475<6>G=4O >E=>64 4?O >?D545?5=<O ?>?>65=<O FD4EEO ?> 6OE>F5 

E>7445FEO 6 6<45 74<>=GFOE <?< >F45?L=OE =<65?<D=OE E>4>6 F4>, GF>5O >F<5F>< 5O?< 

?>?GG5=O =5 <5=55 G5< >F 46GE D5?5D>6 7>EG44DEF65==>= 75>457<G5E>>= E5F><. 

$475<6>G=O5 D45>FO 6O?>?=ONFEO 6 E?54GNM5< ?>DO4>5: 

- >FOE><64NFEO < >?>7=4NFEO EF6>D=O5 < 74>D5?<F5?L=O5 7=4><; 

- G >464>7> 74>D5?<F5?L=>7> 7=4>4 GEF4=46?<64NFEO 65E< 6OE>F>= 2,0-2,5 <; 

- D475<645FEO ?<>5F46 < 7>D<7>=F4?L=O5 >D<6O5 5EF5EF65==>7> <77<54 G5D57 10 <, 

<E>GEEF65==>7> 7=GFLO G5D57 2 <; 

- >F<5G4NFEO 7D4=<FO EFD><F5?L=>= ?>?>EO; 

- 74 7D4=<FG EFD><F5?L=>= ?>?>EO 6O=>E<FEO ?<>5F46. 

9.2.3 'EFD>=EF6> 6D5<5==>7> >7D4645=<O 

�7D4645=<O 4>?6=O E>>F65FEF6>64FL FD55>64=<O< ��%& 58967-2020. � >7D4645=<OE 

4>?6=O ?D54GE<4FD<64FLEO 6O?>?=O5<O5 ?> F<?>6O< ?D>5>F4< 6>D>F4 4?O ?D>5744 

EFD><F5?L=OE < 4DG7<E <4L<= < >4?<F>< 4?O ?D>E>44 ?N45=. 

�7D4645=<O 4>?6=O 5OFL E5>D=>-D475>D=O<< E G=<D<F<D>64==O<< M?5<5=F4<<, 

E>54<=5=<O<< < 45F4?O<< >D5??5=<O. 

�4M<F=>->ED4==>5 >7D4645=<5 6O?>?=O5FEO 6OE>F>= 2,0 <. �OE>F4 74M<F=>7> 

>7D4645=<O GG4EF>>6 ?D><76>4EF64 D45>F E>EF46?O5F 1,2 <. %<7=4?L=O5 >7D4645=<O 

6O?>?=ONFEO =4 EF>=>4E 6OE>F>= 0,8 < E L47>< =5 5>?55 6 <. 

9.2.4 'EFD>=EF6> >E65M5=<O EFD><F5?L=>= ??>M44>< 

�E>GEEF65==>5 >E65M5=<5 EFD><F5?L=OE ??>M44>> < <5EF ?D><76>4EF64 %�$ 6=GFD< 

744=<= 4>?6=> >F65G4FL FD55>64=<O< ��%& 12.1.046-2014. 

�?O M?5>FD<G5E>>7> >E65M5=<O EFD><F5?L=OE ??>M44>> < GG4EF>>6 E?54G5F ?D<<5=OFL 

F<?>6O5 EF4F<>=4D=O5 < ?5D546<6=O5 <=65=F4D=O5 >E65F<F5?L=O5 GEF4=>6><. 

�5D546<6=O5 <=65=F4D=O5 >E65F<F5?L=O5 GEF4=>6>< =5>5E>4<<> D47<5M4FL =4 

EFD><F5?L=>= ??>M44>5 6 <5EF4E ?D><76>4EF64 D45>F < 6 7>=5 FD4=E?>DF=OE ?GF5=. 
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%FD><F5?L=O5 <4L<=O 4>?6=O 5OFL >5>DG4>64=O >E65F<F5?L=O<< GEF4=>6>4<< 

=4DG6=>7> >E65M5=<O. 

$45>G55 >E65M5=<5 4>?6=> 5OFL ?D54GE<>FD5=> 4?O 6E5E EFD><F5?L=OE ??>M44>> < 

GG4EF>>6. 

�5M55 D46=><5D=>5 >E65M5=<5 E?54G5F ?D<<5=OFL, 5E?< =>D<<DG5<>5 7=4G5=<5 

>E65M5==>EF< =5 ?D56OL45F 10 ?>. � >EF4?L=OE E?GG4OE < 6 4>?>?=5=<< > >5M5<G 

D46=><5D=><G 4>?6=> ?D54GE<4FD<64FLEO >5M55 ?>>4?<7>64==>5 >E65M5=<5 <?< <5EF=>5 

>E65M5=<5. 

�?O >5M57> D46=><5D=>7> >E65M5=<O EFD><F5?L=OE ??>M44>> E?54G5F ?D<<5=OFL 

?D>65>F>DO, E65F<?L=<><  ?> ��%&  34819-2021. 

�E65M5=<5 ?GF5= M64>G4F<< <7 <5EF ?D><76>4EF64 EFD><F5?L=OE < <>=F46=OE D45>F 

6=GFD< 744=<= E?54G5F ?D54GE<4FD<64FL ?> <4DLDGF4< M64>G4F<<. 

�?O >EGM5EF6?5=<O >ED4==>7> >E65M5=<O E?54G5F 6O45?OFL G4EFL E65F<?L=<>>6 

D45>G57> >E65M5=<O. �ED4==>5 >E65M5=<5 4>?6=> >55E?5G<64FL =4 7D4=<F4E EFD><F5?L=OE 

??>M44>> <?< GG4EF>>6 ?D><76>4EF64 D45>F 7>D<7>=F4?L=GN >E65M5==>EFL 0,5 ?> =4 GD>6=5 

75<?< <?< =4 GD>6=5 0,5 < >F 75<?< =4 >4=>= EF>D>=5 65DF<>4?L=>= ??>E>>EF<, 

?5D?5=4<>G?OD=>= > ?<=<< 7D4=<FO. 

�?O >E65M5=<O EFD><F5?L=OE ??>M44>> < GG4EF>>6 =5 4>?GE>45FEO ?D<<5=5=<5 

>F>DOFOE <EF>G=<>>6 E65F4 557 E65F<?L=<>>6. 

�4 EFD><F5?L=OE ??>M44>4E < <5EF4E ?D><76>4EF64 EFD><F5?L=OE < <>=F46=OE D45>F 

6=GFD< 744=<= 4>?65= 5OFL >55E?5G5= >>=FD>?L >E65M5==>EF<. 

�7<5D5=<O >E65M5==>EF< ?D>6>4OF ?5D54 =4G4?>< D45>F =4 44==>< GG4EF>5 < 6 

44?L=5=L5< ?D< <7<5=5=<< GE?>6<= 6O?>?=5=<O D45>F. 

$45>FO, E6O74==O5 E ?5D5<5M5=<5< =5 GF<?<7<DG5<>7>  ?D>6>44, 6O?>?=ONFEO ?D< 

F5<?5D4FGD5 =5 =<65 -5 °%. %>7?4E=>  ?. 9  ?<=5==>7> 7D4D<>4 EFD><F5?LEF64 D45>FO  ?> 

45<>=F46G 6D5<5==OE E5F5= 6O?>?=ONF 6 <45, ED54=OO <5EOG=4O  F5<?5D4FGD4 6>74GE4 

E>EF46?O5F 4,6 °%. �D5<5==4O E<EF5<4 M?5>FD>E=4565=<O  <E?>?L7G5FEO ?>6F>D=>. �455?< 6 

746<E<<>EF< >F 4?<=O < E5G5=<O E6>D4G<64NFEO 6 5GEFO <?< =4 54D454=O. 

9.2.5 �D74=<74F<O 4<E?5FG5DE>>= E6O7< 

�?O >55E?5G5=<O >?5D4F<6=>7> G?D46?5=<O EFD><F5?LEF6><, >EGM5EF6?5=<O 

565EGF>G=>7> >>=FD>?O 74 E>4>< D45>FO, >>>D4<=4F<< 674<<>45=EF6<O <564G GG4EF=<>4<< 

EFD><F5?LEF64, E>7445FEO 4<E?5FG5DE>4O E?G654. 
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%6O7L E 4<E?5FG5D4<< 75=?>4DO4=OE < EG5?>4DO4=OE >D74=<74F<= >EGM5EF6?O5FEO G5D57 

?5D546<6=GN D44<>EF4=F<N < E ?><>MLN D44<>F5?5D>=>6. 

9.3 �E=>6=O5 EFD><F5?L=>-<>=F46=O5 D45>FO 

�E=>6=O5 D45>FO =4G<=4NF ?>E?5 ?D>6545=<O >><??5>E4 ?>47>F>6<F5?L=OE D45>F. �4 

6E5 6<4O >E=>6=OE D45>F, <7?>65==OE 6 ��%, E>EF46?ONFEO F5E=>?>7<G5E><5 >4DFO 6 ��$. 

�E=>6=>= ?5D<>4 EFD><F5?LEF64: 

- <=65=5D=4O ?>47>F>6>4 E>646<=O; 

9.3.1 �=65=5D=4O ?>47>F>6>4 ??>M44>< 

� E>>F65FEF6<< E 7444=<5< =4 ?D>5>F<D>64=<5 D47D45>F4=4 <=65=5D=4O ?>47>F>6>4 

F5DD<F>D<<. �FEO?>4 ?D><76>4<FEO ?D<6>7=O< =5?GG<=<EFO< 7DG=F>< E ?>E?54GNM<< 

G??>F=5=<5< >4F>4<< =4 ?=56<>E>4G 65E>< 25 F. %O?GG<5 7DG7O ?5D56>7OFEO 46F>E4<>E64?4<< 

7DG7>?>4N5<=>EFLN 16 F. �> ?5D<<5FDG ??>M44>4 >7D46445FEO 75<?O=O< 64?><, 6OE>F>= 1,0 <. 

�4? ?D54GE<4FD<645FEO <7 ?D<6>7=>7> 7DG=F4, E L<D<=>= ?> 65DEG 0,5 < < 74?>65=<5< >F>>E>6 

1:1,5. '>D5??5=<5 >F>>E>6 =4EO?< ?>E56>< FD46 45<GF4F<>==O< E?>E>5><. 

� >><??5>E D45>F ?> GEFD>=EF6G =4EO?< 6E>4OF E?54GNM<5 F5E=>?>7<G5E><5 >?5D4F<<: 

- >FEO?>4 7DG=F4 6 =4EO?L 46F><>5<?O<<-E4<>E64?4<<; 

- D47D46=<64=<5 7DG=F4 5G?L4>75D4<<; 

- G6?46=5=<5 7DG=F4 (6 E?GG45 =5>5E>4<<>EF<); 

- ??4=<D>6>4 ?>65DE=>EF< E?>O =4EO?<; 

- G??>F=5=<5 E?>O =4EO?<. 

�D><76>4EF6> D45>F ?> GEFD>=EF6G =4EO?< 654GF ?>E?>==>. �DG=F 46F>E4<>E64?4<< 

6OEO?45FEO =4 F65D4>5 >E=>64=<5 < D47D46=<645FEO 5G?L4>75D4<<. &>?M<=4 D47D46=<645<OE 

E?>56 4>?6=4 >55E?5G<FL 4>EF4F>G=GN EF5?5=L ?>E?54GNM57> G??>F=5=<O < 5OFL >4<=4>>6>=, 

GF> 74D4=F<DG5F D46=><5D=>5 G??>F=5=<5 6E5= =4EO?<. &>?M<=4 G??>F=O5<>7> E?>O 7DG=F4 

?D<=OF4 0,30 <. &D55G5<O= =4<<5=LL<= >>MDD<F<5=F G??>F=5=<O D45>G57> E?>O, =4 >E=>64=<< 

>>F>D>7> D4EEG<FO645FEO >>MDD<F<5=F >F=>E<F5?L=>7> G??>F=5=<O, ?D<=OF 0,95. �?O 

G??>F=5=<O 7DG=F4 =4EO?< =4 ??>M44>5 ?D<<5=ONFEO >4F>< 65E>< 25 F>== (F>?M<=4 

G??>F=O5<>7> E?>O 30 E<, G<E?> ?D>E>4>6 3 7). 

&>?M<=G G??>F=O5<OE E?>56 GF>G=<FL ?> D57G?LF4F4< >?OF=>7> G??>F=5=<O 7DG=F4 6 

E>>F65FEF6<< E �D<?>65=<5< � %� 45.13330.2017. 

�?4=<D>6>G 65DE4 =4EO?< 6O?>?=ONF 46F>7D5=45D><. �?4=<D>6>4 >F>>E>6 =4EO?< 

6O?>?=O5FEO M>E>464F>D><-??4=<D>6M<>><. 
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�DG=FO, ?>EFG?4NM<5 =4 >5N5>F, 4>?6=O >F65G4FL FD55>64=<O< E>>F65FEF6GNM<E 

EF4=44DF>6 < D45>G<E G5DF565=. �> =4G4?4 ?D>6545=<O D45>F ?> 6>76545=<N =4EO?< 

?>EFG?<6L<5 =4 >5N5>F 7DG=FO 4>?6=O 5OFL ?>465D7=GFO 6E>4=><G >>=FD>?N. �>EFG?<6L<5 

=4 >5N5>F <=5DF=O5 <4F5D<4?O 4>?6=O <<5FL E>?D>6>4<F5?L=O= 4>>G<5=F (?4E?>DF), 6 

>>F>D>< G>47O64NFEO =4<<5=>64=<5 <4F5D<4?4, =><5D ?4DF<< < >>?<G5EF6> <4F5D<4?4, 

E>45D64=<5 6D54=OE >><?>=5=F>6 < ?D<<5E5=, 44F4 <77>F>6?5=<O. �D< 6E>4=>< >>=FD>?5 

F4>65 6O?>?=ONF ?D>5=>5 G??>F=5=<5 7DG=F4 6 =4EO?< ?D< D4>F<G5E>>= 6?46=>EF< < 

<<5NM<EEO >4F>>6 E GF>G=5=<5< F>?M<=O G>?44O645<>7> E?>O, G<E?4 ?D>E>4>6 < 

?D>E>4<<>EF< >4F>4. 

� ?D>F5EE5 6>76545=<O =4EO?< =5>5E>4<<> ?D>6>4<FL >?5D4F<>==O= >>=FD>?L >4G5EF64 

D45>F. �D< MF>< 4>?6=O ?D>65DOFLEO: 

- ?D46<?L=>EFL >E56OE ?<=<= ?>65DE=>EF< ??>M44>< 6 ??4=5 < ?D>D<?5; 

- >4=>D>4=>EFL 7DG=F4 6 E?>OE =4EO?<; 

- EF5?5=L G6?46=5=<O 7DG=F4 ?5D54 57> G??>F=5=<5<; 

- >>MDD<F<5=F G??>F=5=<O >464>7> E?>O =4EO?<; 

- 6OE>F=O5 >F<5F>< ?> >E< ??>M44><; 

- D>6=>EFL ?>65DE=>EF< ??>M44><; 

- ?D>4>?L=O= < ?>?5D5G=O= G>?>=O ??>M44><. 

�F65FEF65==>EFL 74 6O?>?=5=<5 <5D>?D<OF<= ?> >ED4=5 FDG44, 6>7?4745FEO =4 

DG>>6>4<F5?5= D45>F, =47=4G5==OE ?D<>47><. �F65FEF65==>5 ?<F> >EGM5EF6?O5F 

>D74=<74F<>==>5 DG>>6>4EF6> EFD><F5?L=O<< D45>F4<< =5?>ED54EF65==> <?< G5D57 5D<744<D4. 

$4E?>DO65=<O < G>474=<O >F65FEF65==>7> ?<F4 O6?ONFEO >5O74F5?L=O<< 4?O 6E5E D45>F4NM<E 

=4 >5N5>F5. 

$47<5M5=<5 EFD><F5?L=OE <4L<= =4 ??>M44>5 4>?6=> 5OFL >?D545?5=> F4><< >5D47><, 

GF>5O >55E?5G<64?>EL ?D>EFD4=EF6>, 4>EF4F>G=>5 4?O >57>D4 D45>G5= 7>=O < <4=56D<D>64=<O 

?D< GE?>6<< E>5?N45=<O D4EEF>O=<O 557>?4E=>EF<. 

�4 GG4EF>5, 745 654GFEO EFD><F5?L=O5 D45>FO, =5 4>?GE>45FEO 6O?>?=5=<5 4DG7<E D45>F 

< =4E>645=<5 ?>EF>D>==<E ?<F. 

� 6O?>?=5=<N D45>F 4>?GE>4NFEO ?<F4: 

- 4>EF<7L<5 18 ?5F, >5GG5==O5 557>?4E=O< <5F>44< < ?D<5<4< ?D><76>4EF64 D45>F, 

E446L<5 M>74<5=O >64?<D<>4F<>==>= >><<EE<< < ?>?GG<6L<5 4>>G<5=FO 

(G4>EF>65D5=<O) =4 ?D46> ?D><76>4EF64 D45>F; 

- ?D>E?GL46L<5 66>4=O= <=EFDG>F46 ?> >ED4=5 FDG44 < ?D>L54L<5 <=EFDG>F46 ?> 

F5E=<>5 557>?4E=>EF< =4 D45>G5< <5EF5 E>7?4E=> ��%& 12.0.004-2015; 
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- ?D>L54L<5 <54<F<=E><= >E<>FD 6 E>>F65FEF6<< E ?>DO4>><, GEF4=>6?5==O< 

�<=74D46>< $>EE<<. 

�>6F>D=O= <=EFDG>F46 ?> F5E=<>5 557>?4E=>EF< ?D>6>4<FL 4?O D45>G<E 6E5E 

>64?<D<>4F<= < E?5F<4?L=>EF5= =5 D565 >4=>7> D474 6 FD< <5EOF4 <?< =5<54?5==> ?D< 

<7<5=5=<< F5E=>?>7<<, GE?>6<= <?< E4D4>F5D4 D45>F. �D>6545=<5 <=EFDG>F464 D57<EFD<DG5FEO 

6 E?5F<4?L=>< 6GD=4?5 < =4DO45-4>?GE>5. 

�<F>, >F65FEF65==>5 74 557>?4E=>5 ?D><76>4EF6> D45>F, >5O74=>: 

- >7=4>><<FL D45>G<E E &5E=>?>7<G5E>>= >4DF>= ?>4 D>E?<EL; 

- E?54<FL 74 <E?D46=O< E>EF>O=<5< <4L<= < <5E4=<7<>6; 

- D47NOE=<FL D45>F=<>4< <E >5O74==>EF< < ?>E?54>64F5?L=>EFL 6O?>?=5=<O >?5D4F<=; 

- 4>?GE>4FL > ?D><76>4EF6G D45>F D45>G<E 6 E>>F65FEF6GNM5= E?5F>45645, E?5F>5G6< 

< <<5NM<5 <=4<6<4G4?L=O5 ED54EF64 74M<FO (>G><, DG>46<FO < 4D.); 

- ?D5>D4M4FL D45>FO ?D< E<?5 65FD4 5>?55 11,0 </E, 6> 6D5<O E<?L=>7> E=57>?444, 

?<6=56>7> 4>64O, FG<4=4 <?< 7D>7O ?D< 6<4<<>EF< <5=55 50 <. 

�4 <4L<=4E =5 4>?6=> 5OFL ?>EF>D>==<E ?D54<5F>6, 4 6 7>=5 D45>FO <4L<= - 

?>EF>D>==<E ?<F. � >45<=4E <4L<= 74?D5M45FEO ED4=<FL F>??<6> < 4DG7<5 

?57>>6>E??4<5=ONM<5EO 6<4>>EF<, ?D><4E?5==O= >5F<D>G=O= <4F5D<4?. �45<=O 4>?6=O 

5OFL E=4565=O <E?D46=O<< DGG=O<< ?5==O<< >7=5FGL<F5?O<< F<?4 ��-1, ��-3 <?< ��-5; > 

=<< >55E?5G<645FEO E6>5>4=O= 4>EFG?. 

�4L<=<EF4< EFD><F5?L=OE <4L<= 74?D5M45FEO: 

- >GD<FL 6> 6D5<O 74?D46>< < >>=FD>?L=>< >E<>FD5 74?D46>G=OE 5<>>EF5=; 

- ?>4E>4<FL 5?<7>> > >F>DOF><G >7=N 6 >45645, ?D>?<F4==>= <4E?>< < 7>DNG<<; 

- D45>F4FL =4 <4L<=4E < <5E4=<7<4E E =5<E?D46=O<< <?< E=OFO<< >7D4645=<O<< 

46<6GM<EEO G4EF5= 74?D5M45FEO; 

- >EF46?OFL 4>D>6=GN <4L<=G 557 ?D<E<>FD4 E D45>F4NM<< 46<74F5?5<; 

- D45>F4FL =4 =5<E?D46=OE <5E4=<7<4E; 

- =4 E>4G, 6> 6D5<O D45>FO E<47O64FL <4L<=G, GEFD4=OFL =5<E?D46=>EF< D57G?<D>64FL 

<4L<=G, 6E>4<FL 6 <4L<=G < 6OE>4<FL <7 =55; 

- 4>?GE>4FL ?>EF>D>==<E ?<F 6 >45<=G <5E4=<7<4; 

- EF>OFL ?5D54 4<E>>< E 74?>D=O< >>?LF>< ?D< =4>4G<64=<< L<=; 

- ?D><76>4<FL D45>FO 6 7>=5 45=EF6<O >D4=>6 < �-� ?N5>7> =4?DO65=<O; 

- =4E>4<FLEO =4 <4L<=4E <?< 6 =5?>ED54EF65==>= 5?<7>EF< > =<< ?>EF>D>==<< ?<F4<. 

�4L<=<EF EFD><F5?L=>= <4L<=O 4>?65= G<5FL >>474FL ?5D6GN <54<F<=E>GN ?><>ML, 

7=4FL =47=4G5=<5 < 4>7<D>6>G >464>7> <54<>4<5=F4, <<5NM57>EO 6 4?F5G>5. � E?GG45 
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6>E??4<5=5=<O F>??<64 ??4<O FGL<FL ?5E>><, 75<?5= <?< ?D<<5=OFL E?5F<4?L=O= 

>7=5FGL<F5?L. 

�D< D45>F5 5G?L4>75D4 =5>5E>4<<> E>5?N44FL E?54GNM<5 ?D46<?4: 

- ?D< ?5D5<5M5=<< 7DG=F4 5G?L4>75D>< =4 ?>4N5<5 =5>5E>4<<> E?54<FL 74 F5<, GF>5O 

>F64? =5 6D574?EO 6 7DG=F; 

- 6 =>G=>5 6D5<O <4L<=4 4>?6=4 <<5FL 7454D<F=O5 E65F>6O5 E<7=4?O < D4DO 4?O 

>E65M5=<O ?GF< 46<65=<O; 

- ?D< >4=>6D5<5==>= D45>F5 46GE 5G?L4>75D>6 4DG7 74 4DG7>< D4EEF>O=<5 <564G =<<< 

4>?6=> E>EF46?OFL =5 <5=55 10 <; 

- ?D< >EF4=>6>5 5G?L4>75D4 =4 4?<F5?L=O= ?5D<>4 =5>5E>4<<> 747?GL<FL 46<74F5?L, 

>?GEF<FL >F64? =4 75<?N < 74F>D<>7<FL 5G?L4>75D; 

- 6> 6D5<O E?GG4==OE >EF4=>6>> 5G?L4>75D4 >F64? 4>?65= 5OFL >?GM5= =4 75<?N; 

- ?D< >EF4=>6>5 5G?L4>75D4 =4 4?<F5?L=O= ?5D<>4 =5>5E>4<<> 747?GL<FL 46<74F5?L, 

>?GEF<FL >F64? =4 75<?N < 74F>D<>7<FL 5G?L4>75D; 

- 74?D5M45FEO D47D454FO64FL 7DG=F < ?5D5<5M4FL 57> ?D< 46<65=<< =4 ?>4NU< <?< ?>4 

G>?>= E G7?>< =4>?>=4 5>?55 G>474==>7> 6 ?4E?>DF5 ?D<<5=O5<>= <4L<=O (=5 5>?55 30°); 

- =5?L7O ?>6>D4G<64FL 5G?L4>75D E 747DG65==O< <?< 747?G5?5==O< >F64?><; 

- 74?D5M45FEO D45>F4FL E 7?<=<EFO<< 7DG=F4<< 6 4>64?<6GN ?>7>4G ?D< G>?>=4E, =5 

>55E?5G<64NM<E GEF>=G<6>5 46<65=<5 <4L<=; 

- E>>D>EFL 46<65=<O 5G?L4>75D4 =4 ?5D5E5G5==>= <5EF=>EF< <?< ?> ??>E>= 4>D>75 

4>?6=4 5OFL =5 6OL5 6F>D>= ?5D544G<; 

- ?5D5574 5G?L4>75D4 E6><< E>4>< =4 4DG7>5 <5EF> D45>FO E?54G5F ?D><76>4<FL E 

?>4=OFO< 6 FD4=E?>DF=>5 ?>?>65=<5 >F64?><; 

- <>=F46 =465E=>7> >5>DG4>64=<O 5G?L4>75D4 =4 FD4>F>D < 45<>=F46 57> D47D5L4NFEO 

F>?L>> ?>4 DG>>6>4EF6>< <5E4=<>4 <?< <4EF5D4, >F65FEF65==>7> 74 ?D><76>4EF6> MF<E D45>F; 

- 74?D5M45FEO =4E>4<FLEO <564G FD4>F>D>< < >F64?><, <564G FD4>F>D>< < D4<>= 

5G?L4>75D4 <?< ?>4 FD4>F>D>< ?D< D45>F4NM5< 46<74F5?5; 

- 74?D5M45FEO 6> 6D5<O D45>FO 5G?L4>75D4 =4E>645=<5 ?N45= 6 D44<GE5 10 < >F 

D45>F4NM57> 5G?L4>75D4. 

�D< D45>F5 =4 >4F>5 =5>5E>4<<> E>5?N44FL E?54GNM<5 FD55>64=<O: 

- >4F>> 4>?65= 5OFL >5>DG4>64= 76G>>6O<< < E<7=4?L=O<< ?D<5>D4<<, 74 

<E?D46=>EFLN >>F>DOE 4>?65= E?54<FL <4L<=<EF; 

- =4 E6565>FEO?4==>= =4EO?< >>?5E4 >4F>4 4>?6=O 5OFL =5 5?<65 0,5 < >F 5D>6>< 

>F>>E4; 
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- <4L<=<EF >4F>4 4>?65= =>E<FL E?5F>4564G, 4?O ?D54>ED4=5=<O 7?47 >F ?O?< E?54G5F 

=44564FL 74M<F=O5 >G><. 

�D< D45>F5 46F>7D5=45D4 =5>5E>4<<> E>5?N44FL E?54GNM<5 FD55>64=<O: 

- ?D< D476>D>F5 46F>7D5=45D4 6 >>=F5 ?D>D<?<DG5<>7> GG4EF>4, 4 F4>65 =4 >DGFOE 

?>6>D>F4E, 46<65=<5 4>?6=> >EGM5EF6?OFLEO =4 <<=<<4?L=>= E>>D>EF<; 

- D4EEF>O=<5 <564G 5D>6>>= 75<?O=>7> ?>?>F=4 < 6=5L=<<< (?> E>4G) >>?5E4<< 

46F>7D5=45D4 4>?6=> 5OFL =5 <5=55 1,0 <; 

- GEF4=>6>4 >F>>E=<>4 < G4?<=<F5?O, 6O=>E =>64 6 EF>D>=G 4?O ED57>< >F>>E>6, 4 F4>65 

?5D5EF4=>6>4 =>64 4>?6=O ?D><76>4<FLEO E>7?4E=> <=EFDG>F<< ?> M>E??G4F4F<< <4L<=O 

46G<O D45>G<<< 6 5D575=F>6OE DG>46<F4E. 

�>44G4 46F><>5<?O-E4<>E64?4 744=<< E>4>< > <5EFG 6O7DG7>< 7DG=F4, 4>?6=4 

?D><76>4<FLEO 6>4<F5?5< F>?L>> ?> >><4=45 4>D>6=>7> D45>G57>, >EGM5EF6?ONM57> ?D<5<>G 

7DG=F4. �6<65=<5 46F><>5<?5=-E4<>E64?>6 744=<< E>4>< > <5EFG ?>7DG7>< < 6O7DG7>< 7DG=F4 

D47D5L45FEO =4 D4EEF>O=<5 =5 5>?55 50 < < 4>?6=> E>?D>6>644FLEO 76G>>6O< E<7=4?><. 

�G<M4FL ?>4=OFO5 >G7>64 46F><>5<?5=-E4<>E64?>6 E?54G5F E>D55>4<< <?< ?>?4F>= E 

G4?<=5==>= DG>>OF>>=, >55E?5G<64NM5= =4E>645=<5 D45>G57> 6 557>?4E=>= 7>=5. �D< 

D477DG7>5 7DG=F4 D45>G<5 4>?6=O =4E>4<FLEO E> EF>D>=O 6>4<F5?O <4L<=O 6 57> 7>=5 

6<4<<>EF<, => =5 5?<65 5 < > 7>=5 >FEO?>< 7DG=F4. 

�4 M>E>464F>D5 ?D< D47D45>F>5 7DG=F>6 D47D5L45FEO =4E>4<FLEO F>?L>> <4L<=<EFG < 

F5< G?5=4< 5D<744O, 557 >>F>DOE =56>7<>6=> >5E?G6<64=<5 <4L<=O. �D<EGFEF6<5 

?>EF>D>==<E ?<F 74?D5M45FEO. �G<M4FL >>6L D47D5L45FEO F>?L>> 6 >?GM5==>< ?>?>65=<<. 

�D< D45>F5 M>E>464F>D4 =5>5E>4<<> E>5?N44FL E?54GNM<5 ?D46<?4: 

- ??>M44>4, =4 >>F>D>= D45>F45F M>E>464F>D, 4>?6=4 5OFL E??4=<D>64=4 < <<5FL G>?>= 

=5 5>?55 5°; 

- ?D< 5>?LL<E G>?>=4E 6> <75564=<5 E4<>?D><76>?L=>7> ?5D5<5M5=<O >= 74>D5??O5FEO 

E?5F<4?L=O<< <=65=F4D=O<< G?>D4<<; 

- 6OD46=<64=<5 ??>M44>< 4?O EF>O=>< M>E>464F>D4 D47D5L45FEO ?D><76>4<FL F>?L>> 6> 

6D5<O 57> >EF4=>6><; 

- ?D< 46<65=<< M>E>464F>D4 E?54G5F EFD5?G GEF4=46?<64FL EFD>7> ?> >E< 46<65=<O, 4 

>>6L ?D<?>4=<<4FL =44 75<?5= =4 0,5-0,7 < < ?>4FO=GFL > EFD5?5; 

- 6> 6D5<O ?5D5DO6>6 6 D45>F5 (=5746<E<<> >F ?D>4>?6<F5?L=>EF<), 4 F4>65 ?D< >G<EF>5 

>>6L4 EFD5?G M>E>464F>D4 E?54G5F >F65EF< 6 EF>D>=G >F 745>O, 4 >>6L >?GEF<FL =4 7DG=F; 

- ?GFL, ?> >>F>D><G ?D>46<745FEO M>E>464F>D 6 ?D545?4E >5N5>F4 ?D><76>4EF64 D45>F, 

4>?65= 5OFL 74D4=55 6OD>6=5= < E??4=<D>64=, 4 =4 E?45OE 7DG=F4E GE<?5= M<F4<< < =4EF<?><; 
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- D4EEF>O=<5 <564G 745>5< < M>E>464F>D>< (74 <E>?NG5=<5< D45>G57> >D74=4 6 ?N5>< 

57> ?>?>65=<<) 4>?6=> E>EF46?OFL =5 <5=55 1,0 <; 

- 6 =5D45>G55 6D5<O M>E>464F>D 4>?65= 5OFL ?>EF46?5= 6 557>?4E=>5 <5EF>, >45<=4 

74>DOF4, 46<74F5?L 6O>?NG5=, E>4>64O < ?>6>D>F=O5 G4EF< 74F>D<>65=O. 

�> 6D5<O D45>FO M>E>464F>D4 74?D5M45FEO 

- <5=OFL 6O?5F EFD5?O ?D< 74?>?=5==>< >>6L5; 

- ?>4FO7<64FL 7DG7 E ?><>MLN EFD5?O < D57G?<D>64FL F>D<>74 ?D< ?>4=OF>< >>6L5; 

- ?D><76>4<FL D5<>=F=O5 D45>FO < D57G?<D>6>G G7?>6; 

- =4E>4<FLEO ?>4 >>6L>< <?< EFD5?>=; 

- D45>F4FL E> EF>D>=O 745>O; 

- ?5D5<5M4FL >>6L =44 >45<=>= 46F><>5<?O; 

- =4E>4<FLEO ?N4O< 6 D44<GE5 45=EF6<O M>E>464F>D4 ??NE 5,0 <; 

- ?5D546<65=<5 M>E>464F>D4 E =47DG65==O< >>6L><; 

- 74?D5M45FEO 45D64FL (>EF46?OFL) >>6L =4 65EG. 

�D< ?>7DG7>5 7DG=F4 M>E>464F>D>< =5>5E>4<<>: 

- >6<44NM<5 ?>7DG7>< FD4=E?>DF=O5 ED54EF64 D47<5M4FL 74 ?D545?4<< D44<GE4 EFD5?O 

M>E>464F>D4 ??NE 5 <; 

- ?>4N574 46F>FD4=E?>DF4 ?>4 ?>7DG7>G >EGM5EF6?OFL F>?L>> ?>E?5 E<7=4?4 <4L<=<EF4 

M>E>464F>D4; 

- 747DG64FL FD4=E?>DF=O5 ED54EF64 F>?L>> E> EF>D>=O <E 744=57> <?< 5>>>6>7> 5>DF4; 

- 7DG65=O= FD4=E?>DF >F6>4<FL F>?L>> ?>E?5 E<7=4?4 <4L<=<EF4 M>E>464F>D4; 

- >45<=4 E4<>E64?4 4>?6=4 <<5FL 74M<F=O= «>>7OD5>». �D< 57> >FEGFEF6<< 6>4<F5?L 

46F><>5<?O-E4<>E64?4 6> 6D5<O ?>7DG7>< 7DG=F4 >5O74= ?>><=GFL >45<=G; 

- >4=>EF>D>==OO 747DG7>4, 4 F4>65 747DG7>4 >5N5<4 7DG=F4, ?D56OL4NM57> 

GEF4=>6?5==GN 7DG7>?>4N5<=>EFL 46F><>5<?O-E4<>E64?4, 74?D5M45FEO. 

�>44G4 46F><>5<?O-E4<>E64?4 744=<< E>4>< > <5EFG ?>7DG7>< 7DG=F4 4>?6=4 

?D><76>4<FLEO 6>4<F5?5< F>?L>> ?> >><4=45 <4L<=<EF4 M>E>464F>D4 >EGM5EF6?ONM57> 

?>7DG7>G 7DG=F4. �6<65=<5 46F><>5<?5=-E4<>E64?>6 744=<< E>4>< > <5EFG ?>7DG7>< 7DG=F4 

D47D5L45FEO =4 D4EEF>O=<5 =5 5>?55 50 < < 4>?6=> E>?D>6>644FLEO =5?D5DO6=O< 76G>>6O< 

E<7=4?><. 

�>E?5 >>>=G4=<O D45>FO <4L<=<EF 4>?65= ?>EF46<FL <4L<=G =4 <5EF>, >F6545==>5 4?O 

55 EF>O=><, 6O>?NG<FL 46<74F5?L < <GDFG EF5??5=<O, ?5D5>DOFL ?>44GG F>??<64, 6 7<<=55 

6D5<O E?<FL 6>4G <7 E<EF5<O >E?4645=<O 6> <75564=<5 55 74<5D74=<O, >?GEF<FL 55 D45>G<5 

>D74=O =4 75<?N, >G<EF<FL <4L<=G >F 7DO7< < <4E?4, ?>4FO=GFL 5>?F>6O5 E>54<=5=<O, E<474FL 
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FDGM<5EO G4EF<. �D><5 F>7>, <4L<=<EF 4>?65= G5D4FL ?GE>>6O5 ?D<E?>E>5?5=<O, F5< E4<O<, 

<E>?NG<6 6EO>GN 6>7<>6=>EFL 74?GE>4 <4L<=O ?>EF>D>==<<< ?<F4<<. �4 6D5<O EF>O=>< 

<4L<=4 4>?6=4 5OFL 74F>D<>65=4, 4 DOG47< G?D46?5=<O ?>EF46?5=O 6 =5=FD4?L=>5 ?>?>65=<5. 

�D< ?5D544G5 E<5=O =5>5E>4<<> E>>5M<FL E<5=M<>G > E>EF>O=<< <4L<=O < 6E5E 

>5=4DG65==OE =5<E?D46=>EFOE. 
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10  �5>E=>64=<5 ?>FD55=>EF< EFD><F5?LEF64, D5>>=EFDG>F<<, >4?<F4?L=>7> 
D5<>=F4 6 >44D4E, >E=>6=OE EFD><F5?L=OE <4L<=4E, <5E4=<7<4E, 
FD4=E?>DF=OE ED54EF64E, 6 F>??<65 < 7>DNG5-E<47>G=OE <4F5D<4?4E, 4 
F4>65 6 M?5>FD<G5E>>= M=5D7<<, ?4D5, 6>45, 6D5<5==OE 744=<OE < 
E>>DG65=<OE  

10.1 �5>E=>64=<5 ?>FD55=>EF< 6 EFD><F5?L=OE >44D4E 

�>FD55=>EFL EFD><F5?LEF64 6 D45>G<E >44D4E < >5M55 >>?<G5EF6> D45>F4NM<E =4 

EFD><F5?LEF65 >?D545?5=O =4 >E=>64=<< FDG4>5<>>EF< < ?D>4>?6<F5?L=>EF< EFD><F5?LEF64 < 

?D<6545=O 6 F45?<F5 10.1. 

�>FD55=>EFL >5N5>F>6 6 EFD><F5?L=OE >44D4E ?>>DO645FEO 74 EG5F G<E?5==>EF< 

?>4DO4=OE EFD><F5?L=OE >D74=<74F<=. 

%FD><F5?LEF6> >5N5>F4 >EGM5EF6?O5FEO 64EF>6O< <5F>4><. 

?D>4>?6<F5?L=>EFL 64EFO - 45 4=5=;  

?D>4>?6<F5?L=>EFL D45>G5= E<5=O  =4 64EF5 -11 G.  

%?<E>G=4O G<E?5==>EFL >E=>6=OE D45>G<E, =4E>4OM<EEO =4 >5N5>F5 (64EF5) '6D, 

>?D545?O5FEO E GG5F>< E6545=<= �D<>474 7318/?D ?> E?54GNM5= D>D<G?5 

                  '6D=N / (1987*&E6< * (�?5D E (1 3 �E?))),                   (10.1) 

745  '6D 3 G<E?5==>EFL 64EF>6OE D45>G<E, G5?.; 

N 3E<5F=O5 FDG4>74FD4FO ?> >5N5>FG EFD><F5?LEF64, G5?.-G4E; 

19873 7>4>6>= D>=4 D45>G57> 6D5<5=< ?D< 40 G4E>6>= D45>G5= =545?5 6 2026 7>4G, G4E. 

(GF>G=O5FEO 6 746<E<<>EF< >F 7>44); 

&E6< 3 ?D>4>?6<F5?L=>EFL EFD><F5?LEF64 64EF>6O< <5F>4><, ?5F; 

�?5D = 1,65 3 >>MDD<F<5=F ?5D5D45>F>< D45>G57> 6D5<5=< 6 746<E<<>EF< >F 

?D>4>?6<F5?L=>EF< D45>G5= E<5=O, >?D545?O5<O= <EE>4O <7 E>>F=>L5=<O GEF4=>6?5==>= < 

=>D<4?L=>= ?D>4>?6<F5?L=>EF< D45>G57> 6D5<5=< 6 =545?N, ?D<=<<45<O= 6 E>>F65FEF6<< E 

�D<?>65=<5< 7 2 > �5F>4<>5 7 318/?D; 

�E? = 0,07 3 >>MDD<F<5=F E=<65=<O ?D><76>4<F5?L=>EF< FDG44 64EF>6OE D45>F=<>>6 6 

746<E<<>EF< >F ?D>4>?6<F5?L=>EF< D45>G5= E<5=O, >?D545?O5<O= 6 746<E<<>EF< >F 

?D>4>?6<F5?L=>EF< D45>G5= E<5=O, ?D<=<<45<O= 6 E>>F65FEF6<< E �D<?>65=<5< 7 3 > 

�5F>4<>5 7 318/?D. 

�5M4O G<E?5==>EFL D45>F4NM<E, G<E?5==>EFL �&$, E?G64M<E, ��� 6 =4<5>?55 

=4?DO65==O= ?5D<>4 EFD><F5?LEF64 >?D545?5=4 6 E>>F65FEF6<< E ?D>F5=F=O< >F=>L5=<5< 

D45>G<E < >5M57> >>?<G5EF64 D45>F4NM<E.  
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�D>F5=F=>5 >F=>L5=<5 G<E?5==>EF< D45>G<E > >5M5<G >>?<G5EF6G D45>F4NM<E 

?D<=OF> E>7?4E=> ?. 4.14.1 ��% 12-46.2008 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O: 

D45>G<E 3 83,9 %, 

�&$ 3 11 %, 

'<E?5==>EFL D45>F4NM<E 6 ?D>G<E E>7O=EF64E E>EF46?O5F 25 % >F >5M5= G<E?5==>EF< 

D45>F4NM<E =4 %�$ < 6E?><>74F5?L=OE ?D><76>4EF64E. 

&45?<F4 10.1 3 $4EG5F D45>F4NM<E ?> >4F57>D<O< 

�4<<5=>64=<5  

>5N5>F4 

�5M4O 

FDG4>5<>>

EFL, 

G5?.G4E 

�D>4>?

6<F5?L=

>EFL 

EFD><F5

?LEF64, 

<5E. 

'<E?5==>EFL D45>F4NM<E =4 

%�$ < 6E?><>74F5?L=OE 

D45>F4E, G5?. 

'<E?5==>EFL 

D45>F4NM<E 6 

<4>E<<4?L=GN 

E<5=G ?D<=OF4  

(70% D45>G<E ., 

80% �&$, 

E?G64M<E, ��� < 

>ED4=O ). 

>5M4

O 

6 F>< G<E?5 

>5M4

O 

6 F>< 

G<E?5 

83,9% 

D45>G<E 

11% 

�&$ 

5,1% 

��� 

70% 

D45>

G<E 

80% 

�&$

, 

E?G

64M

<E, 

��

� < 

>ED4

=O 

�?>M44>4 

D47654>G=>= 

E>646<=O   

.%4-9$ 

6663,6 0,125 33 27 4 2 24 19 5 

  

$45>F4NM<5 6 ?D>G<E E>7O=EF64E 3 MF> ?N4<, >>F>DO5, >4> ?D46<?>, =4=<<4NFEO <7 

<5EF=>7> =4E5?5=<O 4?O 6O?>?=5=<O FD4=E?>DF=OE D45>F, E4=<F4D=>-5OF>6>7> >5E?G6<64=<O 

EFD><F5?LEF64 < 4DG7<E D45>F, =5 FD55GNM<E 6OE>>>= >64?<D<>4F<<. 

�5M4O G<E?5==>EFL D45>F4NM<E, G<E?5==>EFL �&$, E?G64M<E, ��� 6 =4<5>?55 

=4?DO65==O= ?5D<>4 EFD><F5?LEF64 >?D545?5=4 6 E>>F65FEF6<< E ?D>F5=F=O< >F=>L5=<5< 

D45>G<E < >5M57> >>?<G5EF64 D45>F4NM<E. �D>F5=F=>5 >F=>L5=<5 G<E?5==>EF< D45>G<E > 

>5M5<G >>?<G5EF6G D45>F4NM<E ?D<=OF> E>7?4E=> ��% 12-46.2008. 

�>FD55=>EFL >5N5>F>6 6 EFD><F5?L=OE >44D4E ?>>DO645FEO 74 EG5F G<E?5==>EF< 

?>4DO4=OE EFD><F5?L=OE >D74=<74F<=. 



 

 

      

/%�/&��/99-24/��%.&' 

�<EF 

      36 
�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4 

 

�
74

<
. 

<
=

6
. 

7
 

 

�
>

4
?

<
EL

 <
 4

4F
4 

 

�
=

6
. 
7

  
?

>
4

?
. 

 

�4 ??>M44>5 EFD><F5?LEF64 <<5NFEO 5OF>6O5 ?><5M5=<O, >5>DG4>64==O5 ?><5M5=<5< 

4?O ?D>EGL>< >4564O, ?<FL56>= 6>4>= < 4?F5G>4<< 4?O >>474=<O ?5D6>= ?><>M<. 

�>?>?=<F5?L=OE E>>DG65=<= 6<?>7> < E>F<4?L=>-5OF>6>7> =47=4G5=<O =5 FD55G5FEO. 

10.1 �>FD55=>EFL 6 >E=>6=OE EFD><F5?L=OE <4L<=4E, <5E4=<7<4E < 
FD4=E?>DF=OE ED54EF64E  

�>FD55=>EFL 6 >E=>6=OE EFD><F5?L=OE <4L<=4E, <5E4=<7<4E < 46F>FD4=E?>DF5 

>?D545?5=4 =4 65EL ?5D<>4 EFD><F5?LEF64 =4 >E=>64=<< >5N5<>6 >E=>6=OE EFD><F5?L=>-

<>=F46=OE D45>F, ?D<=OFOE <5F>4>6 ?D><76>4EF64 D45>F, ?D><76>4<F5?L=>EF< <4L<= < 

?D54EF46?5=4 6 F45?<F5 10.2. 

&45?<F4 10.2 3 �54><>EFL ?>FD55=>EF< 6 >E=>6=OE EFD><F5?L=OE <4L<=4E, <5E4=<7<4E < 

FD4=E?>DF=OE ED54EF64E 

�4<<5=>64=<5 &5E=<G5E>4O E4D4>F5D<EF<>4 �>?<G5EF6> 

->E>464F>D >4=>>>6L>6O= (6 >4DL5D5) 

VOLVO EC300 DL 6223E650  

�<>>EFL >>6L4 1,8 <3 1 

->E>464F>D >4=>>>6L>6O= KOMATSU 

$%300-8 (-�-4227)  5842=F77 

�<>>EFL >>6L4 1,4 <3 1 

�6F>E4<>E64? �&�-57.6 =4 L4EE< MAN 

TGS 40.400 6x6 BB-WW 

�DG7>?>4N5<=>EFL 27 F, >5N5< 

?5D56>7<<>7> 7DG=F4 18 <3 

3 

�G?L4>75D KOMATSU D65�%-16 �>M=>EFL 155 >�F 2 

�6F>7D5=45D ��-98�.00100-110 �>M=>EFL 173 >�F 1 

->E>464F>D-??4=<D>6M<> '$�� 4320-

6951-74 NEXT 

�<>>EFL >>6L4 0,63 <3 1 

�4F>> 4>D>6=O= HAMM GRW 15 ->E??G4F4F<>==4O <4EE4 24 F 2 

�4F>> 4>D>6=O= HAMM HD 75 ->E??G4F4F<>==4O <4EE4 8 F 1 

�6F>F<EF5D=4 '%& 54539G (�&�&-10 

?<FL564O 6>44) 

�<>>EFL F<EF5D=O 10  <3 1 

�6F>F<EF5D=4 661878 ( E/5 EF>><) �<>>EFL F<EF5D=O 10  <3 1 

�6F>F>??<6>74?D46M<> '%& 54537Z  

( �&�-11) 

�<>>EFL F<EF5D=O 11 <3 1 

�<75?L=4O M?5>FD>EF4=F<O DC60-T400-1PK �>M=>EFL 60 >�F, 6OE>F4 FDG5O-5 < 1 

�4EF>6O= 46F>5GE ���-3307 (�75DL) 

3034W3 

�>?<G5EF6> ?>E44>G=OE <5EF - 28 2 

�6F>F<EF5D=4 661878 (F5E.6>44 �&-12) �<>>EFL F<EF5D=O 12 <3 1 

�6F>F<EF5D=4 - ?>64D=4O 58813� (�&�-

8/6-40) 

�<>>EFL F<EF5D=O 8 <3 1 
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'>474==O5 F<?O < <>M=>EFL EFD><F5?L=OE <4L<=, FD4=E?>DF=OE ED54EF6 < ?>7DG7>-

D477DG7>G=OE <4L<=, <>7GF 5OFL 74<5=5=O 6 ?D>F5EE5 EFD><F5?LEF64 =4 <<5NM<5EO 6 =4?<G<< 

G EFD><F5?L=>-<>=F46=OE >D74=<74F<=, GG4EF6GNM<E 6 EFD><F5?LEF65, E 4=4?>7<G=O<< 

E4D4>F5D<EF<>4<<. 

10.2 �>FD55=>EFL EFD><F5?LEF64 6 F>??<65 < 7>DNG5-E<47>G=OE <4F5D<4?4E 

�>FD55=>EFL EFD><F5?LEF64 6 F>??<65 < 7>DNG5-E<47>G=OE <4F5D<4?4E D4EEG<F4=4, 

<EE>4O <7 >5M57> G<E?4, ED>>4 D45>FO >E=>6=OE ?>FD55<F5?5= < G45?L=OE D4EE>4>6 F>??<64 

=4 >464O= 6<4 ?>FD55<F5?O 6 E>>F65FEF6<< E ��% 12-38.2007 «�>D<<D>64=<5 D4EE>44 

F>??<64 4?O EFD><F5?L=OE <4L<=». 

$4EE>4 <4E5? < E<47>G=OE <4F5D<4?>6 4?O EFD><F5?L=OE <4L<= ?D<=OF ?> 

<5F>4<G5E><< D5>><5=44F<O< «�>D<O D4EE>44 F>??<64 < E<47>G=OE <4F5D<4?>6 =4 

46F><>5<?L=>< FD4=E?>DF5» (?D<?>65=<5 > D4E?>DO65=<N >F 14 <4DF4 2008 7. 7 ��-23-D). 

$4EE>4 <4E5? < E<47>G=OE <4F5D<4?>6 4?O 46F>FD4=E?>DF4 ?D<=OF <7 D4EG5F4 =4 100 ? >5M57> 

D4EE>44 F>??<64. 

�>FD55=>EFL EFD><F5?LEF64 6 F>??<65 < 7>DNG5-E<47>G=OE <4F5D<4?4E ?D<6545=4 6 

F45?<F5 10.3. 

&45?<F4 10.3 - �>FD55=>EFL 6 F>??<65 < 7>DNG5-E<47>G=OE <4F5D<4?4E =4 ?5D<>4 

EFD><F5?LEF64 

�4<<5=>64=<5 �4. <7<. 
�>FD55=>EFL =4 ?5D<>4 

EFD><F5?LEF64 

�<75?L=>5 F>??<6> F 45,41 

�<75?L=>5 F>??<6> �-% F 4,165 

%<47>G=O5 <4F5D<4?O F  3,0 

�>FD55=>EFL 6 E<47>G=OE <4F5D<4?4E >?D545?O5FEO 6 D47<5D5 6 % >F >5M5= ?>FD55=>EF< 

F>??<64. 

�4?D46>4 46F><>5<?5= ?D><76>4<FEO =4 EGM5EF6GNM<E 5?<64=L<E ��%, 74?D46>4 

EFD><F5?L=>= F5E=<>< ?D><76>4<FEO =4 ??>M44>5 4?O 74?D46>< F5E=<>< 46F>74?D46M<>><, =4 

L4EE< 46F><>5<?O (�&�) ?> 4>7>6>D4< ?>4DO4=>= >D74=<74F<<. 

� ?5D<>4 EFD><F5?LEF64 74?D46>4 EFD><F5?L=>= F5E=<>< ?D54GE<>FD5=4 

F>??<6>74?D46M<>>< �&�-11, E >5N5<>< F<EF5D=O 11 <3, EF5?5=L 74?>?=5=<O 95% ?.4.4.  

��%& 33666-2015.  

�?>M44>4 4?O 74?D46>< F5E=<>< E F65D4O< ?>>DOF<5< <7 ??<F ��� (6E1,5E0,14), 

��%& 21924.2-84.  �?<=4 ??>M44>< 3 12,0 <, L<D<=4 3 12,0 <, ?>?57=4O ??>M44L, >7D4=<G5==4O 

5>DF>6O< >4<=5< < ?4=4GE4<<, ??>M44>< F>??<6>74?D46M<>4 E>EF46?O5F 160,3 <2. � >4G5EF65 
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>F5>DF>6>< ?D<=OFL 5>DF>6>= >4<5=L �$100.300.18. �OE>FG 5>DF>6>7> >4<=O ?D<=OFL ?> 

?5D<<5FDG ??>M44>< F>??<6>74?D46M<>4 ?D<=OFL =5 <5=55 -0,15 <.    

10.3 �>FD55=>EFL EFD><F5?LEF64 6 M?5>FD>M=5D7<<, ?4D5, 6>45, 4F5F<?5=5, 
E64F>< 6>74GE5 

�>FD55=>EFL 6 M=5D75F<G5E><E D5EGDE4E >?D545?O5FEO E>7?4E=> ��% 12-46.2008 

«�5F>4<G5E><5 D5>><5=44F<< ?> D47D45>F>5 < >D>D<?5=<N ��%, ?D>5>F4 >D74=<74F<< D45>F 

?> E=>EG (45<>=F46G) < ��$». 

�>FD55=>EFL 6 M?5>FD>M=5D7<<, >�*�, >?D545?O5FEO =4 ?5D<>4 6O?>?=5=<O 

<4>E<<4?L=>7> >5N5<4 EFD><F5?L=>-<>=F46=OE D45>F ?> D>D<G?5: 

                       
÷÷
ø

ö
÷÷
ø

ö
ûûûýò CBHOBO

M
X PKPKPK

E

PK
L 5.4.3

1

1

cos
                       (10.2) 

Lx =1,05 3 >>MDD<F<5=F ?>F5D< <>M=>EF< 6 E5F<; 

PM 3 EG<<4 =><<=4?L=OE <>M=>EF5= D45>F4NM<E M?5>FD><>F>D>6 (55F>=>?><O, 

FD4<5>6><, 6<5D4F>DO < F.4.); 

PO.B 3 EG<<4D=4O <>M=>EFL 6=GFD5==<E >E65F<F5?L=OE ?D<5>D>6, GEFD>=EF6 4?O 

M?5>FD<G5E>>7> >5>7D564 (?><5M5=<O 4?O D45>G<E, 744=<O E>?44E>>7> =47=4G5=<O); 

PO.� 3 F> 65, 4?O =4DG6=>7> >E65M5=<O >5N5>F>6 < F5DD<F>D<<; 

P%� 3 F> 65, 4?O E64D>G=OE FD4=ED>D<4F>D>6; 

cos E1=0,7 3 >>MDD<F<5=F ?>F5D< <>M=>EF< 4?O E<?>6OE ?>FD55<F5?5= M?5>FD><>F>D>6; 

�1=0,5 - >>MDD<F<5=F >4=>6D5<5==>EF< D45>FO M?5>FD><>F>D>6; 

�3=0,8 3 F> 65, 4?O 6=GFD5==57> >E65M5=<O; 

�4=0,9 - F> 65, 4?O =4DG6=>7> >E65M5=<O; 

�5=0,6 - F> 65, 4?O E64D>G=OE FD4=ED>D<4F>D>6. 

$4EG5F ?>FD55=>EF< 6 M?5>FD>M=5D7<< ?D54EF46?5= 6 F45?<F5 10.4. 

&45?<F4 10.4 3 $4EG5F ?>FD55=>EF< 6 M?5>FD>M=5D7<< 

�4<<5=>64=<5 ?>FD55<F5?O 
�>FD55?O5<4O 

<>M=>EFL, >�F 
�>?<G5EF6>, LF. 

�D>65>F>D 6D5<5==>7> >E65M5=<O 1 2 

%FD><F5?L=O5 647>=G<>< 4 7 

&G4?5F 1,5 2 

�F>7> ?> D4EG5FG, >�F 33 

 

$ = 1,05E(0+0,8E28+0,9E2 +0) = 25,41>�·� E0,8=20,3 >�F 
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� >4G5EF65 <EF>G=<>4 M?5>FD>E=4565=<O =4 ?5D<>4 EFD><F5?L=>-<>=F46=OE D45>F 

?D<<5=ONF: �-% 60 >�F, 6 >>?<G5EF65 1 LF.  4?O <>5<?L=OE 5OF>6OE ?><5M5=<= (?><5M5=<O 

4?O >5>7D564 < >F4OE4 D45>G<E, 74D45D>5=O5, EGL<?><, ?><5M5=<O ?D<5<4 ?<M<, >>=F>D4, 

E4=G75?). 

�>FD55=>EFL 6 6>45 

�D< EFD><F5?LEF65 ?D>5>F<DG5<OE >5N5>F>6 <E?>?L7>64=<5 6>4O ?D54GE<4FD<645FEO 

4?O:  

2 E>7O=EF65==>-5OF>6OE < ?<FL56OE =G64;  

2 ?D><76>4EF65==OE < ?D>F<6>?>64D=OE =G64. 

$4EE>4 6>4O =4 E>7O=EF65==>- 5OF>6O5 < ?<FL56O5 =G64O 

�?D545?5=<5 D4EG5F=>7> EGF>G=>7> D4EE>44 6>4O =4 E>7O=EF65==>-?<FL56O5 =G64O 

D45>F4NM<E 6O?>?=5=> E>7?4E=> F45?<F5 �.2 %� 30.13330.2020, %� 31.13330.2021. 

�>D<O D4EG5F4 ?>FD55=>EF< 6 6>45 =4 >5N5>F4E EFD><F5?LEF64 ?D<6545=O 6 F45?<F5 

10.5. 

&45?<F4 10.53 �>D<O D4EG5F4 ?>FD55=>EF< 6 6>45 =4 >5N5>F4E EFD><F5?LEF64 

�4<<5=>64=<5 �4. <7<. 

�>4>6>= >5N5< %�$, 

?D<6545==O= > 1 

F5DD<F>D<4?L=><G ?>OEG, 

<?=. DG5. 

�>D<4 =4 1 <?=. DG5. 

�>44 4?O E>7O=EF65==>-

5OF>6OE =G64 
?/EGF. 

�4 1 4GL56GN E5F>G 5 

G5?>65> 

25 ?/EGF =4 1 G5?>65>4 

500 ?/EGF =4 4GL56GN 

E5F>G 

        -� F>< G<E?5 ?<FL564O ?/EGF.   2 ?/EGF =4 1 G5?. 

�>44 4?O ?>64D>FGL5=<O ?/E5>. ��% 12-46.2008 5 ?/E5>. 

$57G?LF4FO D4EG5F>6 E6545=O 6 F45?<F5 10.6. 

&45?<F4 10.6- �>FD55=>EFL 6 6>45 

�><5D MF4?4 

EFD><F5?LEF64 

�4>E<<4?L=4O 

G<E?5==>EFL 

D45>F4NM<E 6 

=4<5>?55 

747DG65==GN 

E<5=G, G5?>65> 

 

 

�5M<= 

?>FD55?O5<O=  

>5N5< 6>4O, 

<3/?5D<>4 

�5M<= 

?>FD55?O5<O=  

>5N5< 6>4O, 

?/E<5=G  

�>44 4?O 

E>7O=EF65==>-

?<FL56OE =G64, 

?/E<5=G (25 =4 1 

G5?>65>4) 

� F>< G<E?5 

?<FL564O, 

?/E<5=G (2 =4 

1 G5?>65>4) 

�?>M44>4 

D47654>G=4O 

E>646<=4 .%4-9$ 

22 

 

29 550 550 44 

�>D<4 D4EE>44 6>4O 6 4GL56OE E>EF46?O5F 500 ? =4 1 4GL56GN E5F>G 6 E<5=G (6 

D4EG5F5 =5 GG<FO645FEO, ?D<5< 4GL4 >D74=<7>64= =4 ��� .%4. 

�?O E>7O=EF65==>-5OF>6OE =G64 (6 F>< G<E?5 ?<FL56OE) <E?>?L7GNF ?D<6>7=GN 6>4G, 

>4G5EF6> >>F>D>= E>>F65FEF6G5F FD55>64=<O< %4=�<� 1.2.3685-21 «�<7<5=<G5E><5 

=>D<4F<6O < FD55>64=<O > >55E?5G5=<N 557>?4E=>EF< < (<?<) 5576D54=>EF< 4?O G5?>65>4 
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D4>F>D>6 ED54O >5<F4=<O. �>EF46>4 6>4O >EGM5EF6?O5FEO 46F>FD4=E?>DF>< E ��%-1 

D4E?>?>65==OE D4E?>?>65==O5 =4 ??>M44>5 ���. �5N5< 5<>>EF< 4?O ED4=5=<O 6>4O 6 

E4=<F4D=>-5OF>6OE ?><5M5=<OE ?D<=OF <EE>4O <7 =>D<O 6>4>?>FD55?5=<O =4 3 EGF>>, 

74?>?=5=<5 5<>>EF< 4?O ED4=5=<O 6>4O ?D><76>4<FEO D47 6 FD< 4=O. %5>D E>7O=EF65==>-

5OF>6OE EF>G=OE 6>4 ?D54GE<>FD5= 6 =4>>?<F5?L=O= 54> FG4?5F=>7> <>4G?O (E4=G7?4). 

�5N5< =4>>?<F5?L=>7> 54>4 E>EF46?O5F 2,0 <3. �5N5< 6>4>?>FD55?5=<O =5 ?D56OL45F 

5<>>EF< =4>>?<F5?L=>7> 54>4. �O6>7 E>7O=EF65==>-5OF>6OE EF>>>6 <7 =4>>?<F5?L=OE 54>>6 

?D><76>4<FEO >4<= D47 6 FD< 4=O. 

 �>44 4?O E>7O=EF65==>-?<FL56OE =G64 ?5DE>=4?4 6>44 ?D<6>7=4O. �>4DO4G<> 

6O?>?=O5F 74>?NG5=<5 4>7>6>D4 =4 ?>EF46>G <?< 745>D 6>4O 4> =4G4?4 ?D><76>4EF64 D45>F. 

�4G5EF6> 6>4O 4>?6=> E>>F65FEF6>64FL FD55>64=<O<< %4=�<� 1.2.3685-21 

«�<7<5=<G5E><5 =>D<4F<6O < FD55>64=<O > >55E?5G5=<N 557>?4E=>EF< < (<?<) 5576D54=>EF< 

4?O G5?>65>4 D4>F>D>6 ED54O >5<F4=<O». 

�>EF46>4 6>4O 4?O E>7O=EF65==>-5OF>6OE =G64 =4 ??>M44>G EFD><F5?LEF64 5G45F 

>EGM5EF6?OFLEO E>5EF65==O< FD4=E?>DF>< - 46F>F<EF5D=>= =4 5475 L4EE< 46F><>5<?5= 

«'$��» <?< «�����», ?D54=47=4G5==>= 4?O FD4=E?>DF<D>6>< < ED4=5=<O ?<FL56>= 6>4O.   

�5D<>4<G=>EFL 4>EF46>< 6>4O 46F>F<EF5D=4<< - 5654=56=>, E>7?4E=>  

��%& $ 58762-2019. 

%>7?4E=> %� 32.13330.2018, ?.5.1.1 G45?L=>5 ED54=5EGF>G=>5 (74 7>4) 6>4>>F6545=<5 

5OF>6OE EF>G=OE 6>4 E?54G5F ?D<=<<4FL D46=O< D4EG5F=><G G45?L=><G ED54=5EGF>G=><G (74 

7>4) 6>4>?>FD55?5=<N. 

$4EE>4 6>4O =4 ?D><76>4EF65==O5 =G64O 

%G<<4D=O= D4EE>4 6>4O Q1 =4 ?D><76>4EF65==O5 < F5E=<G5E><5 =G64O >?D545?O5FEO 

?> D>D<G?5: 

                   Q1=1,2*(500*2*1,5) /(11*3600) = 0,046 ?/E5>,                          (10.3)                

745 500? - D4EE>4 6>4O =4 ?D><76>4EF65==>7> ?>FD55<F5?O  

2 - G<E?> ?D><76>4EF65==OE ?>FD55<F5?5= 6 =4<5>?55 747DG65==GN E<5=G;  

1,2 - >>MDD<F<5=F =4 =5GGF5==O= D4EE>4 6>4O; 

1,5- >>MDD<F<5=F G4E>6>= =5D46=><5D=>EF< ?>FD55?5=<O 6>4O; 

11- G<E?> G4E>6 6 E<5=5. 

&45?<F4 10.73 �>FD55=>EFL 6>4>>55E?5G5=<O =4 ?D><76>4EF65==O5 =G64O 

�>FD55=>EFL 6>4O =4 

?D><76>4EF65==O5 =G64O, 

<3/?5D<>4 

�>FD55=>EFL 6>4O =4 

?D><76>4EF65==O5 =G64O, 

<3/EGF  

�>FD55=>EFL 6>4O =4 

?D><76>4EF65==O5 =G64O, 

<3/G4E 

�>FD55=>EFL 6>4O =4 

?D><76>4EF65==O5 =G64O, 

?/c 
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9,50 1,826 0,166 0,046 

*�D<<5G4=<5: <3/?5D<>4 = <3/EGF E >>?<G5EF6> 4=5= G??>F=5=<O- 5  

�?O >55E?5G5=<O ?D><76>4EF65==OE =G64 ?D54GE<>FD5FL 745>D 6>4O <7 

?>65DE=>EF=>7> 6>4>745>D4 6>4>ED4=<?<M4 %65F?<=E>>= �-% ?> 4>7>6>DG 6>4>?>?L7>64=<O 

7 $031-01472-14/00742711 >F 26.10.20237. �>EF46>4 6>4O >EGM5EF6?O5FEO E ?><>MLN 

?5D546<6=>7> 64>GG< =4E>E4 ���-10-�� E ?D><76>4<F5?L=>EFLN 60 <3/G4E =4 'D4?-4320 E 

>5N5<>< 5<>>EF< 12 <3.  

� E>45 D45>F 6>44 =4 ?D><76>4EF65==O5 =G6=O D4EE>4G5FEO 5576>76D4F=>. �>44 =4 

?D><76>4EF65==O5 =G64O D4EE>4G5FEO =4 G??>F=5=<5 7DG=F4. 

�>E?5 >>>=G4=<O D45>F 5<>>EFL 45<>=F<DG5FEO < 6O6>7<FEO =4 547G 4?O 44?L=5=L57> 

<E?>?L7>64=<O =4 4DG7<E ??>M44>4E. 

&5E=<G5E><5 GE?>6<O =4 >55E?5G5=<5 6>4>= 4?O ?D>6545=<O 7<4D><E?OF4=<= 6O44=O 

��� «%N?L4N>4D�5DF5�47», ?D<?>65=<5 �. 

$4EE>4 6>4O =4 ?>64D>FGL5=<5 

$4EE>4 6>4O =4 ?>64D>FGL5=<5 6 ?5D<>4 EFD><F5?LEF64 6 E>>F65FEF6<< E  

��% 12-46.2008 E>EF46?O5F 5 ?/E. 

$4EG5F ?>FD55=>EF< 6 6>45 =4 ?>64D>FGL5=<5 (<3) 6O?>?=5= 6 E>>F65FEF6<< E 

FD55>64=<O<< %� 8.13130.2020: 

                                                                                           (10.4) 

�?O >55E?5G5=<O ?>64D=>= 557>?4E=>EF< < E6>56D5<5==>= ?<>6<44F<< ?>64D>6 

?D54GE<4FD<645FEO <E?>?L7>64FL E<?O < ED54EF64 ?>64D=>7> ?>4D4745?5=<O. �4 ??>M44>4E 

EFD><F5?LEF64 ?D54GE<>FD5=> <E?>?L7>64=<5 ?5D6<G=OE ED54EF6 ?>64D>FGL5=<O (?>64D=O5 

M<FO). 

�>4>>F6545=<5 6 ?5D<>4 EFD><F5?LEF64 

� ?5D<>4 EFD><F5?LEF64 ?D>5>F>< ?D54GE<>FD5=> 6>4>>F6545=<5: 

- E>7O=EF65==>-5OF>6OE EF>G=OE 6>4. 

%>7O=EF65==>-5OF>6O5 EF>G=O5 6>4O  

%5>D E>7O=EF65==>-5OF>6OE EF>G=OE 6>4 6 ?5D<>4 EFD><F5?LEF64 ?D54GE<>FD5= 6 

=4>>?<F5?L=O= 54> FG4?5F=>7> <>4G?O (E4=G7?4). �5N5< =4>>?<F5?L=>7> 54>4 E>EF46?O5F  

2,0 <3, >5N5< 6>4>?>FD55?5=<O =5 ?D56OL45F 5<>>EF< =4>>?<F5?L=>7> 54>4. �O6>7 

E>7O=EF65==>-5OF>6OE EF>>>6 <7 =4>>?<F5?L=OE 54>>6 ?D><76>4<FEO D47 6 FD< 4=O. 
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� E>>F65FEF6<< E 44==O<< F45?<FO 10.6 ED54=OO ?>FD55=>EFL 6>4O =4 E>7-5OF>6O5 

=G64O E>EF46?O5F 0,550 <3/E<5=G, F4><< >5D47>< >5N5< D575D6G4D4 2,0 <3 5G45F 4>EF4F>G=O<, 

?D< GE?>6<< 6O6>74 EF>>>6 1 D47 6 FD< 4=O. 

�> 6D5<5==>= ?>?>E5 >F6>44 (65?<7< GG4EF>>6 ?D><76>4EF64 D45>F) ?D>5>F=>= 

4>>G<5=F4F<5= ?D54GE<>FD5=> D47<5EF<FL <>5<?L=O5 5OF>6O5 ?><5M5=<O (?><5M5=<O 4?O 

>5>7D564 < >F4OE4 D45>G<E, 74D45D>5=O5, EGL<?><, ?><5M5=<O ?D<5<4 ?<M<, >>=F>D4, 

E4=G75?).  

%>7?4E=> %� 32.13330.2018, ?.5.1.1 G45?L=>5 ED54=5EGF>G=>5 (74 7>4) 6>4>>F6545=<5 

5OF>6OE EF>G=OE 6>4 E?54G5F ?D<=<<4FL D46=O< D4EG5F=><G G45?L=><G ED54=5EGF>G=><G (74 

7>4) 6>4>?>FD55?5=<N. 

%>7?4E=> F5E=<G5E><< GE?>6<O< >F �4>47G<>4 (�D<?>65=<5 �), %>7O=EF65==>-5OF>6O5 

EF>G=O5 6>4O 6O6>7OFEO =4 5?>G=O5 >4=4?<74F<>==O5 >G<EF=O5 E>>DG65=<O 5<>?>7<G5E>>7> 

F<?4, D4E?>?>65==O5 =4 ??>M44>5 >?>D=>= 547O ?D><OE?4 (���) �� «$��» 6 D4=>=5  

��'-100 =4 ?<F5=7<>==>< GG4EF>5 %D54=55>FG>5<=E><= /�'11144�-. 

�4G5EF65==O5 ?>>474F5?< E>EF464 5OF>6OE EF>G=OE 6>4 ?D<=OFO 6 E>>F65FEF6<< E 

%� 32.13330.2018 < ?D54EF46?5=O 6 F45?<F5 10.8. 

&45?<F4 10.8 - �4G5EF65==O5 ?>>474F5?< E>EF464 5OF>6OE EF>G=OE 6>4 

�4<<5=>64=<5 ?>>474F5?O 
�>?<G5EF6> 747DO7=ONM<E 

65M5EF6 =4 >4=>7> 6<F5?O, 7/EGF 

�>=F5=FD4F<O 747DO7=5=<= 

EF>>>6 7/?<FD 

�765L5==O5 65M5EF64 67 2,6 

���5 =5>E65F?5==>= 6<4>>EF< 60 2,4 

%�� 120 4,8 

�7>F >5M<= 11,7 0,52 

�7>F 4<<>=<==OE E>?5= 8,8 0,42 

$>ED>D >5M<= 1,8 0,1 

$>ED>D D>ED4F>6 $-$�4 1,0 0,06 

&5E=<G5E><5 GE?>6<O =4 6>4>>F6545=<5 < GF<?<74F<N E>7O=EF65==>-5OF>6OE EF>G=OE 

6>4 6O44=O ��� «%N?L4N>4D�5DF5�47» < ?D54EF46?5=O 6 ?D<?>65=<< �. 

$4EG5F ?>65DE=>EF=>7> EF>>4 E ??>M44>> EFD><F5?LEF64 

�>6456O5 EF>>< < F4?O5 6>4O <<5NF E57>==O= E4D4>F5D >5D47>64=<O, 5>?LLGN 

=5D46=><5D=>EFL >5N5<>6 6> 6D5<5=<. � >E=>65 E6>5= ?D54EF46?ONF <4?><<=5D4?<7>64==GN 

6>4G 4F<>ED5D=>7> ?D><EE>645=<O, 747DO7=5==GN F65D4O<< 6765L5==O<< G4EF<F4<< ?>G6>-

7DG=F>6. 

�D74=<7>64==O= E5>D ?>65DE=>EF=OE EF>G=OE 6>4 >EGM5EF6?O5FEO 6 ?5F=<= ?5D<>4. 

%>7?4E=> ?.7 ?<=5==>7> 7D4D<>4 EFD><F5?LEF64 EFD><F5?LEF6> -  2 >6.2026 7. 

$4EG5FO ED54=57>4>6OE < <4>E<<4?L=OE EGF>G=OE D4EE>4>6 4>6456OE < F4?OE EF>>>6 

?D><76545=O ?> ?.?. 7.2.2 %� 32.13330.2018 «�4=4?<74F<O. �4DG6=O5 E5F< < E>>DG65=<O» < 
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?> <5F>4<>5 «$5>><5=44F<< ?> D4EG5FG E<EF5< E5>D4, >F6545=<O < >G<EF>< ?>65DE=>EF=>7> 

EF>>4 E E5?<F55=OE F5DD<F>D<=, ??>M44>> ?D54?D<OF<= < >?D545?5=<N GE?>6<= 6O?GE>4 57> 

6 6>4=O5 >5N5>FO. �>?>?=5=<O > %� 32.13330.2018» ��� «��� ������» �>E>64 2014 7. 

%D54=57>4>6>= >5N5< ?>65DE=>EF=OE EF>G=OE 6>4 W7, >5D47GNM<EEO =4 ??>M44>4E 6 

?5D<>4 F4O=<O E=574 < 6O?445=<O 4>645=, >?D545?O5FEO ?> D>D<G?5 

W7 = W4 + WF,                                                             (10.5) 

745      W4, WF 3 ED54=57>4>6>= >5N5< 4>6456OE, F4?OE 6>4, <3/7>4  

W4 = 10 · h4 · «4 · F,                                                         (10.6) 

745      F 3 ??>M44L F5DD<F>D<<  (??>M44>< 4?O D47<5M5=<O ��<%), E >>F>D>= 

>F6>4OFEO EF>><, D46=4 0,0565 74; 

h4 3 E?>= >E44>>6 74 F5??O= ?5D<>4 7>44, 177 <<, ?D<=OF E>7?4E=>  F45?<FO 1.4 

(6<4><5 >FE>4O + ?>?>6<=4 E<5L5==OE >E44>>6); 

«4 3 >5M<= >>MDD<F<5=F EF>>4 4>6456OE 6>4 4?O 6>4>=5?D>=<F45<OE ?>>DOF<=, 

D465= 0,6. 

�5N5< 4>6456>7> EF>>4 >F D4EG5F=>7> 4>64O W>G   >?D545?O5FEO ?> D>D<G?5  

W>G =10 · h4 · F · «mid,                                                    (10.7) 

745  h4 3 <4>E<<4?L=O= EGF>G=O= E?>= >E44>>6 74 4>64L, EF>> >F >>F>D>7> 

?>465D745FEO >G<EF>5 6 ?>?=>< >5N5<5, << (E<. =<65 ?>OE=5=<5); 

$4EG5F 65?<G<=O <4>E<<4?L=>7> EGF>G=>7> E?>O 4>6456OE >E44>>6 4?O E5?<F55=OE 

F5DD<F>D<= < ?D54?D<OF<= ?5D6>= 7DG??O ?D><76>4<FEO ?> D5>><5=44F<O< 2015 ��� 

������ > %� 32.13330.2018, ?G=>F «7.2.2» < «�D<?>65=<5 �». &5??O= ?5D<>4 E <4O ?> 

E5=FO5DL. 

&45?<F4 10.9 - %D54=55 G<E?> 4=5= E D47?<G=O< >>?<G5EF6>< >E44>>6 
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  �4?55 ?> 7D4D<>G $$� ?<5> E ?><>MLN <=F5D?>?OF<< >?D545?O5< 65?<G<=G 

EGF>G=OE E?>56 6<4><E 4F<>ED5D=OE >E44>>6 h4=5,19 <<. 

«mid 3 ED54=<= >>MDD<F<5=F EF>>4 >F D4EG5F=>7> 4>64O 4?O 6>4>=5?D>=<F45<OE 

?>>DOF<=, D465= 0,95. 

$4EG5FO ?> >?D545?5=<N EGF>G=OE < ED54=57>4>6OE >5N5<>6 ?>65DE=>EF=OE EF>G=OE 

6>4 E ??>M44>> ��<% =4 ?5D<>4 %�$ E6545=O 6 F45?<FG 10.10. 

&45?<F4 10.10- �5N5<O ?>65DE=>EF=OE EF>G=OE 6>4 >F ??>M44>> ��<% =4 ?5D<>4 

%�$ 

�?>M44L 

F5DD<F>D<<  

(??>M44L E 

6>4>=5?D>=

<F45<O< 

?>>DOF<5<) 

(F), 74 

$4EE>4O 4F<>ED5D=OE EF>G=OE 6>4 

�5N5< 

4>6456>7> 

EF>>4 >F 

D4EG5F=>7> 

4>64O  

(W>G),  

<3 

�4>E<<4?L=O= 

EGF>G=O= 

>5N5< F4?OE 

6>4 (W%'&
&),  

<3/EGF 

%D54=57>4>6>= 

>5N5< 

4>6456OE 6>4  

(W�) 

%D54=57>4>6>= 

>5N5< F4?OE 

6>4  (W&) 

%D54=57>4>6>= 

>5N5< 

?>65DE=>EF=OE 

EF>G=OE 6>4 

(W�) 

�5N5< 
?>65DE=>EF=
OE EF>G=OE 

6>4,  

<3/7>4 <3/7>4 <3/7>4 
<3/?5D<>4 

0,0565 2,79 - 60 - 60 

 
10 
 

�>65DE=>EF=O5 EF>G=O5 6>4O (>F 6O?445=<O >E44>>6) E>5<D4NFEO 6 6>4>>F6>4=O5 

>4=46O < ?D<O<><. �5N5< 6>4>>F6>4=>= >4=46O E>EF46?O5F 5,0 <3 (6 E>>F65FEF6<< E 

D57G?LF4F4<< D4EG5F4 >5N5<>6 4>6456OE EF>G=OE 6>4). %F>>< >F>4G<64NFEO ?5D546<6=>= 

F5E=<>>= < 6O6>7OFEO 4?O >G<EF>< =4 GEF4=>6>G ?>47>F>6>< ??4EF>6>= 6>4O (D4E?>?>65==GN 

=4 F5DD<F>D<< &�% �� «$��») E ?>E?54GNM5= >G<EF>>= < 74>4G>>= 6 E<EF5<G ��� 
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�>EF>G=OE 5?>>>6 %D54=55>FG>5<=E>>7> ����, E>7?4E=> &5E=<G5E><< GE?>6<O<, 

?D54EF46?5==OE 6 �D<?>65=<< �.  

�5D<>4<G=>EFL 6O6>74 EF>>>6 2 D474 6 ?5D<>4. �4?>?=5=<5 6>4>>F6>4=>= >4=46O 

>?D545?O5FEO 6<7G4?L=>. �D< ?5D5?>?=5=<< >4=46O FD55G5FEO 4>?>?=<F5?L=O= 6O6>7 EF>>>6. 

�>=F5=FD4F<< 747DO7=5=<= EF>G=OE 6>4 ?D<=OFO 6 E>>F65FEF6<< E F45?<F5= 15  

%� 32.13330.2018 (F5DD<F>D<<, ?D<?574NM<5 > ?D><OL?5==O< 7>=4<) < ?D54EF46?5=O 6 

F45?<F5 10.11.  

&45?<F4 10.11 3 �>=F5=FD4F<< 747DO7=5=<= ?D><76>4EF65==>-4>6456OE EF>>>6 

�>>474F5?L 
�=4G5=<5 ?>>474F5?5= 747DO7=5=<=, 

<7/4<3 

�765L5==O5 65M5EF64 800 

���5 120 

�5DF5?D>4G>FO 18 

%��  400 

�4?4=E 6>4>?>FD55?5=<O < 6>4>>F6545=<O 6 ?5D<>4 EFD><F5?LEF64 ?D54EF46?5= 6 F45?<F5 

10.12. 

&45?<F4 10.123 �4?4=E>64O F45?<F4 6>4>?>FD55?5=<O < 6>4>>F6545=<O 6 ?5D<>4 EFD><F5?LEF64 

>5N5>F4  
�>4>?>FD55?5=<5, <3/?5D<>4 (<3/EGF) 

EFD><F5?LEF64 

�>4>>F6545=<5, <3/?5D<>4  (<3/EGF) EFD><F5?LEF64 

�E57> 

�576>76D4F=>5 

?>FD55?5=<5 
E>7O=EF6

5==>-

5OF>6O5 

=G64O 

�E57> 

�O6>7 4?O 74>4G>< 6 E<EF5<G 

��� 

�O6>7 =4 

>G<EF=O5 

�>64D>FGL5

=<5 

?D><76>

4EF65==

O5 

=G64O 

?D><76>4

EF65==O5 

EF>G=O5 

6>4O 

�>

64D

>FG

L5=

<5 

?>65DE=>E

F=O5 

EF>>< 

E>7O=EF65==> -

5OF>6O5 EF>G=O5 

6>4O 

�E57> 74 ?5D<>4 EFD><F5?LEF64 

92,5 

(2,45) 
54,0 

9,50 

(1,9) 

29 

 (0,550) 

39 

 (0,935) 
- - 

10,0 

(0,385) 

29 

 (0,550) 

*- >FEGFEF6<5 54?4=E4 <564G 6>4>?>FD55?5=<5< < 6>4>>F6545=<5< >5GE?>6?5=> 

5576>76D4F=O< ?>FD55?5=<5< 6>4O 6 E?GG45 ?>64D>FGL5=<O < ?D><76>4EF65==OE EF>G=OE 

6>4. 

10.4 �5>E=>64=<5 ?>FD55=>EF< 6> 6D5<5==OE 744=<OE < E>>DG65=<OE 

�D74=<74F<O 5OF>6>7>, ?D><76>4EF65==>7> < E>?44E>>7> E>7O=EF64 6O?>?=O5FEO 

�>4DO4G<>><. 

�D>6<64=<5 < E>F<4?L=>-5OF>6>5 >5E?G6<64=<5 EFD><F5?5= ?D54?>?4745FEO 6  

��� .%4, 

�5?<7< GG4EF>4 ?D><76>4EF64 D45>F ?D>5>F=>= 4>>G<5=F4F<5= ?D54GE<>FD5=> 

D47<5EF<FL <>5<?L=O5 5OF>6O5 ?><5M5=<O (?><5M5=<O 4?O >5>7D564 < >F4OE4 D45>G<E, 

74D45D>5=O5, EGL<?><, ?><5M5=<O ?D<5<4 ?<M<, >>=F>D4, E4=G75?). 



 

 

      

/%�/&��/99-24/��%.&' 

�<EF 

      46 
�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4 

 

�
74

<
. 

<
=

6
. 

7
 

 

�
>

4
?

<
EL

 <
 4

4F
4 

 

�
=

6
. 
7

  
?

>
4

?
. 

 

�D5<5==O5 744=<O EFD><F5?5= E>7O=EF65==>-?D><76>4EF65==>7>, E>?44E>>7> < 

44<<=<EFD4F<6=>-5OF>6>7> =47=4G5=<O 6O?>?=ONFEO <7 EFD><F5?L=OE 5OF>6>> (647>=-

5OF>6>>), >>F>DO5 =4E>4OFEO =4 54?4=E5 ?>4DO4=OE EFD><F5?L=OE >D74=<74F<=. 

�D5<5==O5 744=<O < E>>DG65=<O, ?D<E?>E>5?5==O5 > <E?>?L7>64=<N 4?O =G64 

EFD><F5?LEF64, 4>?6=O E>>F65FEF6>64FL FD55>64=<O< F5E=<G5E><E D57?4<5=F>6 < 

45=EF6GNM<E EFD><F5?L=OE, ?>64D=OE, E4=<F4D=>-M?<45<<>?>7<G5E><E =>D< < ?D46<?, 

?D54NO6?O5<O< > 5OF>6O<, ?D><76>4EF65==O<, 44<<=<EFD4F<6=O< 744=<O<, E>>DG65=<O< < 

?><5M5=<O<. 

�4 ?<=5==>< >5N5>F5 6D5<5==O5 744=<O 44<<=<EFD4F<6=>7> < E4=<F4D=>-5OF>6>7> 

=47=4G5=<O, =5>5E>4<<O5 ?D< ?D><76>4EF65 D45>F, D4E?>?474NFEO 6 ?>?>E5 >F6>44 < 

?5D5<5M4NFEO 6E?54 74 EFD><F5?L=>= >>?>==>=. 

�>FD55=>EF< ?><5M5=<= 44<<=<EFD4F<6=>-5OF>6>7> =47=4G5=<O >?D545?O5FEO <EE>4O 

<7 G<E?5==>EF< D45>F4NM<E 6 =4<5>?55 <=>7>G<E?5==GN E<5=G (4?O D45>G<E 3 70 %, 4 4?O 

�&$, E?G64M<E, ��� < >ED4=O 3 80 %). 

%>7?4E=> %� 2.2.3670-20 E>EF46 E4=<F4D=>-5OF>6OE ?><5M5=<= >?D545?5= E GG5F>< 

7DG??O ?D><76>4EF65==>7> ?D>F5EE4 < <E E4=<F4D=>= E4D4>F5D<EF<><. �DG??O 

?D><76>4EF65==OE ?D>F5EE>6 ?D<=OFO ?> %� 44.13330.2011. 

�>FD55=>EFL ??>M445= ?>4 6D5<5==O5 744=<O < E>>DG65=<O EFD><F5?5=, >>F>DO5 

5G4GF =4E>4<FLEO =4 <5EF5 ?D><76>4EF64 D45>F, >?D545?5=4 E>7?4E=> ��% 12-46.2008 < 

%� 44.13330.2011. �45>D 6D5<5==OE 744=<= < E>>DG65=<= ?D><76545= <EE>4O <7 ?>FD55=>= 

??>M44< < =><5=>?4FGDO <=65=F4D=OE ?><5M5=<=. 

�>4 6D5<5==O5 744=<O ?D54?4745FEO <E?>?L7>64FL ?5D546<6=O5 647>=G<>< F<?4 

«�54D», 6 >>F>DOE ?D54GE<>FD5=O 6E5 E4=<F4D=>-5OF>6O5 ?D<5>DO, ?D< >FEGFEF6<< G 

?>4DO4G<>4 647>=G<>>6 44==OE <4D>>, 4>?GE>45FEO <E?>?L7>64FL 4DG7<5 647>=-5OF>6>< E 

4=4?>7<G=O<< F5E=<G5E><<< E4D4>F5D<EF<>4<<. �5>7D56 >EGM5EF6?O5FEO M?5>FD<G5EF6><. 

�47>=G<>< >5>DG4>64=O 5<>>EFO<< 4?O E5>D4 E>7O=EF65==>-5OF>6OE EF>>>6. 

&D55G5<4O ??>M44L >?D545?5=4 ?> D>D<G?5: 

                                              ,                                                               (10.8) 

745 S?3 =>D<4F<6=O= ?>>474F5?L ??>M44<, <2/G5?.; 

N 3 >5M4O G<E?5==>EFL D45>F4NM<E (D45>G<E) <?< G<E?5==>EFL D45>F4NM<E 

(D45>G<E) 6 =4<5>?55 <=>7>G<E?5==GN E<5=G, G5?. 

�D< >?D545?5=<< >>?<G5EF64 E4=<F4D=>-5OF>6OE ?><5M5=<= GGF5=O =>D<4F<6=O5 

FD55>64=<O ?> >>?<G5EF6G G5?>65> =4 >4<= ?D<5>D <?< <5EF>, ?> >>?<G5EF6G >F45?5=<= 
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L>4D>6 =4 G5?>65>4 6 746<E<<>EF< >F 7DG??O ?D><76>4EF65==>7> ?D>F5EE4. 

$4EG5F ?>FD55=>EF< 6> 6D5<5==OE 44<<=<EFD4F<6=>-5OF>6OE 744=<OE ?D54EF46?5= 6 

F45?<F5 10.13. 

&45?<F4 10.11 3 $4EG5F ?>FD55=>EF< 6> 6D5<5==OE 44<<=<EFD4F<6=>-5OF>6OE 744=<OE 

�><5=>?4FGD4 

'<E?5==>EFL 

D45>F4NM<E 

ND4EG, 

G5?>65> 

$4EG5F=O= 

?>>474F5?L, S= 

�>FD55=4O 

??>M44L 

�4==O5 ?> ?D<=OFO<  647>=-

5OF>6>4< 

SD = (ND4EGE 

S=), <2 

>>?<G5EF6>, 

LF. 
F<? 647>=4 

??>M44L 

647>=4, 

<2 

�?>M44>4 E>646<=O .%4-9$ 

%>>DG65=<O 44<<=<EFD4F<6=>7> =47=4G5=<O 

�>=F>D4 4 4 <2/G5?>65> 16 1 

�47>=-

5OF>6>4 

(2,8E8) 

22,4 

%>>DG65=<O E4=<F4D=>-5OF>6>7> =47=4G5=<O     

�><5M5=<5 4?O 

>5>7D564 
18 0,1 <2/G5?>65> 1,8 1 

 «�54D 05» 

(3E6) 
18 

�4D45D>5=4O 25 0,7 <2/G5?>65> 17,5 

1 

�47>=-

5OF>6>4 

(3E9), =4 24 

G5? 

27 

'<O64?L=4O 22 0,2 <2/G5?>65> 4,4   

%GL<?>4 18 0,2 <2/G5?>65> 3,6 1 
«�54D 5» 

(2,4E8) 
19,2 

%F>?>64O 22 1,0 <2/G5?>65> 22 1 

«�54D 06»  

22 ?>E44. 

<5EF 

(10,94E3,18) 

34,79 

�GL564O 15 0,54 <2/G5?>65> 8,1 1 
«�54D 12» 

(3E6) 
18 

�>5<?L=O= 

FG4?5F 
18 0,1 <2/G5?>65> 1,8 

2 
«�54D 13» 

(1,1E1,2) 

1,32 

2 

�>?-6> 

G=<F47>6 

(?D< =>D<5 

1 G=/45 

G5?.) 

�>=F5==5D 4?O 

E5>D4 <GE>D4 
22 0,17 >7/G5?>65> 3,74 2 LF.     

$4EG5F ?>FD55=>EF< 6 E4=<F4D=>-5OF>6OE ?><5M5=<OE ?D<6545= 6 F45?<F5 10.12. 

 

&45?<F4 10.12- $4EG5F ?>FD55=>EF< 6 E4=<F4D=>-5OF>6OE ?><5M5=<OE 

7 MF4?4 $45>F=<>< 

%?<E>G=>

5 >>?-6>, 

G5?>65> 

�>?-6>, 

G5?>65> 6 

<=>7>G<E?5

�DG??4 

?D><76>4EF

65==>7> 

�>?<G5EF6> 

E4=<F4D=>-5OF>6OE 

GEFD>=EF6, LF. 

'<E?> >F45?5=<= 

74D45D>5=>= 
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==GN 

E<5=G 

?D>F5EE4 

�GL56O5 

E5F>< 

'<O64?

L=<>< 
�E57> 

'<E?> 

>F45?5

=<= 

4?O 

4><4L

=5= 

>4564

O 

'<E?> 

>F45?5=

<= 4?O 

D45>G5= 

>4564O  

1 2 3 4 5 6 7 8 9 10 

�?>M44>4 

D47654>G=>= 

E>646<=O  

.%4-9$ 

$45>G<5 

(26; 27) 
25 18 26; 27 4 1 50 25 25 

�&$, 

E?G64M<5, 

��� (14) 
5 4 14 1 1 5 5   

�D<=OF> ?> 

?D>5>FG 
30 22 - 5 2 55     
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11 �5>E=>64=<5 D47<5D>6 < >E=4M5=<O ??>M44>> 4?O E>?44<D>64=<O 
<4F5D<4?>6, >>=EFDG>F<=, >5>DG4>64=<O, G>DG?=5==OE <>4G?5= < EF5=4>6 
4?O <E E5>D><. $5L5=<O ?> ?5D5<5M5=<N FO65?>65E=>7> =57454D<F=>7> 
>5>DG4>64=<O, G>DG?=5==OE <>4G?5= < EFD><F5?L=OE >>=EFDG>F<= 

�>FD55=>EFL 6 ?D><76>4EF65==>-E>?44E><E ?><5M5=<OE =5 FD55G5FEO.  

�>E?5 >FEO?>< F5DD<F>D<<, D45>FO ?> <>=F46G 7<4D><7>?OF<< 4?O L?4<>6>7> 4<54D4 

??4=<DG5FEO ?D><76>4<FL «E >>?5E» 46F><>5<?L=O< >D4=>< < G>?44O64FL 

7<4D><7>?OF<>==O= <4F5D<4?. 
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12 �D54?>65=<O ?> >55E?5G5=<N >>=FD>?O >4G5EF64 EFD><F5?L=OE < 
<>=F46=OE D45>F, 4 F4>65 ?>EF46?O5<OE =4 ??>M44>G < <>=F<DG5<OE 
>5>DG4>64=<O, >>=EFDG>F<= < <4F5D<4?>6 

12.1 �5M<5 ?>?>65=<O 

�>=FD>?L >4G5EF64 EFD><F5?L=>-<>=F46=OE D45>F 4>?65= >EGM5EF6?OFLEO 

E?5F<4?<EF4<< <?< E?5F<4?L=O<< E?G654<<, 6E>4OM<<< 6 E>EF46 EFD><F5?L=OE >D74=<74F<= 

<?< ?D<6?5>45<O<< E> EF>D>=O < >E=4M5==O<< F5E=<G5E><<< ED54EF64<<, 

>55E?5G<64NM<<< =5>5E>4<<GN 4>EF>65D=>EFL < ?>?=>FG >>=FD>?O. 

�D><76>4EF65==O= >>=FD>?L >4G5EF64 EFD><F5?L=>-<>=F46=OE D45>F 4>?65= 

6>?NG4FL: 

ý6E>4=>= >>=FD>?L D45>G5= 4>>G<5=F4F<<, >>=EFDG>F<=, <745?<=, <4F5D<4?>6 < 

>5>DG4>64=<O; 

ý>?5D4F<>==O= >>=FD>?L >F45?L=OE EFD><F5?L=OE ?D>F5EE>6 <?< >?5D4F<=; 

ý?D<5<>G=O= >>=FD>?L EFD><F5?L=>-<>=F46=OE D45>F. 

12.2 �E>4=>= >>=FD>?L 

�E>4=>= >>=FD>?L ?> ?D>65D>5 EFD><F5?L=OE <4F5D<4?>6, FDG5, 45F4?5= < G7?>6 

FDG5>?D>6>4>6, 74?>D=>= < D4E?D545?<F5?L=>= 4D<4FGDO ?D><76>4<FEO >D74=<74F<5=-

74>47G<>>< <?< E?5F<4?<7<D>64==>= E?G65>= 6E>4=>7> >>=FD>?O 6 ?D<EGFEF6<< 

?D54EF46<F5?O >D74=<74F<<-?>?GG4F5?O 6 ?D>F5EE5 ?>?GG5=<O G>474==>= ?D>4G>F<< >F 

746>4>6-<77>F>6<F5?5= < 4DG7<E ?>EF46M<>>6 ?> <5EFG D477DG7>< ?D>4G>F<< E FD4=E?>DF=OE 

ED54EF6 <?< ?>E?5 FD4=E?>DF<D>6>< 55 >F <5EF D477DG7>< 4> ??>M44>< E>?44<D>64=<O. 

�E6<45F5?LEF6>64=<5 < >F5D4>>6>G >EGM5EF6?O5F E?5F<4?L=4O >><<EE<O �4>47G<>4 

12.3 �=EFDG<5=F4?L=O= >>=FD>?L >4G5EF64 EFD><F5?LEF64 

�=EFDG<5=F4?L=O= >>=FD>?L >4G5EF64 E<. D4745? 13. 

12.4 �6F>DE><= =447>D 

%>7?4E=> %� 11-110-99 4?O ?D>6545=<O 46F>DE>>7> =447>D4 �4>47G<> >55E?5G<645F 

E?5F<4?<EF>6 46F>DE>>7> =447>D4 =5>5E>4<<O<< D5EGDE4<<. 

�6F>DE><= =447>D >EGM5EF6?O5FEO =4 >E=>64=<< 4>7>6>D4 < ?D>6>4<FEO 6 F5G5=<5 

6E57> ?5D<>44 EFD><F5?LEF64 < 66>44 6 M>E??G4F4F<N >5N5>F4, 4 6 E?GG45 =5>5E>4<<>EF< < 

=4G4?L=>7> ?5D<>44 57> M>E??G4F4F<<. �6F>DE><= =447>D >EGM5EF6?O5FEO 7?46=O< 

<=65=5D>< ?D>5>F4 < ?D<>47>< 4FF5EF>64==O<< E?5F<4?<EF4<< =4 ?D54<5F 7=4=<O 
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FD55>64=<= =>D<4F<6=>-F5E=<G5E>>=, F<?>6>= < ?D>5>F=>= 4>>G<5=F4F<< =4 >5N5>F 

46F>DE>>7> =447>D4. �D< >EGM5EF6?5=<< 46F>DE>>7> =447>D4 74 EFD><F5?LEF6>< >5N5>F4 

D57G?OD=> 6545FEO 6GD=4? 46F>DE>>7> =447>D4 (6 46GE M>75<??OD4E). 

12.5 �?5D4F<>==O= >>=FD>?L 

�?5D4F<>==O= >>=FD>?L >EGM5EF6?O5FEO ?D><76>4<F5?5< D45>F < <4EF5D4<< < 

=4?D46?5= =4 >55E?5G5=<5 >4G5EF64 %�$ ?>E?5 7465DL5=<O >464>= ?D><76>4EF65==>= 

>?5D4F<< <?< EFD><F5?L=>7> ?D>F5EE4. 

�4>47G<> 6O?>?=O5F F5E=<G5E><= =447>D 74 EFD><F5?LEF6><, 6 F>< G<E?5: 

ý?D>65D>G =4?<G<O G <E?>?=<F5?O D45>F 4>>G<5=F>6 > >4G5EF65 (E5DF<D<>4F>6 6 

GEF4=>6?5==OE E?GG4OE) =4 ?D<<5=O5<O5 << <4F5D<4?O, <745?<O < >5>DG4>64=<5, 

4>>G<5=F<D>64==OE D57G?LF4F>6 6E>4=>7> >>=FD>?O < ?45>D4F>D=OE <E?OF4=<=; 

ý>>=FD>?L E>5?N45=<O <E?>?=<F5?5< D45>F ?D46<? E>?44<D>64=<O < ED4=5=<O 

?D<<5=O5<OE <4F5D<4?>6, <745?<= < >5>DG4>64=<O (?D< 6OO6?5=<< =4DGL5=<= MF<E ?D46<? 

ý?D54EF46<F5?L F5E=447>D4 <>65F 74?D5F<FL ?D<<5=5=<5 =5?D46<?L=> 

E>?44<D>64==OE < ED4=OM<EEO <4F5D<4?>6); 

ý>>=FD>?L E>>F65FEF6<O 6O?>?=O5<>7> <E?>?=<F5?5< D45>F >?5D4F<>==>7> >>=FD>?O, 

6>?NG4NM<=: 

4) E>>F65FEF6<5 ?>E?54>64F5?L=>EF< < E>EF464 6O?>?=O5<OE F5E=>?>7<G5E><E 

>?5D4F<= F5E=>?>7<G5E>>= < =>D<4F<6=>= 4>>G<5=F4F<<, D4E?D>EFD4=ONM5=EO =4 44==O5 

F5E=>?>7<G5E><5 >?5D4F<<; 

5) E>5?N45=<5 F5E=>?>7<G5E><E D56<<>6, GEF4=>6?5==OE F5E=>?>7<G5E><<< >4DF4<< 

< D57?4<5=F4<<; 

6) E>>F65FEF6<5 ?>>474F5?5= >4G5EF64 6O?>?=5=<O >?5D4F<= < <E D57G?LF4F>6 

FD55>64=<O< ?D>5>F=>= < F5E=>?>7<G5E>>= 4>>G<5=F4F<<, 4 F4>65 D4E?D>EFD4=ONM5=EO =4 

44==O5 F5E=>?>7<G5E><5 >?5D4F<< =>D<4F<6=>= 4>>G<5=F4F<<; 

ý>>=FD>?L 74 GEFD4=5=<5< 45D5>F>6 6 ?D>5>F=>= 4>>G<5=F4F<<, 6OO6?5==OE 6 

?D>F5EE5 EFD><F5?LEF64, 4>>G<5=F<D>64==O= 6>76D4F 45D5>F=>= 4>>G<5=F4F<< 

?D>5>F<D>6M<>G, >>=FD>?L < 4>>G<5=F<D>64==4O ?D<5<>4 <E?D46?5==>= 4>>G<5=F4F<<, 

?5D544G4 55 <E?>?=<F5?N D45>F; 

ý>>=FD>?L 6O?>?=5=<O <E?>?=<F5?5< D45>F ?D54?<E4=<= >D74=>6 7>EG44DEF65==>7> 

=447>D4 < <5EF=>7> E4<>G?D46?5=<O; 

ý<765M5=<5 >D74=>6 7>EG44DEF65==>7> =447>D4 >5> 6E5E E?GG4OE 464D<==>7> E>EF>O=<O 

=4 >5N5>F5 EFD><F5?LEF64; 
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ý>>=FD>?L E>>F65FEF6<O >5N5<>6 < ED>>>6 6O?>?=5=<O D45>F GE?>6<O< 4>7>6>D4 < 

>4?5=44D=><G ??4=G EFD><F5?LEF64; 

ý>F5=>G (E>6<5EF=> E <E?>?=<F5?5< D45>F) E>>F65FEF6<O 6O?>?=5==OE D45>F, 

>>=EFDG>F<=, GG4EF>>6 <=65=5D=OE E5F5=, ?>4?<E4=<5 46GEEF>D>==<E 4>F>6, 

?>4F65D644NM<E E>>F65FEF6<5; >>=FD>?L 74 6O?>?=5=<5< <E?>?=<F5?5< D45>F FD55>64=<O > 

=54>?GEF<<>EF< 6O?>?=5=<O ?>E?54GNM<E D45>F 4> ?>4?<E4=<O G>474==OE 4>F>6; 

ý74>?NG<F5?L=GN >F5=>G (E>6<5EF=> E <E?>?=<F5?5< D45>F) E>>F65FEF6<O 

74>>=G5==>7> EFD><F5?LEF6>< >5N5>F4 FD55>64=<O< 74>>=>44F5?LEF64, ?D>5>F=>= < 

=>D<4F<6=>= 4>>G<5=F4F<<. 

�?O >EGM5EF6?5=<O F5E=<G5E>>7> =447>D4 74EFD>=M<> (�4>47G<>), ?D< =5>5E>4<<>EF<, 

D>D<<DG5F E?G65G F5E=<G5E>>7> =447>D4, >55E?5G<64O 55 ?D>5>F=>= < =5>5E>4<<>= 

=>D<4F<6=>= 4>>G<5=F4F<5=, 4 F4>65 >>=FD>?L=>-<7<5D<F5?L=O<< ?D<5>D4<< < 

<=EFDG<5=F4<<. 

12.6 �D<5<>G=O= >>=FD>?L 

�D<5<>G=O= >>=FD>?L 6>?NG45F >>=FD>?L < >F5=>G >4G5EF64 74>>=G5==OE 

EFD><F5?LEF6>< >5N5>F>6 <?< <E G4EF5=. 

�>>474F5?< >4G5EF64 EFD><F5?L=>-<>=F46=OE D45>F D57?4<5=F<D>64=O <=EFDG>F<5= 

G4EF< 1, D4745?O 1-4, 6-8 �%� 012-88; �%� 005-88. 

�F5=>4 >4G5EF64 74>>=G5==>7> EFD><F5?LEF64 GEF4=46?<645FEO ?D< ?D<5<5 >5N5>F4 6 

M>E??G4F4F<N ?D<5<>G=>= >><<EE<5= 6 E>>F65FEF6<< E> %� 68.13330.2017. 
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13 �D54?>65=<O ?> >D74=<74F<< E?G65O 75>457<G5E>>7> < 
?45>D4F>D=>7> >>=FD>?O 

13.1 �5>457<G5E><= >>=FD>?L 

� ?D>F5EE5 6>76545=<O >5N5>F>6 EFD><F5?L=>-<>=F46=>= >D74=<74F<5= 

(75=?>4DO4G<>><, EG5?>4DO4G<>><) E?54G5F ?D>6>4<FL 75>457<G5E><= >>=FD>?L F>G=>EF< 

75><5FD<G5E><E ?4D4<5FD>6 E>>DG65=<=, >>F>DO= O6?O5FEO >5O74F5?L=>= E>EF46=>= G4EFLN 

?D><76>4EF65==>7> >>=FD>?O >4G5EF64. 

�5>457<G5E><= >>=FD>?L F>G=>EF< 75><5FD<G5E><E ?4D4<5FD>6 744=<= (E>>DG65=<=) 

74>?NG45FEO 6: 

3 75>457<G5E>>= (<=EFDG<5=F4?L=>=) ?D>65D>5 E>>F65FEF6<O ?>?>65=<O M?5<5=F>6, 

>>=EFDG>F<= < G4EF5= E>>DG65=<= < <=65=5D=OE E5F5= ?D>5>F=O< FD55>64=<O< 6 ?D>F5EE5 

<E <>=F464 < 6D5<5==>7> 74>D5??5=<O (?D< >?5D4F<>==>< >>=FD>?5); 

3 <E?>?=<F5?L=>= 75>457<G5E>>= EN5<>5 ??4=>6>7> < 6OE>F=>7> ?>?>65=<O 

M?5<5=F>6, >>=EFDG>F<= < G4EF5= E>>DG65=<=, ?>EF>O==> 74>D5??5==OE ?> >>>=G4=<< 

<>=F464 (GEF4=>6><, G>?44><), 4 F4>65 D4>F<G5E>>7> ?>?>65=<O ?>475<=OE <=65=5D=OE 

E5F5=. 

�E?>?=<F5?L=GN 75>457<G5E>GN EN5<>G ?>475<=OE <=65=5D=OE E5F5= E?54G5F 

6O?>?=OFL 4> 74EO?>< FD4=L5=. �>=FD>?<DG5<O5 6 ?D>F5EE5 ?D><76>4EF64 EFD><F5?L=>-

<>=F46=OE D45>F 75><5FD<G5E><5 ?4D4<5FDO E>>DG65=<=, <5F>4O 75>457<G5E>>7> >>=FD>?O, 

?>DO4>> < >5N5< 57> ?D>6545=<O 4>?6=O 5OFL GEF4=>6?5=O ?D>5>F>< ?D><76>4EF64 

75>457<G5E><E D45>F (%� 126.13330.2017). �5>457<G5E><= >>=FD>?L F>G=>EF< 75><5FD<G5E><E 

?4D4<5FD>6 E>>DG65=<=, 6 F>< G<E?5 <E?>?=<F5?L=O5 75>457<G5E><5 EN5<>< =4 6E5E MF4?4E 

EFD><F5?LEF64, E?54G5F >EGM5EF6?OFL >D74=<74F<O<, 6O?>?=ONM<< MF< D45>FO. 

�?4=>6>5 < 6OE>F=>5 ?>?>65=<5 M?5<5=F>6, >>=EFDG>F<= < G4EF5= E>>DG65=<=, <E 

65DF<>4?L=>EFL, ?>?>65=<5 4=>5D=OE 5>?F>6 < 74>?44=OE 45F4?5= E?54G5F >?D545?OFL >F 

7=4>>6 6=GFD5==5= D475<6>G=>= E5F< E>>DG65=<O <?< >D<5=F<D>6, >>F>DO5 <E?>?L7>64?<EL 

?D< 6O?>?=5=<< D45>F, 4 M?5<5=F>6 <=65=5D=OE E5F5= - >F 7=4>>6 D475<6>G=>= E5F< 

EFD><F5?L=>= ??>M44><, 6=5L=5= D475<6>G=>= E5F< <?< >F F65D4OE F>G5> >4?<F4?L=OE 

E>>DG65=<=. 

�5D54 =4G4?>< D45>F =5>5E>4<<> ?D>65D<FL =5<7<5==>EFL ?>?>65=<O ?G=>F>6 E5F< < 

>D<5=F<D>6. �>7D5L=>EFL <7<5D5=<= 6 ?D>F5EE5 75>457<G5E>>7> >>=FD>?O F>G=>EF< 

75><5FD<G5E><E ?4D4<5FD>6 E>>DG65=<=, 6 F>< G<E?5 ?D< <E?>?=<F5?L=OE EN5<>4E 

<=65=5D=OE E5F5=, 4>?6=4 5OFL =5 5>?55 0,2 65?<G<=O >F>?>=5=<=, 4>?GE>45<OE 
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EFD><F5?L=O<< =>D<4<< < ?D46<?4<<, 7>EG44DEF65==O<< EF4=44DF4<< <?< ?D>5>F=>= 

4>>G<5=F4F<5=. $57G?LF4FO 75>457<G5E>>= (<=EFDG<5=F4?L=>=) ?D>65D>< ?D< >?5D4F<>==>< 

>>=FD>?5 4>?6=O 5OFL 74D<>E<D>64=O 6 >5M5< 6GD=4?5 D45>F. �> D57G?LF4F4< 

<E?>?=<F5?L=>= 75>457<G5E>>= EN5<>< M?5<5=F>6, >>=EFDG>F<= < G4EF5= E>>DG65=<= E?54G5F 

E>EF46?OFL <E?>?=<F5?L=O5 EE5<O, 4 4?O ?>475<=OE <=65=5D=OE E5F5= - <E?>?=<F5?L=O5 

G5DF56<, >4> ?D46<?>, 6 <4ELF455 E>>F65FEF6GNM<E D45>G<E G5DF565=, >FD464NM<5 

??4=>6>5 < 6OE>F=>5 ?>?>65=<5 6=>6L ?D>?>65==OE <=65=5D=OE E5F5=. � =5>5E>4<<OE 

E?GG4OE >4> ?D<?>65=<5 E?54G5F E>EF46?OFL >4F4?>7 >>>D4<=4F < 6OE>F M?5<5=F>6 E5F5=. 

�E?>?=<F5?L=O5 EE5<O < G5DF56<, E>EF46?5==O5 ?> D57G?LF4F4< <E?>?=<F5?L=>= EN5<><, 

E?54G5F <E?>?L7>64FL ?D< ?D<5<>G=>< >>=FD>?5, E>EF46?5=<< <E?>?=<F5?L=>= 4>>G<5=F4F<< 

< >F5=>5 >4G5EF64 EFD><F5?L=>-<>=F46=OE D45>F. 

13.2 �45>D4F>D=O= >>=FD>?L 

�4 EFD><F5?L=>= ??>M44>5 E>7445FEO E<?4<< ?>4DO4=>= >D74=<74F<< ?45>D4F>D=O= 

?>EF ?> >>=FD>?N >4G5EF64. �>EF 6E>4<F 6 E>EF46 EFD><F5?L=>= ?45>D4F>D<<, <<5NM5=EO G 

75=5D4?L=>7> ?>4DO4G<>4. �4 ?45>D4F>D=O= ?>EF 6>7?474NFEO E?54GNM<5 DG=>F<<: 

3 GG4EF<5 6 ?D>6545=<< 6E>4=>7> >>=FD>?O >4G5EF64 <4F5D<4?>6 < >>=EFDG>F<=, 

<E?>?L7G5<OE 6 EFD><F5?LEF65; 

3 GG4EF<5 6 >?5D4F<>==>< >>=FD>?5 >E=>6=OE EFD><F5?L=OE ?D>F5EE>6 < 6<4>6 

D45>F, ?D54GE<>FD5==OE EE5<4<< >?5D4F<>==>7> >>=FD>?O; 

3 ?D>6545=<5 6O5>D>G=>7> >>=FD>?O 74 E>5?N45=<5< 7444==>= F5E=>?>7<< 

?D><76>4EF64 D45>F; 

3 >F5>D ?D>5 7DG=F4, 55F>==OE < D4EF6>D=OE E<5E5=, <77>F>6?5=<5 >5D47F>6 < 

?D>6545=<5 >>=FD>?L=OE <E?OF4=<= < <7<5D5=<= ?D< >?5D4F<>==>< < ?D<5<>G=>< >>=FD>?5 

E 6O44G5= 74>?NG5=<= ?> <E D57G?LF4F4<; 

3 GG4EF<5 6 >?D545?5=<< >4G5EF64 EFD><F5?L=>-<>=F46=OE D45>F ?D< ?D<5<>5 <E >F 

<E?>?=<F5?5= (5D<744, 765=L56). 

13.3 �=EFDG<5=F4?L=O= >>=FD>?L 

�5F>4O < ED54EF64 <=EFDG<5=F4?L=>7> >>=FD>?O >4G5EF64 ?D< EFD><F5?LEF65 

E>>DG65=<= ?D<6545=O 6 F45?<F5 13.1. 

&45?<F4 13.1- %D54EF64 <=EFDG<5=F4?L=>7> >>=FD>?O 

�<4 D45>F �D>F54GD4 >>=FD>?O �4<<5=>64=<5 ?D<5>D>6, <=EFDG<5=F>6 

�5<?O=O5 D45>FO 
�<=5==O5 < G7?>6O5 D47<5DO &5>4>?<F, =<65?<D, DG?5F>4 

�OE>F=O5 >F<5F>< �<65?<D, DG?5F>4 
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14 �5D5G5=L FD55>64=<=, >>F>DO5 4>?6=O 5OFL GGF5=O 6 D45>G5= 
4>>G<5=F4F<<, D47D454FO645<>= =4 >E=>64=<< ?D>5>F=>= 4>>G<5=F4F<<, 6 
E6O7< E ?D<=OFO<< <5F>44<< 6>76545=<O EFD><F5?L=OE >>=EFDG>F<= < 
<>=F464 >5>DG4>64=<O 

�>E>>?L>G ?D>5>F<DG5<O= >5N5>F =5 O6?O5FEO E?>6=O< (EF5?5=L E?>6=>EF< 

EFD>OM57>EO >5N5>F4 >?D545?5=4 6 E>>F65FEF6<< E ?. 5.1 ��% 12-81.2007), >E>5OE 

FD55>64=<=, >>F>DO5 4>?6=O 5OFL GGF5=O 6 D45>G5= 4>>G<5=F4F<<, D47D454FO645<>= =4 

>E=>65 ?D>5>F=>= 4>>G<5=F4F<< 6 E6O7< E ?D<=OFO<< <5F>44<< 6>76545=<O EFD><F5?L=OE 

>>=EFDG>F<= < <>=F464 >5>DG4>64=<O =5F. 

�5F>4O ?D><76>4EF64 D45>F O6?ONFEO F<?>6O<<, 6 E6O7< E G5< E?5F<4?L=O5 

FD55>64=<O > D47D45>F>5 D45>G5= 4>>G<5=F4F<< =5 ?D54NO6?ONFEO. 

�4 6E5 6<4O D45>F, <7?>65==OE 6 ��%, D47D454FO64NFEO F5E=>?>7<G5E><5 >4DFO =4 

EF44<< D47D45>F>< ��$. 
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15 �5>E=>64=<5 ?>FD55=>EF< 6 6<?L5 < E>F<4?L=>-5OF>6>< 
>5E?G6<64=<< ?5DE>=4?4, GG4EF6GNM57> 6 EFD><F5?LEF65, D5>>=EFDG>F<<, 
>4?<F4?L=>< D5<>=F5 

�D>6<64=<5 EFD><F5?L=OE D45>G<E =4 ?5D<>4 D45>G5= 64EFO ?D54GE<>FD5=> =4 ��� 

.%4, >>F>D4O <<55F D476<FGN E>F<4?L=GN <=DD4EFDG>FGDG E =5>5E>4<<O<< >5N5>F4<< 

E>F<4?L=> - 5OF>6>7> =47=4G5=<O, E >55E?5G5=<5< ??>M44< 6 <2 =4 >4=>7> D45>F4NM57> 

(F45?<F4 15.1).  

��� .%4 =4E>4<FEO =4 D4EEF>O=<< 24,0 >< >F >5N5>F>6 EFD><F5?LEF64. 

&45?<F4 15.1- $4EG5F ?>FD55=>EF< 6 6<?L5  

�4<<5=>64=<5  

%?<E>G=>5  

>>?<G5EF6> 

D45>F4NM<E, 

G5?>65> 

�><5=>?4FGD4 

$4EG5F=O= 

?>>474F5?L, 

<2/G5?>65>4 

�>FD55=4O 

??>M44L 

6<?LO, <2 

�?>M44>4 D47654>G=>= E>646<=O   

.%4-9$ 
30 

�<?L5 4?O 

EFD><F5?5= 
6 198 

 

'E?>6<O 6<7=5>55E?5G5=<O 6 <5EF4E 6D5<5==>7> ?D>6<64=<O 4>?6=O E>>F65FEF6>64FL 

FD55>64=<O< %� 2.2.3670-20. 

%F<D>4 E?5F>4564O, =4F5?L=>7> 55?LO EFD><F5?5= ?D54GE<>FD5=4 6 ?D4G5G=>=  

��� .%4.  

�>474=<5 <54<F<=E>>= ?><>M<, EF4F<>=4D=>5 ?5G5=<5 6 E?GG45 =5>5E>4<<>EF< 

?5DE>=4? ?>?GG45F 6 ?>E. %65F?O=. �E5 45=EF6<O EFD>7> D57?4<5=F<D>64=O < ?D>?<E4=O 6 

?>?>65=<< ?> >>474=<N ?5D6>= < M>EFD5==>= <54<F<=E>>= ?><>M<. 

�E5 5OF>6O5 ?><5M5=<O 4>?6=O 5OFL G>><??5>F>64=O 4?F5G>4<< 4?O >>474=<O 

?5D6>= ?><>M< E>7?4E=> ?. 13.5 %� 2.2.3670-20. 

�4 ??>M44>4E EFD><F5?LEF64 <<5NFEO 5OF>6O5 ?><5M5=<O, >5>DG4>64==O5 

?><5M5=<5< 4?O ?D>EGL>< >4564O, ?<FL56>= 6>4>= < 4?F5G>4<< 4?O >>474=<O ?5D6>= 

?><>M<. �>?>?=<F5?L=OE E>>DG65=<= 6<?>7> < E>F<4?L=>-5OF>6>7> =47=4G5=<O =5 

FD55G5FEO. 

15.1 %6545=<O > 4<E?>>4F<< D45>G<E <5EF < GE?>6<OE FDG44 =4 MF<E <5EF4E  

$45>G<5 <5EF4 EFD><F5?5= >D74=<7GNFEO =4 >F>DOF>= F5DD<F>D<<, 6 >45<=4E 

FD4=E?>DF=OE ED54EF6, 6 44<<=<EFD4F<6=>-5OF>6OE ?><5M5=<OE. 

�5M4O >F5=>4 GE?>6<= FDG44 ?> EF5?5=< 6D54=>EF< < >?4E=>EF< GEF4=46?<645FEO ?> 

=4<5>?55 6OE>>><G >?4EEG < EF5?5=< 6D54=>EF<, F.5. >?4EE GE?>6<= FDG44 E>>F65FEF6G5F 3.1 

(?5D64O EF5?5=L >?4EE4 3).  



 

 

      

/%�/&��/99-24/��%.&' 

�<EF 

      57 
�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4 

 

�
74

<
. 

<
=

6
. 

7
 

 

�
>

4
?

<
EL

 <
 4

4F
4 

 

�
=

6
. 
7

  
?

>
4

?
. 

 

�F5=>4 GE?>6<= FDG44 ?> EF5?5=< 6D54=>EF< < >?4E=>EF< ?D>6>4<FEO D45>F>44F5?5< 

?D< 4FF5EF4F<< D45>G<E <5EF 6 E>>F65FEF6<< E $2.2.2006-05. 

�F5=>4 GE?>6<= FDG44 D45>F=<>4 ?> EF5?5=< 6D54=>EF< < >?4E=>EF< ?D54EF46?5=4 6 

F45?<F5 15.2. 

&45?<F4 15.23 �F5=>4 GE?>6<= FDG44 D45>F=<>4 ?> EF5?5=< 6D54=>EF< < >?4E=>EF< 

�<E?>>4F<O D45>G<E <5EF �?4EE GE?>6<O FDG44 

$45>G<5 <5EF4 =4 >F>DOF>= ??>M44>5 �5D64O EF5?5=L >?4EE4 3 

$45>G<5 <5EF4 6 >45<=4E EFD><F5?L=>= F5E=<>< < 

46F>FD4=E?>DF=OE ED54EF6 
�>?GEF<<O= < 6D54=O= 

$45>G<5 <5EF4 6 44<<=<EFD4F<6=>-5OF>6OE 

?><5M5=<OE 
�>?GEF<<O= 

15.2 �F5=>4 GE?>6<= FDG44 

�D>5>FO ?D><76>4EF65==OE >5N5>F>6 4>?6=O E>EF46?OFLEO E GG5F>< FD55>64=<= 

?D54?>?4745<>7> E4D4>F5D4 (FO65EF< < =4?DO65==>EF<) FDG44 ?> 45=EF6GNM<< 

7<7<5=<G5E><< >D<F5D<O< < 45<>7D4D<G5E>>= E<FG4F<< 6 D57<>=5 (44==OE > 6>7D4EF=>-

?>?>6>= EFDG>FGD5 =4E5?5=<O, <4F5D<4?O F5DD<F>D<4?L=OE >D74=>6 E>F<4?L=>= 74M<FO 

=4E5?5=<O >5 <=64?<44E FDG4>E?>E>5=>7> 6>7D4EF4), 745 5G45F >EGM5EF6?OFLEO EFD><F5?LEF6>. 

$45>G<5 <5EF4 ?D< 6O?>?=5=<< EFD><F5?L=OE D45>F ?D< EFD><F5?LEF65, D5>>=EFDG>F<<, 

4>?6=O E>>F65FEF6>64FL E4=<F4D=>-7<7<5=<G5E><< FD55>64=<O<, 4 F4>65 FD55>64=<O< 

E4=<F4D=OE ?D46<?. 

�>=F5=FD4F<< 6D54=OE 65M5EF6 6 6>74GE5 D45>G5= 7>=O, 4 F4>65 GD>6=< LG<4 < 

6<5D4F<< =4 D45>G<E <5EF4E =5 4>?6=O ?D56OL4FL GEF4=>6?5==OE E4=<F4D=OE =>D< < 

7<7<5=<G5E><E =>D<4F<6>6. 

�4D4<5FDO <<>D>>?<<4F4 4>?6=O E>>F65FEF6>64FL E4=<F4D=O< ?D46<?4< < =>D<4< ?> 

7<7<5=<G5E><< FD55>64=<O< > <<>D>>?<<4FG ?D><76>4EF65==OE ?><5M5=<=. 

'G4EF><, =4 >>F>DOE ?D>6>4OFEO D45>FO E ?O?56<4=O<< <4F5D<4?4<<, 4 F4>65 D45>G<5 

<5EF4 G <4L<= 4?O 4D>5?5=<O, D47<>?4 < ?D>E5<64=<O MF<E <4F5D<4?>6 >55E?5G<64NFEO 

4E?<D4F<>==O<< <?< 65=F<?OF<>==O<< E<EF5<4<< (?D>65FD<64=<5<). 

'?D46?5=<5 74F6>D4<<, ?<F4F5?O<< < <5E4=<7<4<< =4 GEF4=>6>4E 4?O ?5D5D45>F>< 

<765EF<, F5<5=F4, 7<?E4 < 4DG7<E ?O?56OE <4F5D<4?>6 E?54G5F >EGM5EF6?OFL E 6O=>E=OE 

?G?LF>6. 

�4L<=O < 47D574FO, E>744NM<5 LG< ?D< D45>F5, E?54G5F M>E??G4F<D>64FL F4><< 

>5D47><, GF>5O GD>6=< 76G>4 =4 D45>G<E <5EF4E, =4 GG4EF>4E < =4 F5DD<F>D<< EFD><F5?L=>= 

??>M44>< =5 ?D56OL4?< 4>?GEF<<OE 65?<G<=, G>474==OE 6 E4=<F4D=OE =>D<4E. 
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�D< M>E??G4F4F<< <4L<=, 4 F4>65 ?D< >D74=<74F<< D45>G<E <5EF 4?O GEFD4=5=<O 

6D54=>7> 6>745=EF6<O =4 D45>F4NM<E ?>6OL5==>7> GD>6=O LG<4 E?54G5F ?D<<5=OFL: 

3 F5E=<G5E><5 ED54EF64 (G<5=LL5=<5 LG<4 <4L<= 6 <EF>G=<>5 57> >5D47>64=<O; 

?D<<5=5=<5 F5E=>?>7<G5E><E ?D>F5EE>6, ?D< >>F>DOE GD>6=< 76G>4 =4 D45>G<E <5EF4E  

=5 ?D56OL4NF 4>?GEF<<O5 < F.4.); 

3 4<EF4=F<>==>5 G?D46?5=<5; 

3 ED54EF64 <=4<6<4G4?L=>= 74M<FO; 

3 >D74=<74F<>==O5 <5D>?D<OF<O (6O5>D D4F<>=4?L=>7> D56<<4 FDG44 < >F4OE4, 

E>>D4M5=<5 6D5<5=< 6>745=EF6<O LG<>6OE D4>F>D>6 6 D45>G5= 7>=5, ?5G55=>-

?D>D<?4>F<G5E><5 < 4DG7<5 <5D>?D<OF<O). 

�>=O E GD>6=5< 76G>4 E6OL5 80 4�� >5>7=4G4NFEO 7=4>4<< >?4E=>EF<. $45>F4 6 MF<E 

7>=4E 557 <E?>?L7>64=<O ED54EF6 <=4<6<4G4?L=>= 74M<FO E?GE4 =5 4>?GE>45FEO. 

�5 4>?GE>45FEO ?D55O64=<5 D45>F4NM<E 6 7>=4E E GD>6=O<< 76G>4 6OL5 135 4��. 

�D><76>4EF65==>5 >5>DG4>64=<5, 75=5D<DGNM55 6<5D4F<N, 4>?6=> E>>F65FEF6>64FL 

FD55>64=<O< E4=<F4D=OE =>D<. 

�?O GEFD4=5=<O 6D54=>7> 6>745=EF6<O 6<5D4F<< =4 D45>F4NM<E E?54G5F 

?D54GE<4FD<64FL E?54GNM<5 <5D>?D<OF<O: 

3 E=<65=<5 6<5D4F<< 6 <EF>G=<>5 55 >5D47>64=<O >>=EFDG>F<6=O<< <?< 

F5E=>?>7<G5E><<< <5D4<<; 

3 G<5=LL5=<5 6<5D4F<< =4 ?GF< 55 D4E?D>EFD4=5=<O ED54EF64<< 6<5D><7>?OF<< < 

6<5D>?>7?>M5=<O; 

3 4<EF4=F<>==>5 G?D46?5=<5, <E>?NG4NM55 ?5D544GG 6<5D4F<< =4 D45>G<5 <5EF4; 

3 ED54EF64 <=4<6<4G4?L=>= 74M<FO; 

3 >D74=<74F<>==O5 <5D>?D<OF<O (D4F<>=4?L=O5 D56<<O FDG44 < >F4OE4, ?5G55=>-

?D>D<?4>F<G5E><5 < 4DG7<5 <5D>?D<OF<O). 

$45>G<5 <5EF4, 745 ?D<<5=ONFEO <?< ?D<7>F>6?ONFEO >?5<, <4EF<><, >D4E>< < 4DG7<5 

<4F5D<4?O, 6O45?ONM<5 6D54=O5 65M5EF64, >55E?5G<64NFEO ?D>65FD<64=<5<, 4 74>DOFO5 

?><5M5=<O >5>DG4GNFEO <5E4=<G5E>>= E<EF5<>= 65=F<?OF<<. 

$45>G<5 <5EF4 ?D< F5E=<G5E>>< >5E?G6<64=<< < F5>GM5< D5<>=F5 <4L<=, 

FD4=E?>DF=OE ED54EF6, ?D><76>4EF65==>7> >5>DG4>64=<O < 4DG7<E ED54EF6 <5E4=<74F<< 

>5>DG4GNFEO 7DG7>?>4N5<=O<< ?D<E?>E>5?5=<O<<. 

�E65M5=<5 D45>G<E <5EF 4>?6=> E>>F65FEF6>64FL FD55>64=<O< D4745?4 2 =4EF>OM<E 

E4=<F4D=OE ?D46<?. 
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�D< 6O?>?=5=<< EFD><F5?L=>-<>=F46=OE D45>F, ?><<<> >>=FD>?O 74 6D54=O<< 

?D><76>4EF65==O<< D4>F>D4<<, >5GE?>6?5==O<< EFD><F5?L=O< ?D><76>4EF6><, 

>D74=<7G5FEO ?D><76>4EF65==O= >>=FD>?L 74 E>5?N45=<5< E4=<F4D=OE ?D46<? 6 

GEF4=>6?5==>< ?>DO4>5. 

�>=FD>?N ?>4?564F 6E5 <<5NM<5EO =4 D45>G5< <5EF5 >?4E=O5 < 6D54=O5 

?D><76>4EF65==O5 D4>F>DO FDG4>6>7> ?D>F5EE4: 

3 >>=FD>?L 74 LG<>< 3�' 1844-78; 

3 >>=FD>?L 74 6<5D4F<5= 3�' 3911-85; 

3 >>=FD>?L 74 M?5>FD>557>?4E=>EFLN - ��%& 12.1.019-2017, ��%& 12.1.045-84; 

3 >>=FD>?L 74 >E65M5==>EFLN 3 %� 52.13330.2016, �' 2.2.4.706-98. 

�4L<=O < 47D574FO, E>744NM<5 LG< ?D< D45>F5, E?54G5F M>E??G4F<D>64FL F4><< 

>5D47><, GF>5O GD>6=< 76G>4 =4 D45>G<E <5EF4E, =4 GG4EF>4E < =4 F5DD<F>D<< EFD><F5?L=>= 

??>M44>< =5 ?D56OL4?< 4>?GEF<<OE 65?<G<=, G>474==OE 6 E4=<F4D=OE =>D<4E.  

%>7?4E=> D57G?LF4F4< D4EG5F4 LG<>6>7> 6>745=EF6<O, =4 ?5D<>4 EFD><F5?LEF64 (E<. ?. 

4.2 F><4 8.1.1), ?D56OL5=<= 4>?GEF<<>7> GD>6=O LG<4 =4 ?D>5>F<DG5<>< >5N5>F5, >FEGFEF6G5F 

(6 E>>F65FEF6<< E %� 51.13330.2011 < %4=�<� l.2.3685-21). &4>65 D4=>= ?D>6545=<O D45>F 

=4E>4<FEO 6=5 E5?<F55=OE F5DD<F>D<=, E4=<F4D=>->GD>DF=OE 7>=, F5DD<F>D<= 

E5?LE>>E>7O=EF65==>7> =47=4G5=<O (E =4?<G<5< E?5F<4?L=OE FD55>64=<=), 74?>654=<>>6, 

74>47=<>>6, F5DD<F>D<=.  

�D>5>F>< ?D54GE<4FD<64NFEO E?54GNM<5 <5D>?D<OF<O ?> 74M<F5 >F LG<>6>7> 

6>745=EF6<O D45>G57> ?5DE>=4?4 6 ?5D<>4 EFD><F5?LEF64: 

- EFD><F5?L=O5 D45>FO ?D>6>4<FL 6 4=56=>5 6D5<O EGF>> <<=<<4?L=O< 

>>?<G5EF6>< <4L<= < <5E4=<7<>6; 

- 4?O D45>F <E?>?L7G5FEO EFD><F5?L=O= FD4=E?>DF E 7?GL<F5?O<< 6 <E?D46=>< 

E>EF>O=<<;  

- D4EED54>F>G5=<5 ?> 6D5<5=< D45>FO F5E=<>< E 6OE>><< GD>6=5< LG<4 

(5G?L4>75D, M>E>464F>D < F.?.);  

- >7D4=<G5=<5 E>>D>EF< 46<65=<O 46F><4L<= ?> EFD>=??>M44>5; 

- 76G>><7>?OF<O >45<=, >4?>F>6 < ?>4>4?>F=>7> ?D>EFD4=EF64 EFD><F5?L=>= 

F5E=<>< ?>76>?O5F E=<7<FL GD>65=L LG<4 =4 5 4��; 

- ?D<<5=5=<5 ED54EF6 <=4<6<4G4?L=>= 74M<FO >F LG<4 (?D>F<6>LG<=O5 

=4GL=<><, 6>?44OL<, L?5<O, >4E><). 

�?O E=<65=<O LG<4 < 6<5D4F<< >F 46<74F5?O �-% ?D54GE<>FD5=O E?54GNM<5 

<5D>?D<OF<O: 
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-  >E=4M5=<5 4<75?L-75=5D4F>D4 6<5D><7>?OF>D>< 4?O E=<65=<O 6<5D4F<< 

46<74F5?O =4 D4<G < 4?O E=<65=<O LG<4;  

-  GEF4=>6>4 =4 4<75?L-75=5D4F>D5 7?GL<F5?O 6OE?>?4, E=<64NM57> ?5D544GG 

LG<4 G5D57 6OE?>?=>= FDG5>?D>6>4;   

-  F5??><7>?OF<O 6OE?>?=>7> FDG5>?D>6>44 < 7?GL<F5?O 4?O 76G>><7>?OF<< < 

G<5=LL5=<O LG<4 E=4DG6< >>=F5==5D4 �-%;  

-  >5>DG4>64=<5 65=F<?OF<>==OE >F65DEF<= >>=F5==5D4 �-% 64?N7O<< < 

>>7ODL>4<<, G<5=LL4NM<<< ?D>=<>=>65=<5 LG<4 <7 >>=F5==5D4 =4DG6G.  

-?5>FD><47=<F=>5 6>745=EF6<5 >FEGFEF6G5F.  

�E=>6=O<< <5D>?D<OF<O<< ?> 74M<F5 >F 6<5D4F<< O6?ONFEO:  

3 6D5<5==>5 6O>?NG5=<5 =5<E?>?L7G5<>= 6<5D<DGNM5= F5E=<><;  

3 =44?564M55 >D5??5=<5 6<5D<DGNM5= F5E=<><, ?D54GE<>FD5==>5 ?D46<?4<< 55 

M>E??G4F4F<<;  

3 6<5D><7>?OF<O <4L<= < 47D574F>6. 
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16 �5D5G5=L <5D>?D<OF<= < ?D>5>F=OE D5L5=<= ?> >?D545?5=<N 
F5E=<G5E><E ED54EF6 < <5F>4>6 D45>FO, >55E?5G<64NM<E 6O?>?=5=<5 
=>D<4F<6=OE FD55>64=<= >ED4=O FDG44 

16.1 �ED4=4 FDG44 

%>7?4E=> �D<>47G �<=<EF5DEF64 74D46>>ED4=5=<O  < �<=<EF5DEF64 FDG44 < 

E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 31 45>45DO 2020 7>44 N 988=/1420= «�5 

GF65D645=<< ?5D5G=O 6D54=OE < (<?<) >?4E=OE ?D><76>4EF65==OE D4>F>D>6 < D45>F, ?D< 

6O?>?=5=<< >>F>DOE ?D>6>4OFEO >5O74F5?L=O5 ?D5464D<F5?L=O5 <54<F<=E><5 >E<>FDO ?D< 

?>EFG??5=<< =4 D45>FG < ?5D<>4<G5E><5 <54<F<=E><5 >E<>FDO» ?>4?564F ?D5464D<F5?L=O< 

< ?5D<>4<G5E><< <54<F<=E><< >E<>FD4< D45>F=<>< EFD><F5?L=OE E?5F<4?L=>EF5= 

6O?>?=ONM<5: 

ý D45>FO =4 6OE>F5, 65DE>?47=O5 D45>FO (65DE>?47=O<< EG<F4NFEO 6E5 D45>FO, >>744 

>E=>6=O< ED54EF6>< ?D54>ED4=5=<O D45>F=<>>6 >F ?445=<O E 6OE>FO 6> 6E5 <><5=FO D45>FO 

< ?5D546<65=<O O6?O5FEO ?D54>ED4=<F5?L=O= ?>OE); 

ý D45>FO >D4=>6M<>4 (<4L<=<EF4 >D4=4); 

ý D45>FO 6 =5DFO=>= < 747>6>= ?D><OL?5==>EF<, 6O?>?=O5<O5 6 D4=>=4E �D4==57> 

%565D4 < ?D<D46=5==OE > =<< <5EF=>EFOE, ?GEFO==OE < 4DG7<E >F44?5==OE < =54>EF4F>G=> 

>56<FOE D4=>=4; 

ý D45>FO, E6O74==O5 E ?D<<5=5=<5< ?57>>6>E??4<5=ONM<EEO < 67DO6G4FOE 

<4F5D<4?>6, D45>FO 6> 67DO6>- < ?>64D>>?4E=OE ?D><76>4EF64E. 

�>DO4>> ?D>6545=<O ?D5464D<F5?L=OE < ?5D<>4<G5E><E <54<F<=E><E >E<>FD>6 

(>5E?54>64=<=) D45>F=<>>6, 74=OFOE =4 6D54=OE D45>F4E < =4 D45>F4E E 6D54=O<< < (<?<) 

>?4E=O<< ?D><76>4EF65==O<< D4>F>D4<< <7?>65= 6 ?D<?>65=<< 3 > 6OL5G>474==><G 

?D<>47G �<=<EF5DEF64 $$. 

$57?4<5=F<DG5<O5 ?5D5DO6O 4?O D45>F4NM<E ?D< EFD><F5?LEF65 E>7?4E=> 

6=GFD5==5<G FDG4>6><G D4E?>DO4>G =4 >E=>64=<<: 

ý cF. 108 &DG4>6>7> >>45>E4 $>EE<=E>>= $545D4F<< >F 30.12.2001 7 197-$�: «� 

F5G5=<5 D45>G57> 4=O D45>F=<>G 4>?65= 5OFL ?D54>EF46?5= ?5D5DO6 4?O >F4OE4 < ?<F4=<O 

?D>4>?6<F5?L=>EFLN =5 5>?55 46GE G4E>6 < =5 <5=55 30 <<=»;  

ý EF. 109 &DG4>6>7> >>45>E4 $>EE<=E>>= $545D4F<< >F 30.12.2001 7 197-$�: 

«$45>F=<>4<, D45>F4NM<< 6 E>?>4=>5 6D5<O 7>44 =4 >F>DOF>< 6>74GE5 <?< 6 74>DOFOE  

=5 >5>7D5645<OE ?><5M5=<OE, 6 =5>5E>4<<OE E?GG4OE ?D54>EF46?ONFEO E?5F<4?L=O5 

?5D5DO6O 4?O >5>7D564 < >F4OE4, >>F>DO5 6>?NG4NFEO 6 D45>G55 6D5<O. 
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$45>FO =4 EFD><F5?L=>= ??>M44>5 6 ?5D<>4 >FD<F4F5?L=OE F5<?5D4FGD ?D><76>4OFEO 6 

EFD>7>< E>>F65FEF6<< E E4=<F4D=O<< ?D46<?4<< %� 2.2.3670-20 «%4=<F4D=>-

M?<45<<>?>7<G5E><5 FD55>64=<O > GE?>6<O< FDG44». 

$56<< FDG44 < >F4OE4 D57?4<5=F<DG5FEO E4=<F4D=O<< ?D46<?4<< %� 2.2.3670-20 

«%4=<F4D=>-M?<45<<>?>7<G5E><5 FD55>64=<O > GE?>6<O< FDG44», 4 F4>65 �$ 2.2.7.2129-06.  

�>?GEF<<4O ?D>4>?6<F5?L=>EFL ?D55O64=<O =4 >F>DOF>= F5DD<F>D<< 74 D45>GGN 

E<5=G 6> II >?<<4F<G5E>>< D57<>=5 (III >?<<4F<G5E><= ?>OE) 6 746<E<<>EF< >F F5<?5D4FGDO 

6>74GE4 < GD>6=O M=5D7>74FD4F >?D545?O5FEO ?> F45?<F5 4 �$ 2.2.7.2129-06. 

$56<< D45>F =4 >F>DOF>= F5DD<F>D<< 6 >?<<4F<G5E>>< D57<>=5 II >?D545?O5FEO ?> 

F45?<F5 8 �$ 2.2.7.2129-06. 

$<7<G5E><5 >?4E=O5 < 6D54=O5 ?D><76>4EF65==O5 D4>F>DO 6 ?5D<>4 EFD><F5?LEF64 

?>4D4745?ONFEO =4: 

ý 46<6GM<5EO <4L<=O < <5E4=<7<O, ?>46<6=O5 G4EF< ?D><76>4EF65==>7> 

>5>DG4>64=<O; 

ý ?>=<65==4O F5<?5D4FGD4 6>74GE4 D45>G5= 7>=O; 

ý ?>6OL5==O= GD>65=L LG<4 =4 D45>G5< <5EF5; 

ý ?>6OL5==>5 7=4G5=<5 =4?DO65=<O 6 M?5>FD<G5E>>= F5?<, 74<O>4=<5 >>F>D>= 

<>65F ?D><7>=F< G5D57 F5?> G5?>65>4; 

ý >FEGFEF6<5 <?< =54>EF4F>> 5EF5EF65==>7> E65F4; 

ý =54>EF4F>G=4O >E65M5==>EFL D45>G5= 7>=O; 

ý >EFDO5 >D><><, 74GE5=<FO < L5D>E>64F>EFL =4 ?>65DE=>EF< 747>F>6>>, 

<=EFDG<5=F>6 < >5>DG4>64=<O; 

ý D4E?>?>65=<5 D45>G57> <5EF4 =4 7=4G<F5?L=>= 6OE>F5 >F=>E<F5?L=> ?>65DE=>EF< 

75<?< (?>?4). 

�7<5D5=<5 < >F5=>4 D4>F>D>6 ?D><76>4EF65==>= ED54O < FDG4>6>7> ?D>F5EE4 

D45>F4NM<E ?D><76>4OFEO 4?O: 

ý GEF4=>6?5=<O E>>F65FEF6<O D4>F<G5E><E GD>6=5= 6D54=OE D4>F>D>6 7<7<5=<G5E><< 

=>D<4F<64< < >F=5E5=<O GE?>6<= FDG44 > >?D545?5==><G >?4EEG 6D54=>EF< < >?4E=>EF< >4> 

>F45?L=> ?> >464><G D4>F>DG, F4> < ?D< <E E>G5F4=<<; 

ý >5>E=>64=<O <E?>?L7>64=<O ED54EF6 <=4<6<4G4?L=>= 74M<FO; 

ý GEF4=>6?5=<O E6O7< E>EF>O=<O 74>D>6LO D45>F4NM<E E GE?>6<O<< FDG44; 

ý D47D45>F>< <5D>?D<OF<= ?> >74>D>6?5=<N GE?>6<= FDG44. 
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�D>7D4<<4 ?D><76>4EF65==>7> >>=FD>?O E>EF46?O5FEO =4 >E=>64=<< �>?>65=<O > 

?D><76>4EF65==>< >>=FD>?5, D47D454FO645<>7> >D74=<74F<5=, 654GM5= >5GEFD>=EF6> <?< 

M>E??G4F4F<N >?4E=>7> ?D><76>4EF65==>7> >5N5>F4, 6 E>>F65FEF6<< $545D4?L=O< 74>>=>< >F 

21.07.1997 7 116-$� «� ?D><OL?5==>= 557>?4E=>EF< >?4E=OE ?D><76>4EF65==OE 

>5N5>F>6», < E>7?4E>64==>7> E F5DD<F>D<4?L=O<< >D74=4<< $>EF5E=447>D4.  

$45>F=<>4<, 74=OFO< =4 D45>F4E E 6D54=O<< <?< >?4E=O<< GE?>6<O<< FDG44, 4 F4>65 

=4 D45>F4E, 6O?>?=O5<OE 6 >E>5OE F5<?5D4FGD=OE GE?>6<OE, <?< =4 D45>F4E, E6O74==OE E 

747DO7=5=<5<, 6O44NFEO 55E??4F=> E5DF<D<F<D>64==O5 E?5F<4?L=4O >45644, E?5F<4?L=4O 

>5G6L < 4DG7<5 ED54EF64 <=4<6<4G4?L=>= 74M<FO ?> &<?>6O< >FD4E?56O< =>D<4<, 

GF65D645==O< �D<>47>< �<=FDG44 $>EE<< >F 01.11.2013 7 652= «�5 GF65D645=<< &<?>6OE 

=>D< 55E??4F=>= 6O44G< E?5F<4?L=>= >4564O, E?5F<4?L=>= >5G6< < 4DG7<E ED54EF6 

<=4<6<4G4?L=>= 74M<FO D45>F=<>4< 7>D=>= < <5F4??GD7<G5E>>= ?D><OL?5==>EF< < 

<5F4??GD7<G5E><E ?D><76>4EF6 4DG7<E >FD4E?5= ?D><OL?5==>EF<, 74=OFO< =4 D45>F4E E 

6D54=O<< < (<?<) >?4E=O<< GE?>6<O<< FDG44, 4 F4>65 =4 D45>F4E, 6O?>?=O5<OE 6 >E>5OE 

F5<?5D4FGD=OE GE?>6<OE <?< E6O74==OE E 747DO7=5=<5<». 

�5D5G5=L =>D< 55E??4F=>= 6O44G< E?5F<4?L=>= >4564O, E?5F<4?L=>= >5G6< < 4DG7<E 

ED54EF6 <=4<6<4G4?L=>= 74M<FO ?D54EF46?5=O 6 F45?<F5 16.1. 

&45?<F4 16.1 - %D54EF64 <=4<6<4G4?L=>= 74M<FO 

�4<<5=>64=<5 ED54EF6 <=4<6<4G4?L=>= 74M<FO �>D<4 6O44G< =4 7>4 (54<=<FO <?< >><??5>FO) 

1 2 

�4L<=<EF >D4=4 46F><>5<?L=>7>, 46F>7D5=45D4, 46F>6OL><, 6>4<F5?L 46F><>5<?O 

�><5<=57>= E?>?G4F>5G<46=O= 1 

%4?>7< D57<=>6O5 1 ?4D4 

$G>46<FO >><5<=<D>64==O5 6 ?4D 

 

�4M<F4 D45>F4NM<E 6 GE?>6<OE >FD<F4F5?L=OE F5<?5D4FGD 

$45>F4NM<< 6 E>?>4=>5 6D5<O 7>44 =4 >F>DOF>< 6>74GE5 <?< 6 =5>F4??<645<>< 

?><5M5=<< ?D54>EF46?ONFEO E?5F<4?L=O5 ?5D5DO6O 4?O >5>7D564 < >F4OE4. 

�5D5DO6O < ?D>4>?6<F5?L=>EFL ?5D5DO6>6 GEF4=46?<645FEO 44<<=<EFD4F<5= 

EFD><F5?LEF64 6 E>>F65FEF6<< E ?>EF4=>6?5=<5< <5EF=OE >D74=>6 6?4EF<. 

$45>FO 6 >E?4644NM5= ED545 ?D>6>4OFEO ?D< E>5?N45=<< FD55>64=<= > <5D4< 

74M<FO D45>F=<>>6 >F >E?4645=<O. 

�<F, ?D<EFG?4NM<E > D45>F5 =4 E>?>45, E?54G5F ?D><=D>D<<D>64FL > 57> 6?<O=<< =4 

>D74=<7< < <5D4E ?D54G?D5645=<O >E?4645=<O. 
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$45>F4NM<5 =4 >F>DOF>= F5DD<F>D<< 6 E>?>4=O= ?5D<>4 7>44 >55E?5G<64NFEO 

>><??5>F>< ED54EF6 <=4<6<4G4?L=>= 74M<FO >F E>?>44 3 DG>46<F4<<, >5G6LN, 7>?>6=O<< 

G5>D4<< E GG5F>< >?<<4F<G5E>>7> D57<>=4 (?>OE4). �D< MF>< >><??5>F %�� 4>?65= <<5FL 

?>?>6<F5?L=>5 E4=<F4D=> 3 M?<45<<>?>7<G5E>>5 74>?NG5=<5 E G>474=<5< 65?<G<=O 57> 

F5??><7>?OF<<. 

�D< D47D45>F>5 6=GFD<E<5==>7> D56<<4 D45>FO E?54G5F >D<5=F<D>64FLEO =4 

4>?GEF<<GN EF5?5=L >E?4645=<O D45>F4NM<E, D57?4<5=F<DG5<GN 6D5<5=5< =5?D5DO6=>7> 

?D55O64=<O =4 E>?>45 < 6D5<5=5< >5>7D564 6 F5?OE =>D<4?<74F<< F5??>6>7> E>EF>O=<O 

>D74=<7<4. 

� F5?OE =>D<4?<74F<< F5??>6>7> E>EF>O=<O D45>F=<>4 F5<?5D4FGD4 6>74GE4 6 <5EF4E 

>5>7D564 ?>445D6<645FEO =4 GD>6=5 >F 21 °% 4> 25 °%. �><5M5=<5 E?54G5F F4>65 >5>DG4>64FL 

GEFD>=EF64<<, F5<?5D4FGD4 >>F>DOE =5 4>?6=4 5OFL 6OL5 40 °% (35  °% - 40 °%), 4?O >5>7D564 

><EF5= < EF>?. 

�D>4>?6<F5?L=>EFL ?5D6>7> ?5D<>44 >F4OE4 4>?GE>45FEO >7D4=<G<FL 10 <<=, 

?D>4>?6<F5?L=>EFL >464>7> ?>E?54GNM57> E?54G5F G65?<G<64FL =4 ?OFL <<=GF. 

� F5?OE 5>?55 5OEFD>= =>D<4?<74F<< F5??>6>7> E>EF>O=<O < <5=LL5= E>>D>EF< 

>E?4645=<O >D74=<7<4 6 ?>E?54GNM<= ?5D<>4 ?D55O64=<O =4 E>?>45 6 ?><5M5=<< 4?O 

>5>7D564 E?54G5F E=<<4FL 65DE=NN GF5??5==GN >4564G. 

�> <75564=<5 ?5D5>E?4645=<O D45>F=<>4< =5 E?54G5F 6> 6D5<O ?5D5DO6>6 6 D45>F5 

=4E>4<FLEO =4 E>?>45 (=4 >F>DOF>= F5DD<F>D<<) 6 F5G5=<5 5>?55 10 <<= ?D< F5<?5D4FGD5 

6>74GE4 4> <<=GE 10 °% < =5 5>?55 ?OF< <<=GF ?D< F5<?5D4FGD5 6>74GE4 =<65 <<=GE 10 °%. 

�5D5DO6O =4 >5>7D56 <>7GF E>G5F4FLEO E ?5D5DO64<< =4 6>EEF4=>6?5=<5 

DG=>F<>=4?L=>7> E>EF>O=<O D45>F=<>4 ?>E?5 6O?>?=5=<O D<7<G5E>>= D45>FO. � >5545==O= 

?5D5DO6 D45>F=<> >55E?5G<645FEO «7>DOG<<» ?<F4=<5<. �4G<=4FL D45>FG =4 E>?>45 E?54G5F  

=5 D4=55, G5< G5D57 10 <<= ?>E?5 ?D<5<4 «7>DOG5=» ?<M< (G4O < 4D.). 

�D< F5<?5D4FGD5 6>74GE4 =<65 <<=GE 40 °% E?54G5F ?D54GE<4FD<64FL 74M<FG ?<F4 < 

65DE=<E 4OE4F5?L=OE ?GF5=. 

�4M<F4 D45>F4NM<E >F E>?=5G=>= D44<4F<< < 7=GE4 

� ?5F=55 6D5<O =>D<4?L=4O F5<?5D4FGD4 6=GFD< ?><5M5=<= 4>?6=4 5OFL >F 22 °% 4>  

23 °% < 6?46=>EFL 6>74GE4 40 % - 50 %. �>=4 < 465D< ?><5M5=<= 4>?6=O 5OFL 74FO=GFO 

E?5F<4?L=>= <5?>>= <5F4??<G5E>>= <?< =5=?>=>6>= E5F>>= E OG5=>4<< 1,00x1,00 <?< 

0,75x0,75 << 4?O 74M<FO >F >D>6>E>EGM<E =4E5>><OE (>><4DO, <>L><, <>>D<FO, E?5?=< < 

4D.). 
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�?O 74M<FO >F E>?=5G=>= D44<4F<< ?><5M5=<O 4>?6=O 5OFL >>D4L5=O 6 E65F?O5 

F>=4. 

� <5EF4E >F4OE4 D45>F4NM<E GEF4=46?<64NFEO =465EO, 7>=FO <7 F>4=< E65F?OE F>=>6 

E=4DG6< < F5<=OE <7=GFD<. 

�5F>< ?D< ?DO<>< 6>745=EF6<< E>?=5G=>= D44<4F<< =4 G5?>65>4 6>7=<>45F >?4E=>EFL 

?5D57D564 >D74=<7<4, GF> GEG4L45F E4<>GG6EF6<5 < E=<645F D45>F>E?>E>5=>EFL. � E6O7< E 

MF<< ?5F>< D5>><5=4G5FEO D45>FO ?D><76>4<FL 6 =4<5>?55 ?D>E?44=>5 6D5<O EGF>>. 

&>4=L, <7 >>F>D>= 45?45FEO E?5F>45644, 4>?6=4 5OFL =>E>>=, <O7>>=, ?57>>=, 

6>74GE>?D>=<F45<>= < =5 6O7O64FL D474D465=<O >>6<. 

�?O 74M<FO >F ?5D57D564=<O D5>><5=4G5FEO =44564FL E?>?G4F>5G<46=O5 E5F><, 

>>F>DO5 >5D47GNF 6>74GL=GN ?D>E?>=>G <564G >>65= < 65DE=5= DG54L>>=. -F4 6>74GL=4O 

?D>E?>=>4 >5?57G45F <E?4D5=<O ?>F4, G<5=LL45F ?D>?<FO64=<5 65DE=5= DG54L>< ?>F><, 

E>ED4=OO F5< E4<O< 6>74GE>?D>=<F45<>EFL < E?>E>5EF6G5F F<D>G?OF<< 6>74GE4 ?>4 

DG54L>>=. 

� ?5F=<= ?5D<>4, ?D>6<64O < D45>F4O 6 GE?>6<OE <4?>>56<FOE F5DD<F>D<=, ?N4< 

?>465D74NFEO <4EE>6><G =4?445=<N 7=GE4. � MF<E GE?>6<OE 7=GE =4=>E<F M>>=><<G5E><= 

GM5D5 ?D><76>4EF6G 6 D57G?LF4F5 E=<65=<O FDG4>E?>E>5=>EF< D45>F4NM<E. �>MF><G ?D< 

EFD><F5?LEF65 6 <5EF4E <4EE>6>7> 6O??>44 >><4D>6 (=57?G5>><5, E>D>L> ?D>7D5645<O5 

E>?=F5< 6>4>5<O, 7GEF4O E5FL D5>) =5>5E>4<<> ?D>6>4<FL E?5F<4?L=O5 <5D>?D<OF<O ?> <E 

G=<GF>65=<N. 

%4=<F4D=>-7<7<5=<G5E><5 FD55>64=<O 

'EFD>=EF6> < >5>DG4>64=<5 E4=<F4D=>-5OF>6OE 744=<= < ?><5M5=<=, 

?D54GE<>FD5==OE 6 ?D>5>F4E >D74=<74F<< < ?D><76>4EF64 D45>F 6=>6L EFD>OM<EEO 

(D5>>=EFDG<DG5<OE) >5N5>F>6, 4>?6=> 5OFL 7465DL5=> 4> =4G4?4 EFD><F5?L=OE D45>F. 

�?>M44>G 4?O D47<5M5=<O E4=<F4D=>-5OF>6OE ?><5M5=<= E?54G5F D4E?>?474FL =4 

=574F>??O5<>< GG4EF>5 < >5>DG4>64FL 55 6>4>>F6>4OM<<< EF>>4<<. 

%4=<F4D=>-5OF>6O5 ?><5M5=<O E?54G5F D47<5M4FL 6 E?5F<4?L=OE 744=<OE E5>D=>-

D475>D=>7> <?< ?5D546<6=>7> F<?4 (?> F<?>6O< ?D>5>F4<). 

�D>E>4O > E4=<F4D=>-5OF>6O< ?><5M5=<O< =5 4>?6=O ?5D5E5>4FL >?4E=O5 7>=O. 

�E5 D45>F4NM<5 4>?6=O 5OFL >55E?5G5=O E4=<F4D=>-5OF>6O<< ?><5M5=<O<< < 

GEFD>=EF64<<: 74D45D>5=O<<, 4GL56O<<, ?><5M5=<O<< 4?O EGL><, >5>7D564 < 

D57?4<5=F<D>64==>7> >F4OE4 6 E>>F65FEF6<< E 7<7<5=<G5E><<< =>D<4<<. 

�>?6=O 5OFL 6O45?5=O L>4DO 4?O ED4=5=<O 4?F5G5> E <54<>4<5=F4<< < 4DG7<E 

ED54EF6 >>474=<O ?5D6>= <54<F<=E>>= ?><>M< ?>EFD4446L<<. 
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�4 D45>F4E E 6D54=O<< GE?>6<O<< FDG44, 6 >E>5OE F5<?5D4FGD=OE GE?>6<OE <?< 

E6O74==OE E 747DO7=5=<5< D45>G<< < E?G64M<< ?> GEF4=>6?5==O< =>D<4< 6O445FEO 

E?5F>45644, E?5F>5G6L < 4DG7<5 ED54EF64 <=4<6<4G4?L=>= 74M<FO. 

$45>F=<>4<, 74=OFO< =4 D45>F4E E 6D54=O<< < >?4E=O<< GE?>6<O<< FDG44, 6O445FEO 

55E??4F=> E5DF<D<F<D>64==4O E?5F<4?L=4O >45644, E?5F<4?L=4O >5G6L < 4DG7<5 ED54EF64 

<=4<6<4G4?L=>= 74M<FO 6 E>>F65FEF6<< E =>D<4<<, GF65D645==O<< 6 ?>DO4>5, >?D545?5==>< 

�D46<F5?LEF6>< $>EE<=E>>= $545D4F<<. 

�D<>5D5F5=<5 ED54EF6 <=4<6<4G4?L=>= 74M<FO < >55E?5G5=<5 <<< D45>F=<>>6 6 

E>>F65FEF6<< E FD55>64=<O<< >ED4=O FDG44 ?D><76>4<FEO 74 EG5F ED54EF6 D45>F>44F5?O. 

�O44645<O5 D45>F=<>4< ED54EF64 <=4<6<4G4?L=>= 74M<FO 4>?6=O E>>F65FEF6>64FL 

<E ?>?G, D>EFG < D47<5D4<, E4D4>F5DG < GE?>6<O< 6O?>?=O5<>= D45>FO < >55E?5G<64FL 

557>?4E=>EFL FDG44. 

$45>F>44F5?L >5O74= 74<5=<FL <?< >FD5<>=F<D>64FL E?5F<4?L=GN >4564G < 

E?5F<4?L=GN >5G6L, ?D<L54LGN 6 =57>4=>EFL 4> >>>=G4=<O ED>>>6 =>E>< ?> ?D<G<=4<, =5 

746<EOM<< >F D45>F=<>>6. 

� E?GG45 ?D>?46< <?< ?>DG< ED54EF6 <=4<6<4G4?L=>= 74M<FO 6 GEF4=>6?5==OE <5EF4E 

<E ED4=5=<O ?> =5 746<EOM<< >F D45>F=<>>6 ?D<G<=4< D45>F>44F5?L >5O74= 6O44FL << 4DG7<5 

<E?D46=O5 ED54EF64 <=4<6<4G4?L=>= 74M<FO. 

�D54GE<>FD5==O5 6 &<?>6OE >FD4E?56OE =>D<4E 456GD=O5 ED54EF64 <=4<6<4G4?L=>= 

74M<FO >>??5>F<6=>7> ?>?L7>64=<O 4>?6=O 6O4464FLEO D45>F=<>4< F>?L>> =4 6D5<O 

6O?>?=5=<O F5E D45>F, 4?O >>F>DOE >=< ?D54GE<>FD5=O. 

$45>F>44F5?L >5O74= >55E?5G<FL <=D>D<<D>64=<5 D45>F=<>>6 > ?>?474NM<EEO << 

ED54EF64E <=4<6<4G4?L=>= 74M<FO. 

$45>F=<>< =5 4>?GE>4NFEO > D45>F5 557 ?D54GE<>FD5==OE 6 &<?>6OE >FD4E?56OE 

=>D<4E ED54EF6 <=4<6<4G4?L=>= 74M<FO, 6 =5<E?D46=>=, =5>FD5<>=F<D>64==>=, 747DO7=5==>= 

E?5F<4?L=>= >45645 < E?5F<4?L=>= >5G6<, 4 F4>65 E =5<E?D46=O<< ED54EF64<< 

<=4<6<4G4?L=>= 74M<FO. 

%D>>< ?>?L7>64=<O ED54EF64<< <=4<6<4G4?L=>= 74M<FO <EG<E?ONFEO E> 4=O 

D4>F<G5E>>= 6O44G< <E D45>F=<>4<. �D< MF>< 6 ED>>< =>E>< F5??>= E?5F<4?L=>= >4564O < 

F5??>= E?5F<4?L=>= >5G6< 6>?NG45FEO < 6D5<O 55 ED4=5=<O 6 F5??>5 6D5<O 7>44. 

$45>F>44F5?L ?D< 6O44G5 D45>F=<>4< F4><E ED54EF6 <=4<6<4G4?L=>= 74M<FO, >4> 

D5E?<D4F>DO, ?D>F<6>747O, ?D54>ED4=<F5?L=O5 ?>OE4, >4E>< < =5>>F>DO5 4DG7<5, 4>?65= 

>55E?5G<FL ?D>6545=<5 <=EFDG>F464 D45>F=<>>6 ?> ?D46<?4< ?>?L7>64=<O < ?D>EF5=L<< 

E?>E>54< ?D>65D>< <E?D46=>EF< MF<E ED54EF6, 4 F4>65 FD5=<D>6>G ?> <E ?D<<5=5=<N. 



 

 

      

/%�/&��/99-24/��%.&' 

�<EF 

      67 
�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4 

 

�
74

<
. 

<
=

6
. 

7
 

 

�
>

4
?

<
EL

 <
 4

4F
4 

 

�
=

6
. 
7

  
?

>
4

?
. 

 

$45>F>44F5?L >55E?5G<645F D57G?OD=O5 6 E>>F65FEF6<< E GEF4=>6?5==O<< ED>>4<< 

<E?OF4=<5 < ?D>65D>G <E?D46=>EF< ED54EF6 <=4<6<4G4?L=>= 74M<FO (D5E?<D4F>D>6, 

?D>F<6>747>6, ?D54>ED4=<F5?L=OE ?>OE>6, >4E>> < 4D.), 4 F4>65 E6>56D5<5==GN 74<5=G 

D<?LFD>6, EF5>>? < 4DG7<E G4EF5= ED54EF6 <=4<6<4G4?L=>= 74M<FO E ?>=<7<6L<<<EO 

74M<F=O<< E6>=EF64<<. 

$G>>6>4EF6GOEL «�>D<4<< 55E??4F=>= 6O44G< E?5F<4?L=>= >4564O, E?5F<4?L=>= 

>5G6< < 4DG7<E ED54EF6 <=4<6<4G4?L=>= 74M<FO» >5E?G6<64NM5<G ?5DE>=4?G 6O445FEO 

E?5F<4?L=4O >45644. 

�> 6D5<O D45>FO D45>F=<>< >5O74=O ?>?L7>64FLEO < ?D46<?L=> ?D<<5=OFL 6O44==O5 

<< ED54EF64 <=4<6<4G4?L=>= 74M<FO. $45>F=<>< =5 4>?6=O 4>?GE>4FLEO > D45>F5 557 

?D54GE<>FD5==OE 6 &<?>6OE >FD4E?56OE =>D<4E ED54EF6 <=4<6<4G4?L=>= 74M<FO, 6 

=5<E?D46=>=, 747DO7=5==>= E?5F<4?L=>= >45645 < E?5F<4?L=>= >5G6<, 4 F4>65 E 

=5<E?D46=O<< ED54EF64<< <=4<6<4G4?L=>= 74M<FO. $45>F>44F5?L >D74=<7G5F =44?564M<= 

GE>4 74 ED54EF64<< <=4<6<4G4?L=>= 74M<FO < <E ED4=5=<5<, E6>56D5<5==> >EGM5EF6?O5F 

E<<G<EF>G, EF<D>G, D5<>=F E?5F<4?L=>= >4564O < >5G6<. 

$45>G<5 <5EF4 4>?6=O G4>6?5F6>DOFL FD55>64=<O< >ED4=O FDG44 < 45=EF6GNM<< 

E4=<F4D=O< =>D<4<: 4>?6=O 5OFL ?<>6<4<D>64=O E>6>7=O><, 6O45?5=<O ?O?<, 6D54=OE 

747>6 < 4O<4, 6<5D4F<O < LG<, 74>D5??5=O ?444NM<5 < >F?5F4NM<5 ?D54<5FO, F>>>654GM<5 

< 46<6GM<5EO G4EF< 4>?6=O 5OFL G>DOFO < >55E?5G5=> E>D>L55 >E65M5=<5 < =5>5E>4<<4O 

65=F<?OF<O. 

�E5 ?<F4, =4E>4OM<5EO =4 EFD><F5?L=>= ??>M44>5 <?< =4 ??>M44>4E ?>7DG7>-

D477DG7>G=OE D45>F, >5O74=O =>E<FL 74M<F=O5 >4E>< ?> ��%& 12.4.087-84. 

�E5 D45>F4NM<5 4>?6=O 5OFL >55E?5G5=O 4>5D>>4G5EF65==>= ?<FL56>= 6>4>=, 

>F65G4NM5= FD55>64=<O< 45=EF6GNM<E E4=<F4D=OE ?D46<? < =>D<4F<6>6. 

$45>F=<><, D45>F4NM<5 =4 6OE>F5, 4 F4>65 <4L<=<EFO 75<?5D>==OE < 4>D>6=OE 

<4L<=, >D4=>6M<>< < 4DG7<5, >>F>DO5 ?> GE?>6<O< ?D><76>4EF64 =5 <<5NF 6>7<>6=>EF< 

?>><=GFL D45>G55 <5EF>, >55E?5G<64NFEO ?<FL56>= 6>4>= =5?>ED54EF65==> =4 D45>G<E 

<5EF4E. 

%D54=55 >>?<G5EF6> ?<FL56>= 6>4O, ?>FD55=>5 4?O >4=>7> D45>G57>, >?D545?O5FEO >F 

1,0 4> 1,5 ? - 7<<>=, >F 3,0 4> 3,5 ? - ?5F><. &5<?5D4FGD4 6>4O 4?O ?<FL56OE F5?5= 4>?6=4 

5OFL =5 =<65 8,0 °% < =5 6OL5 20,0 °%. 

�?O D45>F4NM<E =4 >F>DOF>< 6>74GE5 4>?6=O 5OFL ?D54GE<>FD5=O G>DOF<O >F 

4F<>ED5D=OE >E44>>6. 
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�>E?54>64F5?L=>EFL D45>F, 6 F>< G<E?5 ?>47>F>6<F5?L=OE, ?D54GE<>FD5==4O ��%, 

>55E?5G<645F 557>?4E=>EFL ?D>6545=<O D45>F 6 ?D>EFD4=EF65 < 6> 6D5<5=< (E>7?4E=> ?.3.3 < 

?.3.4 %� 12-136-2002). 

%FD><F5?L=>-<>=F46=O5, E5>D>G=O5, ?>7DG7>G=>-D477DG7>G=O5 D45>FO 6O?>?=OFL E 

E>5?N45=<5< FD55>64=<= %� 49.13330.2010, $545D4?L=OE =>D< < ?D46<? 6 >5?4EF< 

?D><OL?5==>= 557>?4E=>EF< >F 26.11.2020 7 461 �D46<? 557>?4E=>EF< >?4E=OE 

?D><76>4EF65==OE >5N5>F>6, =4 >>F>DOE <E?>?L7GNFEO ?>4N5<=O5 E>>DG65=<O, «�D46<? ?> 

F5E=<>5 557>?4E=>EF< 4?O ?D54?D<OF<= 46F><>5<?L=>7> FD4=E?>DF4», «�D46<? 557>?4E=>EF< 

?D< D45>F5 E <=EFDG<5=F>< < ?D<E?>E>5?5=<O<<» (�?D>E<<, 2000), %� 12-136-2002. 

 �> =4G4?4 6E5E D45>F =5>5E>4<<> ?>4D>5=> (?>4 D>E?<EL) >7=4>><<FL D45>G<E < �&$ 

E D47D45>F4==O< ��$. 

�E5 D45>F=<>< ?>4DO4=OE >D74=<74F<=, ?D<=<<4NM<5 GG4EF<5 6 EFD><F5?L=>-

<>=F46=OE D45>F4E, 4>?6=O ?D>=F< 66>4=O= <=EFDG>F46. 

�E5 D45>F4NM<5 =4 EFD><F5?L=>= ??>M44>5 4>?6=O 5OFL >5GG5=O ?> ?D>D5EE<< 

(E>7?4E=> 6O?>?=O5<O< D45>F4<), ?D>=F< ?5D6<G=O= (?>6F>D=O=) <=EFDG>F46 =4 D45>G5< 

<5EF5 G DG>>6>4<F5?O GG4EF>4 (?D>D45, <4EF5D, =4G4?L=<> GG4EF>4) < <<5FL ?D< E555 

G4>EF>65D5=<5 > ?D>65D>5 7=4=<=. 

�4 <5EF5 ?D>6545=<O D45>F >F65FEF65==O5 ?<F4 (?D>D45, <4EF5D, =4G4?L=<> GG4EF>4) 

4>?6=O <<5FL «�GD=4? GG5F4 < >E<>FD4 EFD>?>6», «�GD=4? GG5F4 < >E<>FD4 F4>5?46=OE 

ED54EF6, <5E4=<7<>6 < ?D<E?>E>5?5=<=», «�GD=4? GG5F4 < E>45D64=<O ED54EF6 74M<FO». 

�E5 D45>G<5 ?D< ?D<5<5 =4 D45>FG 4>?6=O ?D>=F< >5GG5=<5 557>?4E=O< <5F>44< 

?D><76>4EF64 D45>F 6 F5G5=<5 <5EOF4. �>6F>D=O= <=EFDG>F46 =5>5E>4<<> ?D>6>4<FL 

565>64DF4?L=>. 

16.2 �D><OL?5==4O 557>?4E=>EFL 

�D< ?D><76>4EF65 EFD><F5?L=>-<>=F46=OE D45>F E?54G5F 6O?>?=OFL FD55>64=<O, 

%� 49.13330.2010 < %�<� 12-04-2002 4?O E>744=<O 557>?4E=>7> < 5576D54=>7> ?D><76>4EF64. 

�> =4G4?4 EFD><F5?L=>-<>=F46=OE D45>F 4>?6=O 5OFL D47D45>F4=O < GF65D645=O 

<5D>?D<OF<O ?> F5E=<>5 557>?4E=>EF< 4?O ?D><76>4EF64 D45>F. 

�4 EFD><F5?L=>= ??>M44>5 4>?6=> 5OFL 4>?6=>EF=>5 ?<F>, >F65G4NM55 74 

E>5?N45=<5 ?D46<? F5E=<>< 557>?4E=>EF<. 

�D74=<74F<O EFD><F5?L=>= ??>M44><, GG4EF>>6 D45>F < D45>G<E <5EF 4>?6=4 

>55E?5G<64FL 557>?4E=>EFL FDG44 D45>F4NM<E =4 6E5E MF4?4E 6O?>?=5=<O EFD><F5?L=>-

<>=F46=OE D45>F. 
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�O?>?=5=<5 EFD><F5?L=>-<>=F46=OE D45>F =4 >?4E=>< ?D><OL?5==>< >5N5>F5 < 6 

74>DOFOE ?><5M5=<OE ?D< D45>F5 E >D4E>>=, <4F5D<4?4<<, E>45D64M<<< 6D54=O5 65M5EF64, 

< 747>-M?5>FD>E64D>G=OE D45>F4E, D45>F4NM<5 >5O74=O ?>?L7>64FLEO ED54EF64<< 

<=4<6<4G4?L=>= 74M<FO >D74=>6 4OE4=<O (%����). 

�4 6O?>?=5=<5 D45>F 6 7>=4E 45=EF6<O >?4E=OE ?D><76>4EF65==OE D4>F>D>6, 

6>7=<>=>65=<5 >>F>DOE =5 E6O74=> E E4D4>F5D>< 6O?>?=O5<OE D45>F, 4>?65= 5OFL 6O44= 

=4DO4-4>?GE> =4 ?D><76>4EF6> D45>F 6 <5EF4E 45=EF6<O >?4E=OE <?< 6D54=OE D4>F>D>6 

(?D<?>65=<5 � %� 49.13330.2010). 

�5D5G5=L <5EF ?D><76>4EF64 < 6<4>6 D45>F, 745 4>?GE>45FEO 6O?>?=OFL D45>FO F>?L>> 

?> =4DO4G-4>?GE>G, 4>?65= 5OFL E>EF46?5= 6 >D74=<74F<< E GG5F>< 55 ?D>D<?O =4 >E=>65 

?5D5G=O ?D<?>65=<O � %� 49.13330.2010 < GF65D645= DG>>6>4<F5?5< >D74=<74F<<. 

�4DO4-4>?GE> 6O445FEO =5?>ED54EF65==><G DG>>6>4<F5?N D45>F ?<F><, 

G?>?=><>G5==O< ?D<>47>< DG>>6>4<F5?5< >D74=<74F<<. �5D54 =4G4?>< D45>F DG>>6>4<F5?L 

D45>FO >5O74= >7=4>><<FL D45>F=<>>6 E <5D>?D<OF<O<< ?> 557>?4E=>EF< ?D><76>4EF64 D45>F 

< >D>D<<FL <=EFDG>F46 E 74?<ELN 6 =4DO45-4>?GE>5. 

�D< >D74=<74F<< EFD><F5?L=>= ??>M44><, D47<5M5=<< GG4EF>>6 D45>F, D45>G<E <5EF, 

?D>574>6 EFD><F5?L=OE <4L<= < FD4=E?>DF=OE ED54EF6, ?D>E>4>6 4?O ?N45= E?54G5F 

GEF4=46?<64FL >?4E=O5 4?O ?N45= 7>=O, 6 ?D545?4E >>F>DOE ?>EF>O==> 45=EF6GNF <?< 

?>F5=F<4?L=> <>7GF 45=EF6>64FL >?4E=O5 ?D><76>4EF65==O5 D4>F>DO. 

�?4E=O5 7>=O 4>?6=O 5OFL >5>7=4G5=O 7=4>4<< 557>?4E=>EF< < =44?<EO<< 

GEF4=>6?5==>= D>D<O. 

� 7>=4< ?>EF>O==> 45=EF6GNM<E >?4E=OE ?D><76>4EF65==OE D4>F>D>6 E?54G5F 

>F=>E<FL 7>=O: 

ý 65?<7< >F =5<7>?<D>64==OE F>>>654GM<E G4EF5= M?5>FD>GEF4=>6>>; 

ý 65?<7< >F =5 >7D4645==OE ?5D5?44>6 ?> 6OE>F5 1,3 < < 5>?55; 

ý 6 <5EF4E ?5D5<5M5=<O <4L<= < >5>DG4>64=<O <?< <E G4EF5= < D45>G<E >D74=>6; 

ý 6 <5EF4E, =44 >>F>DO<< ?D><EE>4<F ?5D5<5M5=<5 7DG7>6 7DG7>?>4N5<=O<< 

>D4=4<<. 

� 7>=4< ?>F5=F<4?L=> 45=EF6GNM<E >?4E=OE ?D><76>4EF65==OE D4>F>D>6 >F=>EOFEO 

GG4EF>< F5DD<F>D<< 65?<7< EFD>OM57>EO 744=<O. 

�>=O ?>EF>O==> 45=EF6GNM<E ?D><76>4EF65==OE D4>F>D>6 6> <75564=<5 4>EFG?4 

?>EF>D>==<E ?<F 4>?6=O 5OFL >7D4645=O 74M<F=O<< >7D4645=<O<<, G4>6?5F6>DONM<<< 

FD55>64=<O<  ��%& $ 58967-2020 
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16.3 �D>F<6>?>64D=O5 <5D>?D<OF<O 

�E5 D45>FO =5>5E>4<<> 6O?>?=OFL 6 E>>F65FEF6<< E �>EF4=>6?5=<5 �D46<F5?LEF64 $$ 

>F 16.09.2020 7 1479 «�D46<?4 ?D>F<6>?>64D=>7> D56<<4 6 $>EE<=E>>= $545D4F<<» <  

��&� 03/170/567-87. 

�> 6E5< EFD>OM<<EO < M>E??G4F<DG5<O< 744=<O< (6 F>< G<E?5 < 6D5<5==O<), <5EF4< 

>F>DOF>7> ED4=5=<O EFD><F5?L=OE <4F5D<4?>6, >>=EFDG>F<= < >5>DG4>64=<O 4>?65= 5OFL 

>55E?5G5= E6>5>4=O= ?>4N574. 

&5DD<F>D<O, 74=OF4O ?>4 >F>DOFO5 E>?44O 7>DNG<E <4F5D<4?>6, 4 F4>65 ?>4 

?D><76>4EF65==O5, E>?44E><5 < 6E?><>74F5?L=O5 EFD>5=<O <7 7>DNG<E < FDG4=> 7>DNG<E 

<4F5D<4?>6, 4>?6=O 5OFL >G<M5=O >F EGE>= FD46O, 5GDLO=4, M5?O < >>DO. 

�?O >F>??5=<O 6D5<5==OE <=65=F4D=OE 744=<= <E?>?L7>64FL M?5>FD>=47D564F5?< 

746>4E>>7> <77>F>6?5=<O. 

�> 6E5E 6D5<5==OE <=65=F4D=OE 744=<OE =5>5E>4<<> D47<5EF<FL ?> >4=><G 

>7=5FGL<F5?N. &<? >7=5FGL<F5?O 6O5<D45FEO ?> F45?.1 �>EF4=>6?5=<5 �D46<F5?LEF64 $$ >F 

16.09.2020 7 1479 «�D46<?4 ?D>F<6>?>64D=>7> D56<<4 6 $>EE<=E>>= $545D4F<<» 4?O 

?>64D4 >?4EE4 �. 

�?O E5>D4 <E?>?L7>64==OE >5F<D>G=OE <4F5D<4?>6 =5>5E>4<<> GEF4=46?<64FL 

<5F4??<G5E><5 OM<>< E ??>F=> 74>DO64NM<<<EO >DOL>4<<. �> >>>=G4=<< E<5=O OM<>< 

4>?6=O G44?OFLEO <7 ?><5M5=<=.  

%?5F>45644 ?<F, D45>F4NM<E E <4E?4<<, ?4>4<<, >D4E>4<< < 4DG7<<< ��� < ��, 

4>?6=4 ED4=<FLEO 6 ?>465L5==>< 6<45 6 <5F4??<G5E><E L>4D4E, GEF4=>6?5==OE 6 

E?5F<4?L=> >F6545==OE 4?O MF>= F5?< <5EF4E. 

�>64D=O= M<F (-�� 3 4?O ??>M44>G=OE >5N5>F>6) =5>5E>4<<> D47<5EF<FL DO4>< E> 

EFD>OM<<EO >5N5>F><, F4><< >5D47><, GF>5O > M<FG 5O? E6>5>4=O= 4>EFG?. � E>?>4=O= 

?5D<>4 >7=5FGL<F5?< G5<D4NFEO 6 F5??>5 ?><5M5=<5. 

�5D54 =4G4?>< < 6> 6D5<O ?D>6545=<O >7=56OE D45>F 4>?65= >EGM5EF6?OFLEO >>=FD>?L 

=44 E>EF>O=<5< ?4D>-747>6>74GL=>= ED54O 6 F5E=>?>7<G5E>>< >5>DG4>64=<<, =4 >>F>D>< 

?D>6>4OFEO G>474==O5 D45>FO, < 6 >?4E=>= 7>=5. 

�D< <E?>?L7>64=<< 7>DNG<E 65M5EF6, <E >>?<G5EF6> =4 D45>G5< <5EF5 =5 4>?6=> 

?D56OL4FL E<5==>= ?>FD55=>EF<. �<>>EFL E 7>DNG<<< 65M5EF64<< =G6=> >F>DO64FL F>?L>> 

?5D54 <E?>?L7>64=<5<, 4 ?> >>>=G4=<< D45>FO 74>DO64FL < E4464FL =4 E>?44. 

%>?44O 4?O ED4=5=<O 54??>=>6 E �� 4>?6=O 5OFL >4=>MF46=O<< E 

?57>>E5D4EO645<O<< ?>>DOF<O<< < =5 <<5FL G5D44G=OE ?><5M5=<=. 
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� 6O?>?=5=<N >7=56OE D45>F 4>?GE>4NFEO D45>G<5, ?D>L54L<5 ?D>F<6>?>64D=O= 

F5E<<=<<G< < <<5NM<5 E?5F<4?L=O5 >64?<D<>4F<>==O5 G4>EF>65D5=<O. 

�4?D5M45FEO >F>7D564FL 74<5D7L<5 4F5F<?5=>6O5 75=5D4F>DO, FDG5>?D>6>4O, 65=F<?<, 

D54G>F>DO < 4DG7<5 45F4?< E64D>G=OE GEF4=>6>> >F>DOFO< >7=5< <?< D4E>4?5==O<< 

?D54<5F4<<. 

%D4=5=<5 < FD4=E?>DF<D>64=<5 54??>=>6 E 7474<< 4>?6=O >EGM5EF6?OFLEO F>?L>> E 

=46<=G5==O<< =4 <E 7>D?>6<=O ?D54>ED4=<F5?L=O<< >>??4>4<<. 

�5D5=>E>4 54??>=>6 =4 ??5G4E < DG>4E =5 D47D5L45FEO. 

�5EF4 ?D>6545=<O >7=56OE D45>F E?54G5F >55E?5G<64FL ?5D6<G=O<< ED54EF64<< 

?>64D>FGL5=<O. 

�>64D=4O 557>?4E=>EFL >5N5>F4 4>?6=4 >55E?5G<64FLEO E<EF5<>= ?D54>F6D4M5=<O 

?>64D4. 

�?O >55E?5G5=<O ?D>F<6>?>64D=>= 557>?4E=>EF< ?D>5>F>< ?D54GE<>FD5=O 

E?54GNM<5 <5D>?D<OF<O: 

ý <5EF> ?D>6545=<O >7=56OE D45>F 4>?6=> 5OFL >G<M5=> >F 7>DNG<E 65M5EF6 < 

<4F5D<4?>6 6 D44<GE5, G>474==>< 6 F45?<F5 16.2; 

ý 7475<?5=<5 >5>DG4>64=<O 4?O ?D54>F6D4M5=<O D47DO4>6 EF4F<G5E>>7> 

M?5>FD<G5EF64. 

&45?<F4 16.2 - $44<GE >G<EF>< 7>=O ?D< ?D>6545=<< >7=56OE D45>F 

�OE>F4 F>G>< E64D>< =44 GD>6=5< ?>?4 <?< 

?D<?574NM5= F5DD<F>D<<, < 
0 2 3 4 6 8 10 %6OL5 10 

�<=<<4?L=O= D44<GE 7>=O >G<EF><, < 5 8 9 10 11 12 13 14 

�?O FGL5=<O =55>?LL<E >G47>6 ?>64D4 ?D<<5=ONF DGG=O5 >7=5FGL<F5?<. �D>65D>4 

D45>F>E?>E>5=>EF< >7=5FGL<F5?5= 4>?6=4 ?D><76>4<FLEO F>?L>> >?OF=O<< ?>64D=O<< 

D45>F=<>4<<. �4 74>DOFOE E>?444E - ?> >4=><G >7=5FGL<F5?N =4 >464O5 100 <2 ??>M44< 

?>?4 < =5 <5=55 46GE >7=5FGL<F5?5= =4 >464>5 >F45?L=>5 744=<5 E>?444; =4 >F>DOFOE 

E>?444E 3 >4<= >7=5FGL<F5?L, 465 5>G>< E 6>4>= < 46G<O 654D4<< =4 >464O5 300 <2 E>?444. 

�4 >464>< EFD>OM5<EO >5N5>F5 4>?65= 5OFL 6O45?5= ?D<>47>< D45>F=<>, =4 >>F>D>7> 

6>7?4745FEO >F65FEF65==>EFL 74 ?>64D=GN 557>?4E=>EFL. 

�E5 D45>F4NM<5 =4 EFD><F5?L=>= ??>M44>5 4>?6=O E>5?N44FL ?D>F<6>?>64D=O= 

D56<<. �GD<FL <>6=> F>?L>> 6 >F6545==OE 4?O MF>7> <5EF4E, >5>DG4>64==OE GD=4<< 4?O 

>>GD>>6, E?<G5>, 5>G>4<< E 6>4>=, 654D4<<, OM<>4<< E ?5E>><. � MF<E <5EF4E 45?4NF 

=44?<E< «�5EF> 4?O >GD5=<O». �D< 6E>45 =4 F5DD<F>D<N EFD><F5?LEF64, 4 F4>65 6=GFD< 

F5DD<F>D<<, G E>?44>6 E7>D45<OE <4F5D<4?>6 < =4 >F45?L=OE >5N5>F4E 6O65L<64NF 

?D54G?D54<F5?L=O5 =44?<E< «�GD<FL 6>E?D5M45FEO». � E>>F65FEF6<< E ?D46<?4<< 
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?D>F<6>?>64D=>7> D56<<4 =4 F5DD<F>D<N EFD><F5?LEF64 =5 4>?6=O ?>?444FL ?>EF>D>==<5 

?<F4, >>F>DO5 <>7GF, =5 7=4O GE?>6<= < ?D>F<6>?>64D=OE FD55>64=<= EFD><F5?LEF64, 6O764FL 

?>64D <?< 67DO6.  

�464O= D45>F4NM<= 4>?65= 5OFL ?D><=EFDG>F<D>64= 4> =4G4?4 D45>FO >5 >5M<E 

<5D4E ?>64D=>= 557>?4E=>EF<, ?D>6>4<<OE =4 EFD><F5?LEF65, ?<G=>< < >5M5< ?>6545=<< 

?D< E>5?N45=<< ?D>F<6>?>64D=>7> D56<<4, 4 F4>65 >5GG5= ?>?L7>64=<N ?D>EF5=L<<< 

ED54EF64<< ?>64D>FGL5=<O.  

�?O >55E?5G5=<O 5OEFD5=L57> < ?D46<?L=>7> 6O7>64 ?>64D=>= >><4=4O =4 ??>M44>5 

>D74=<7G5FEO E6O7L E 5?<64=L<< ?>64D=O< ?>EF>< ?> D44<>F5?5D>=G. �5746<E<<> >F 6O7>64 

?>64D=>= >><4=4O ?D< 6>7=<>=>65=<< ?>64D4 =5>5E>4<<> =5<54?5==> ?D<=<<4FL <5DO > 

FGL5=<N >7=O.  

16.4 �?<E4=<5 6>7<>6=OE EF5=4D<56 464D<==OE E<FG4F<= F5E=>75==>7> 
E4D4>F5D4 

� ?5D<>4 EFD><F5?LEF64 >E=>6=O<< 6>7<>6=O<< 464D<==O<< E<FG4F<O<< ?D< 

?D>6545=<< D45>F <>7GF 5OFL E?54GNM<5: 

- 6E5 6<4O ?D><EL5EF6<=, E6O74==O5 E ?>7DG7>-D477DG7>G=O<< D45>F4<< (G44DO, 

=4574O F5E=<><, ?445=<5 ?N45=, 7DG7>6); 

- 4>D>6=>-FD4=E?>DF=O5 ?D><EL5EF6<O; 

- ?D><EL5EF6<O ?D< FD4=E?>DF<D>6>5 7DG7>6; 

- D47?<6 F>??<64 ?D< ED4=5=<< < 74?D46>5 46F>FD4=E?>DF4 < E?5FF5E=<><; 

- ?>64D. 

�4?D46>4 EFD><F5?L=>= F5E=<>< 7>DNG5-E<47>G=O<< <4F5D<4?4<< >EGM5EF6?O5FEO 

46F>74?D46>G=O<< <4L<=4<< ?> <5EFG D45>FO. �4<5>?55 65D>OF=>= 464D<5= O6?O5FEO ?D>?<6 

4<75?L=>7> F>??<64 ?D< 74?D46>5 F5E=<><. �D< 74?D46>5 46F><>5<?O 6 55=7>54> 6>7<>65= 

?5D5?<6 F>??<64 <?< ?D>?<6 F>??<64 <7 L?4=74 ?D< 57> ?>6D5645=<<. � D57G?LF4F5 <E?4D5=<O 

?D>?<64 F>??<64 >5D47G5FEO >5?4>> ?4D>6 4<75?L=>7> F>??<64. �=F5=E<6=>EFL <E?4D5=<O 

746<E<F >F F5<?5D4FGDO 6>74GE4. �D< =4?<G<< <EF>G=<>4 746<74=<O 6>7<>6=> 6>77>D4=<5 

?D>?<64. 

�4<5>?55 >?4E=>= 464D<5= O6?O5FEO D4775D<5F<74F<O F<EF5D=O F>??<6>74?D46M<>4 E 

D4EF5>4=<5< F>??<64 =4 ??>M44>5 < 6>7<>6=O< 6>77>D4=<5<. 

�<7F>??<6> >5?4445F =<7>>= M<<EE<>==>= E?>E>5=>EFLN < 57> ?4DO ?D4>F<G5E>< 

557>?4E=O ?D< F5<?5D4FGD4E >>DG64NM5= ED54O, F.5. >>=F5=FD4F<O <E 6E5744 =<65 =<6=57> 
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>>=F5=FD4F<>==>7> ?D545?4. �4DO 4<75?L=>7> F>??<64 >?4E=O F>?L>> ?D< F5<?5D4FGD4E 6OL5 

55 °%. 

�<75?L=>5 F>??<6> 4>6>?L=> FDG4=> ?>465GL >F>DOFO< >7=U<, >=> 747>D45FEO F>?L>> 

F>744, >>744 ?D><EE>4<F <E?4D5=<5 < =47D56 ?4D>6, >F ?>4=5EU==>7> >7=O 6>7=<>=>65=<5 

67DO64 6 >F>DOF>< ?D>EFD4=EF65 ?D4>F<G5E>< <E>?NG5=>. 

� ?5D<>4 EFD><F5?LEF64 6>7<>6=O E?54GNM<5 EF5=4D<< 464D<==OE E<FG4F<=: 

1 $4775D<5F<74F<O F<EF5D=O F>??<6>74?D46M<>4 < D47?<6 4<75?L=>7> F>??<64 =4 

E?5F<4?L=> >5>DG4>64==>= ??>M44>5. 

2 $47DGL5=<5 F<EF5D=O F>??<6>74?D46M<>4 < 6>77>D4=<5 4<7F>??<64. 
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17 �?<E4=<5 ?D>5>F=OE D5L5=<= < <5D>?D<OF<= ?> >ED4=5 
>>DG64NM5= ED54O 6 ?5D<>4 EFD><F5?LEF64, D5>>=EFDG>F<<, >4?<F4?L=>7> 
D5<>=F4 

�5D5G5=L <5D>?D<OF<= ?> >ED4=5 >>DG64NM5= ED54O 6 ?5D<>4 ?D><76>4EF64 

EFD><F5?L=>-<>=F46=OE D45>F D47D45>F4= 6 E>>F65FEF6<< E FD55>64=<O<< E?54GNM<E 

=>D<4F<6=OE 4>>G<5=F>6: 

3 $545D4?L=O= 74>>= >F 10.01.2002 7 7-$� «�5 >ED4=5 >>DG64NM5= ED54O»; 

3 �5<5?L=O= >>45>E $>EE<=E>>= $545D4F<< >F 25.10.2001 7 136-$�; 

3 $545D4?L=O= 74>>= >F 04.05.1999 7 96-$� «�5 >ED4=5 4F<>ED5D=>7> 6>74GE4»; 

3 �>4=O= >>45>E $>EE<=E>>= $545D4F<< >F 03.06.2006 7 74-$�; 

3 �5E=>= >>45>E $>EE<=E>>= $545D4F<< >F 04.12.2006 7 200-$�; 

3 %� 48.13330.2019. 

3 �4 6E5E MF4?4E EFD><F5?LEF64 4>?6=O 5OFL 6O?>?=5=O <5D>?D<OF<O, 

?D54>F6D4M4NM<5: 

3 D476<F<5 =55?47>?D<OF=OE D5?L5D>>5D47GNM<E ?D>F5EE>6; 

3 <7<5=5=<5 5EF5EF65==>7> ?>65DE=>EF=>7> EF>>4 =4 GG4EF>5 EFD><F5?LEF64; 

3 747>D4=<5 5EF5EF65==>= D4EF<F5?L=>EF< 6E?54EF6<5 4>?GE>4 > D45>F5 =5<E?D46=OE 

F5E=<G5E><E ED54EF6, E?>E>5=OE 6O764FL 747>D4=<5; 

3 74E?4<?5=<5 F5DD<F>D<< EFD><F5?L=O<< >FE>44<<; 

3 D47?<6 7>DNG5-E<47>G=OE <4F5D<4?>6, E?<6 =4 FD4EE5 >FD45>F4==OE <4E5? < F.?. 

�D><76>4EF6> EFD><F5?L=>-<>=F46=OE D45>F, 46<65=<5 <4L<= < <5E4=<7<>6, 

E>?44<D>64=<5 < ED4=5=<5 <4F5D<4?>6 6 <5EF4E, =5 ?D54GE<>FD5==OE ?D>5>F>< ?D><76>4EF64 

D45>F (��$), 74?D5M45FEO. 

�E5 D45>FO ?> EFD><F5?LEF6G < <>=F46G FDG5>?D>6>4>6 4>?6=O 65EF<EL 6 7D4=<F4E 

>F6>44 75<?<.  

�D< ?D><76>4EF65 >E=>6=OE EFD><F5?L=>-<>=F46=OE D45>F 

% F5?LN E=<65=<O 6>745=EF6<O =4 >>DG64NMGN ED54G 6 ?D>F5EE5 EFD><F5?LEF64 

?>4DO4G<> 4>?65= =47=4G<FL E?5F<4?<EF4, >F65FEF65==>7> 74 E>5?N45=<5 ?D46<? < =>D< 

D>EE<=E>>7> 74>>=>44F5?LEF64 ?> >ED4=5 >>DG64NM5= ED54O, 674<<>45=EF6GNM57> E> 

E?G654<< ?> >ED4=5 >>DG64NM5= ED54O �4>47G<>4. 

%D4=5=<5 67DO6>?>64D>>?4E=OE 65M5EF6 < <4F5D<4?>6 =4 EFD><F5?L=>= ??>M44>5 

4>?6=> 5OFL >D74=<7>64=> F4><< >5D47><, GF>5O <E>?NG<FL 6>7<>6=>EFL <E D47?<64 < 

?>?444=<O 6 ?>G6G. �?O ?D54>F6D4M5=<O D47?<64 �%� ?D< 74?D46>5 EFD><F5?L=>= F5E=<>< 
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<E?>?L7G5FEO E?5F<4?L=> >5>DG4>64==4O F5E=<>4 (F>??<6>74?D46M<> E 74?D46?ONM<< 

GEFD>=EF6><). �4?D46>4 ?D><76>4<FEO =4 E?5F<4?L=> >5>DG4>64==>= ??>M44>5 (>564?>64=<5, 

?5EG4=4O ?>47>F>6>4), >F6545==>= =4 6D5<5==>= ??>M44>5 EF>O=>< F5E=<><, E E>5?N45=<5< 

6E5E =>D< ?D>F<6>?>64D=>= 557>?4E=>EF<. �4?D46>4 F5E=<>< E ?><>MLN >F>DOFOE 5<>>EF5= 

(5>G><, 654D4, D?O7<, >4=<EFDO) 74?D5M45FEO. 

� >4G5EF65 >E=>6=OE ��� 6 ?5D<>4 EFD><F5?LEF64 D4EE<4FD<645FEO E?5F<4?L=4O 

F5E=<>4 (46F>FD4=E?>DF, EFD><F5?L=O5 <4L<=O < <5E4=<7<O, E64D>G=O5 < >>D4E>G=O5 ?>EFO, 

?5D546<6=O5 M?5>FD>EF4=F<< < F.4.).  

�E=>6=O5 <5D>?D<OF<O ?> G<5=LL5=<N 747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 ?D< 

D5>>=EFDG>F<< FDG5>?D>6>4>6, 6 ?5D6GN >G5D54L, 4>?6=O 5OFL =4?D46?5=O =4 E>5?N45=<5 

=>D< ?D545?L=> 4>?GEF<<>7> E>45D64=<O �� 6 >FD45>F46L<E 7474E 46<74F5?5= 6=GFD5==57> 

E7>D4=<O 46F><>5<?5= < �%& E>7?4E=> ��%& 33997-2016 <E?>?L7>64=<5 M?5>FD>?>4>7D564 6 

7<<=<E GE?>6<OE, ?>76>?ONM55 E=<7<FL 6O5D>EO �� E �� =4 15 % - 40 %. 

�?O E=<65=<O 6O5D>E>6 �� 6 4F<>ED5DG 6 ?D>F5EE5 ?D>6545=<O EFD><F5?L=>-

<>=F46=OE D45>F =5>5E>4<<>: 

3 ?D>6>4<FL E6>56D5<5==O= F5E>E<>FD < F5E>5E?G6<64=<5 EFD><F5?L=>= F5E=<>< < 

46F>FD4=E?>DF4; 

3 ?D>6>4<FL >>=FD>?L 74 F>>E<G=>EFLN 6OE?>?=OE 747>6 >F EFD><F5?L=>= F5E=<><; 

3 E>>D4F<FL =5D4F<>=4?L=O5 < «E>?>EFO5» ?D>557< 46F>FD4=E?>DF4 ?GF5< 

>?5D4F<6=>7> ??4=<D>64=<O ?5D56>7>>. 

�?D545?ONM<< GE?>6<5< <<=<<4?L=>7> 747DO7=5=<O 4F<>ED5DO >FD45>F46L<<< 

7474<< 4<75?L=OE 46<74F5?5= 4>D>6=OE <4L<= < >5>DG4>64=<O O6?O5FEO ?D46<?L=4O 

M>E??G4F4F<O 46<74F5?O, E6>56D5<5==4O D57G?<D>6>4 E<EF5<O ?>44G< < 66>44 F>??<64.  

�D< ?D>6545=<< F5E=<G5E>>7> >5E?G6<64=<O 4>D>6=OE <4L<= E?54G5F >E>5>5 

6=<<4=<5 G45?OFL >>=FD>?L=O< < D57G?<D>6>G=O< D45>F4< ?> E<EF5<5 ?<F4=<O, 746<74=<O < 

747>D4E?D545?<F5?L=><G <5E4=<7<G 46<74F5?O. -F< <5DO >55E?5G<64NF ?>?=>5 E7>D4=<5 

F>??<64, E=<64NF 57> D4EE>4, 7=4G<F5?L=> G<5=LL4NF 6O5D>E F>>E<G=OE 65M5EF6. 

�EF>G=<>4<< LG<4 6 ?D>F5EE5 EFD><F5?LEF64 ?D>5>F<DG5<OE >5N5>F>6 O6?ONFEO 

4>D>6=>-EFD><F5?L=4O F5E=<>4 < ?5D546<6=O5 4<75?L=O5 M?5>FD>EF4=F<<.  

,G<>6O5 <?< 6<5D4F<>==O5 6>745=EF6<O ?D54?D<OF<O D4EE<4FD<64NFEO >4> 

M=5D75F<G5E>>5 747DO7=5=<5 >>DG64NM5= ED54O, 6 G4EF=>EF<, 4F<>ED5DO. �5?<G<=4 

6>745=EF6<O LG<4 < 6<5D4F<= =4 G5?>65>4 746<E<F >F GD>6=O 76G>>6>7> 446?5=<O, G4EF>F=OE 

E4D4>F5D<EF<> LG<4 <?< 6<5D4F<=, <E ?D>4>?6<F5?L=>EF<, ?5D<>4<G=>EF< < F.?. ,G< 
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E=<645F ?D><76>4<F5?L=>EFL FDG44 =4 ?D54?D<OF<OE, O6?O5FEO ?D<G<=>= <=>7<E 

D4E?D>EFD4=5==OE 745>?564=<= =4 ?D><76>4EF65. 

,G<, E>744645<O= 4>D>6=>-EFD><F5?L=>= F5E=<>>=, 746<E<F >F <=>7<E D4>F>D>6: 

<>M=>EF< < D56<<4 D45>FO 46<74F5?O, F5E=<G5E>>7> E>EF>O=<O F5E=<><, >4G5EF64 4>D>6=>7> 

?>>DOF<O, E>>D>EF< 46<65=<O. ,G< >F 46<74F5?O 46F><>5<?O D57>> 6>7D4EF45F 6 <><5=F 57> 

74?GE>4 < ?D>7D564=<O. ,G< 46<74F5?O ?D< 46<65=<< 46F><>5<?O =4 ?5D6>= E>>D>EF< 

?D56OL45F 6 2 D474 LG<, E>744645<O= << =4 6F>D>= E>>D>EF<. ,G< 46<74F5?5= 6=GFD5==57> 

E7>D4=<O =>E<F ?5D<>4<G5E><= E4D4>F5D < 746<E<F >F D56<<4 D45>FO �%&.  

$45>F4 4<75?L=>= ?5D546<6=>= M?5>FD>EF4=F<< F4>65 E>?D>6>6445FEO LG<>< < 

6<5D4F<5=. 

�D< ?D>6545=<< D4EG5F4 GG<FO645FEO >4=>6D5<5==>EFL D45>FO EFD><F5?L=>= F5E=<>< 

< <5E4=<7<>6. �EF>G=<>4<< =4<5>?LL57> LG<>6>7> 6>745=EF6<O O6?ONFEO EFD><F5?L=4O 

F5E=<>4 < <5E4=<7<O, D45>F4NM<5 6 4=56=>5 6D5<O EGF>> >4=>6D5<5==> =4 EFD><F5?L=>= 

??>M44>5 ?D< ?D>6545=<< EFD><F5?L=>-<>=F46=OE D45>F. %FD><F5?L=4O F5E=<>4 < 

<5E4=<7<O, <E?>?L7G5<O5 ?D< ?D>6545=<< D45>F, 4>?6=O E>>F65FEF6>64FL FD55>64=<O< 

E4=<F4D=OE =>D<. 

%>7?4E=> ��%& 12.1.003-2014, =>D<4F<6=O= GD>65=L LG<4 ?D< 6O?>?=5=<< D45>F =4 

?>EF>O==OE D45>G<E <5EF4E 6 ?D><76>4EF65==OE ?><5M5=<OE < =4 F5DD<F>D<< 

?D><76>4EF65==>= ??>M44><, >4> 4>?GEF<<O= 557>?4E=O= GD>65=L LG<4 =4 D45>G<E <5EF4E 

E>EF46?O5F 80 4�4 < E>>F65FEF6G5F =G?56><G D<E>G ?>F5D< E?GE4. 

�=4?<7 D57G?LF4F>6 4>GEF<G5E>>7> D4EG5F4 ?>>474?, GF> ?>?GG5==O= GD>65=L 

76G>>6>7> 446?5=<O >F EFD><F5?L=>= F5E=<>< 6 ?5D<>4 EFD><F5?L=>-<>=F46=OE D45>F 6 

D4EG5F=OE F>G>4E, E>>F65FEF6G5F 4>?GEF<<O< GD>6=O< 76G>>6>7> 446?5=<O =4 D45>G<E 

<5EF4E.   

�5D>?D<OF<O ?> E=<65=<N D4>F>D>6 LG<4 < 6<5D4F<< 

�5D>?D<OF<O ?> 74M<F5 >F LG<4 < 6<5D4F<= 4?O ?5D<>44 EFD><F5?LEF64 =>EOF 

>D74=<74F<>==>-F5E=<G5E><= E4D4>F5D. 

�?O E=<65=<O LG<>6>7> 6>745=EF6<O >F 4>D>6=>-EFD><F5?L=>= F5E=<>< ?D54?474NFEO 

E?54GNM<5 <5D>?D<OF<O: 

3 ?D<<5=5=<5 <4?>LG<=OE <4L<=; 

3 E6>56D5<5==O= F5E>E<>FD < F5E>5E?G6<64=<5 E?5FF5E=<><; 

3 <7<5=5=<5 >>=EFDG>F<6=OE M?5<5=F>6 <4L<=, <E E5>D>G=OE 54<=<F; 

3 >E=4M5=<5 LG<=OE <4L<= 7?GL<F5?O<<, >>F>DO5 E=<64NF >4> 6=5L=<= LG<, F4> 

< LG< 6=GFD< E4?>=4; 
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3 ?D<<5=5=<5 ED54EF6 <=4<6<4G4?L=>= 74M<FO >F LG<4 (?D>F<6>LG<=O5 =4GL=<><, 

6>?44OL<, L?5<O, >4E><). 

�?O E=<65=<O LG<4 < 6<5D4F<< >F 46<74F5?O �-% ?D54?474NFEO E?54GNM<5 

<5D>?D<OF<O: 

3 >E=4M5=<5 4<75?L-75=5D4F>D4 6<5D><7>?OF>D>< 4?O E=<65=<O 6<5D4F<< 46<74F5?O 

=4 D4<G < 4?O E=<65=<O LG<4; 

3 GEF4=>6>4 =4 4<75?L-75=5D4F>D5 7?GL<F5?O 6OE?>?4, E=<64NM57> ?5D544GG LG<4 

G5D57 6OE?>?=>= FDG5>?D>6>4;  

3 F5??><7>?OF<O 6OE?>?=>7> FDG5>?D>6>44 < 7?GL<F5?O 4?O 76G>><7>?OF<< < 

G<5=LL5=<O LG<4 E=4DG6< >>=F5==5D4 �-%; 

3 >5>DG4>64=<5 65=F<?OF<>==OE >F65DEF<= >>=F5==5D4 �-% 64?N7O<< < 

>>7ODL>4<<, G<5=LL4NM<<< ?D>=<>=>65=<5 LG<4 <7 >>=F5==5D4 =4DG6G. 

�4L<=O < 47D574FO, E>744NM<5 LG< ?D< D45>F5, E?54G5F M>E??G4F<D>64FL F4><< 

>5D47><, GF>5O GD>6=< 76G>4 =4 D45>G<E <5EF4E, =4 GG4EF>4E < =4 F5DD<F>D<< EFD><F5?L=>= 

??>M44>< =5 ?D56OL4?< 4>?GEF<<OE 65?<G<=, G>474==OE 6 E4=<F4D=OE =>D<4E. 

�?O E=<65=<O GD>6=O LG<4 4>D>6=OE <4L<= E?54G5F ?D<<5=OFL E?54GNM<5 <5DO: 

3 F5E=<G5E><5 ED54EF64 5>DL5O E LG<>< (?D<<5=5=<5 F5E=>?>7<G5E><E ?D>F5EE>6 E 

<5=LL<< LG<>>5D47>64=<5< < 4D.); 

3 74M<F=O5 4>GEF<G5E><5 GEFD>=EF64 (LG<><7>?OF<N, >7D4645=<O, E?5F<4?L=O5 

?><5M5=<O 4?O <EF>G=<>>6 76G>4 < 4D.); 

3 >D74=<74F<>==O5 <5D>?D<OF<O (6O5>D D56<<4 D45>FO, >7D4=<G5=<5 6D5<5=< 

D45>FO < 4D.). 

�>=O E GD>6=5< 76G>4 6OL5 85 4�� 4>?6=O 5OFL >5>7=4G5=O 7=4>4<< 557>?4E=>EF<. 

$45>F4NM<5 6 MF<E 7>=4E 4>?6=O 5OFL >55E?5G5=O ED54EF64<< <=4<6<4G4?L=>= 74M<FO. 

�?O 76G>><7>?OF<< 46<74F5?5= 4>D>6=OE <4L<= F5?5E>>5D47=> ?D<<5=OFL 74M<F=O5 

>>6GE< < >4?>FO E <=>7>E?>==O<< ?>>DOF<O<<, ?D<<5=5=<5< D57<=O, ?>D>?>=4 < F.?. �?O 

<7>?OF<< ?>>4?L=OE <EF>G=<>>6 LG<4 E?54G5F <E?>?L7>64FL ?D>F<6>LG<=O5 M>D4=O, 7465EO, 

?4?4F><.  

�?O E6455>==OE <4L<= F5?5E>>5D47=> ?D<<5=5=<5 74M<F=OE >>6GE>6, 6O?>?=5==OE 

<7 <=>7>E?>==OE <4F5D<4?>6, 6 F>< G<E?5 ?4DGE<=O, E6<=F>6>= D>?L7< (5 >7/<2), 

EF5>?>6>?>>=4 F>?M<=>= 5 E<, EF4?L=>= < <54=>= E5F><, E ?><>MLN >>F>DOE GD>65=L LG<4 

<>65F 5OFL E=<65= =4 25 4��. 

�> <=>7<E E?GG4OE E=<65=<5 LG<4 4>EF<745FEO 75D<5F<74F<5= >F65DEF<= 6 

?D>F<6>LG<=OE ?>>DOF<OE < >>6GE4E. 
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18 �?<E4=<5 ?D>5>F=OE D5L5=<= < <5D>?D<OF<= ?> >ED4=5 >5N5>F>6 
6 ?5D<>4 EFD><F5?LEF64, D5>>=EFDG>F<<, >4?<F4?L=>7> D5<>=F4 

�?O ?D54>F6D4M5=<O ?D>=<>=>65=<O ?>EF>D>==<E 6 7>=G ?D><76>4EF64 D45>F ?> 

EFD><F5?LEF6G E>>DG65=<= =4 ?D>5>F<DG5<>= ??>M44>5, =4 F5DD<F>D<< >5N5>F4 

>D74=<7>6O645FEO >DG7?>EGF>G=4O >ED4=4. 

�ED4=G EFD>OM57>EO >5N5>F4 4> ?>?=>7> 7465DL5=<O D45>F, 6>?NG4O ?5D<>4 6D5<5=<, 

6 F5G5=<5 >>F>D>7> EFD><F5?L=4O >D74=<74F<O 5G45F GEFD4=OFL 6OO6?5==O5 6 E>45 ?D<5<>< 

=54>EF4F><, 45<>=F<D>64FL 6D5<5==O5 E>>DG65=<O, 4 F4>65 6O6>7<FL =4E>4OMGNEO =4 

F5DD<F>D<< ??>M44>< EFD><F5?L=GN F5E=<>G < >5>DG4>64=<5, >EGM5EF6?O5F EFD><F5?L=4O 

>D74=<74F<O. %FD><F5?L=>= >D74=<74F<< =5>5E>4<<> 6O?>?=<FL 6D5<5==>5 >7D4645=<5 

F5DD<F>D<< 4?O ?D54>F6D4M5=<O =5E4=>F<>=<D>64==>7> ?D>=<>=>65=<O 6 7>=G ?D><76>4EF64 

D45>F ?N45= < 6<6>F=OE. 

� F5?OE >55E?5G5=<O 4=F<F5DD>D<EF<G5E>>= 74M<M5==>EF< >5N5>F4 EFD><F5?LEF64 

=5>5E>4<<> ?D54GE<>FD5FL E?54GNM<5 <5D>?D<OF<O: 

3 ?D<=OFL <5DO ?> <E>?NG5=<N GF5G5> >>=D<45=F<4?L=>= <=D>D<4F<< (?D46<?4 

D45>FO E ?D>5>F=>= 4>>G<5=F4F<5= < GE?>6<O 55 ED4=5=<O) 3 4?O ?D54>F6D4M5=<O 

6>7<>6=>EF5= 745?47>6D5<5==>7> <7GG5=<O ?>F5=F<4?L=O<< =4DGL<F5?O<< F5E=<G5E><E 

>E>55==>EF5= >5N5>F>6 EFD><F5?LEF64; 

3 D47D45>F4FL �4<OF>G «�>DO4>> 45=EF6<= ?D< G7D>75 E>65DL5=<O F5DD>D<EF<G5E>>7> 

4>F4» < >7=4>><<FL E =5= ?>4 D>E?<EL 65EL EFD><F5?L=O= ?5DE>=4? 4> =4G4?4 ?D><76>4EF64 

D45>F =4 >5N5>F5; 

3 E?G65O 557>?4E=>EF< �4>47G<>4 < �>4DO4G<>4 4>?6=O D47D45>F4FL ?>DO4>> 

674<<>45=EF6<O ?D< >5=4DG65=<< ?D<7=4>>6 F5DD>D<EF<G5E>>= G7D>7O; 

3 ?D< D47D45>F>5 <5D>?D<OF<= ?> >D74=<74F<< E6O7< =4 ?5D<>4 EFD><F5?LEF64 

=5>5E>4<<> ?D54GE<>FD5FL >5>DG4>64=<5 >5N5>F4 ED54EF64<< M>EFD5==>= E6O7< - 

E6>56D5<5==>= ?5D544G< <=D>D<4F<< 6 E?G65G 557>?4E=>EF< >5N5>F4 < 6OL5EF>OMGN 

E?G65G 557>?4E=>EF<; 

3 ?D<=OFL <5DO 4?O <E>?NG5=<O 6>7<>6=>EF< <E?>?L7>64=<O =4DGL<F5?O<< 

GD576OG4==>= E<FG4F<< 4?O ?D>=<>=>65=<O =4 >5N5>F; 

3 D47D45>F4FL <5D>?D<OF<O 4?O E6>56D5<5==>7> >?>65M5=<O D45>F4NM<E 6 F5?OE <E 

557>?4E=>=, 55E?D5?OFEF65==>= < E6>56D5<5==>= M64>G4F<<; 

3 >D74=<7>64FL >DG7?>EGF>G=GN >ED4=G >5N5>F4 3 4?O ?D54>F6D4M5=<O 

?D>=<>=>65=<O 6 7>=G ?D><76>4EF64 D45>F ?>EF>D>==<E ?<F. &5DD<F>D<O >5N5>F4 4>?6=4 
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5OFL >5>DG4>64=4 >7D4645=<5<, <E>?NG4NM<< E?GG4==O= ?D>E>4 ?N45= (6<6>F=OE), 6N574 

FD4=E?>DF4 <?< 74FDG4=ONM<< ?D>=<>=>65=<5 =4DGL<F5?5= =4 >ED4=O5<GN F5DD<F>D<N; 

3 4?O >5=4DG65=<O <7<5=5=<= >5EF4=>6><, >>F>DO5 <>7GF 5OFL E6O74=O E 

?>47>F>6>>= ?D>F<6>?D46=OE 45=EF6<=, 4>?6=> 5OFL >D74=<7>64=> >E65M5=<5 >5N5>F4 6 

F5<=>5 6D5<O EGF>>; 

3 >D74=<7>64FL >E<>FD < E4=>F<>=<D>64==O= 4>?GE> ?D<5O64NM<E =4 EFD><F5?L=GN 

??>M44>G ?N45=, FD4=E?>DF=OE ED54EF6 < 7DG7>6 =4 ?D54<5F =4?<G<O G =<E ED54EF6 

E>65DL5=<O F5DD>D<EF<G5E><E 4>F>6; 

3 <4F5D<4?O, >5>DG4>64=<5 < >>=EFDG>F<<, ?>EF46?O5<O5 =4 EFD><F5?L=O5 ??>M44><, 

=5>5E>4<<> ?>465D74FL >>=FD>?N 6 F5?OE >55E?5G5=<O <E E>>F65FEF6<O FD55>64=<O< 

D44<4F<>==>=, E<<<G5E>>= < 5<>?>7<G5E>>= 557>?4E=>EF<, 67DO6>557>?4E=>EF< < 

4=F<F5DD>D<EF<G5E>>= 557>?4E=>EF<. 
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19 �?<E4=<5 ?D>5>F=OE D5L5=<= < <5D>?D<OF<= ?> D54?<74F<< 
FD55>64=<=, ?D54GE<>FD5==OE ?G=>F>< 8 FD55>64=<= ?> >55E?5G5=<N 
FD4=E?>DF=>= 557>?4E=>EF< >5N5>F>6 FD4=E?>DF=>= <=DD4EFDG>FGDO ?> 
6<44< FD4=E?>DF4 =4 MF4?5 <E ?D>5>F<D>64=<O < EFD><F5?LEF64, 
GF65D645==OE ?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 
31 45>45DO 2020 7. N 2418 "�5 GF65D645=<< FD55>64=<= ?> >55E?5G5=<N 
FD4=E?>DF=>= 557>?4E=>EF< >5N5>F>6 FD4=E?>DF=>= <=DD4EFDG>FGDO ?> 
6<44< FD4=E?>DF4 =4 MF4?5 <E ?D>5>F<D>64=<O < EFD><F5?LEF64" 

�4 ?5D<>4 EFD><F5?LEF64 EFD><F5?L=4O >D74=<74F<O >5O74=4 >D74=<7>64FL =4 

EFD>OM5<EO >5N5>F5 FD4=E?>DF=>= <=DD4EFDG>FGDO E?54GNM<5 <5D>?D<OF<O: 

- 4>E<>FD 6 F5?OE >55E?5G5=<O FD4=E?>DF=>= 557>?4E=>EF<; 

- ?D>?GE>=>= < 6=GFD<>5N5>F>6O= D56<<O, >55E?5G<64NM<5 >>=FD>?L 74 6E>4>< 

(6OE>4><) D<7<G5E><E ?<F, 6N574>< (6O574><) FD4=E?>DF=OE ED54EF6, 6=>E>< (6O=>E><), 

66>7>< (6O6>7><) 7DG7>6 < <=OE <4F5D<4?L=OE >5N5>F>6, 6 F>< G<E?5 6 F5?OE ?D54>F6D4M5=<O 

6>7<>6=>EF< D47<5M5=<O <?< ?>?OF>< D47<5M5=<O 67DO6=OE GEFD>=EF6 (67DO6G4FOE 

65M5EF6), G7D>64NM<E 6<7=< <?< 74>D>6LN ?5DE>=4?4 < 4DG7<E ?<F; 

- <5D>?D<OF<O ?> 74M<F5 >F 4>F>6 =574>>==>7> 6<5L4F5?LEF64, GG<FO64NM<5 

>E>55==>EF< EFD><F5?LEF64 >F45?L=OE >5N5>F>6 FD4=E?>DF=>= <=DD4EFDG>FGDO, 

?D54GE<>FD5==O5 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<. 

�6545= < >EGM5EF6?O5FEO D57?4<5=F<D>64==O= 4>?GE> ?<F (?D>?GE>=>= D56<<), 

<<5NM<E ?D46> ?D>E>44/?D>5744 =4 F5DD<F>D<N <5EF>D>645=<O, >D74=<7>64= EFD>7<= GG5F 

6N5744/6O5744 FD4=E?>DF4 G5D57 ���. 
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20 �5>E=>64=<5 ?D<=OF>= ?D>4>?6<F5?L=>EF< EFD><F5?LEF64, 
D5>>=EFDG>F<<, >4?<F4?L=>7> D5<>=F4 >5N5>F4 >4?<F4?L=>7> 
EFD><F5?LEF64 < >F45?L=OE MF4?>6 EFD><F5?LEF64, D5>>=EFDG>F<<  

�D>4>?6<F5?L=>EFL EFD><F5?LEF64 ??>M44>< D47654>G=>= E>646<=O .%4-9$ ?D< 

>5N5<5 EFD><F5?L=>-<>=F46=OE D45>F <5=LL5 0,1 <?=. DG5. >?D545?5=4 6 E>>F65FEF6<< E 

F><>< 1 "$4EG5F=OE ?>>474F5?5= 4?O >?D545?5=<O ?D>4>?6<F5?L=>EF< EFD><F5?LEF64" ?> 

D>D<G?5 

&==�1·%�2,                           (20.1) 

745  &= 3 ?D>4>?6<F5?L=>EFL EFD><F5?LEF64; 

% 3 >5N5< %�$ 6 F5=4E 19847., <?=. DG5. (74 6OG5F>< EF><<>EF< <4F5D<4?>6). 

�1=18,56 3 >>MDD<F<5=F ?5D5E>44 > F5=4< 1991 7>44 >F F5= 2001 7>44; 

�2=1,58 3 >>MDD<F<5=F ?5D5E>44 > F5=4< 1984 7>44 >F F5= 1991 7>44; 

�1 < �2 3 ?4D4<5FDO GD46=5=<O, >?D545?5==O5 ?> 44==O< EF4F<EF<><: 

�1=7,44; �2= 0,49. 

�D>4>?6<F5?L=>EFL EFD><F5?LEF64 E>>DD5>F<D>64=4 E GG5F>< 64EF>6>7> <5F>44 

>D74=<74F<< D45>F 6 E>>F65FEF6<< E �D<>47>< �<=<EF5DEF64 EFD><F5?LEF64 < >><<G=4?L=>7> 

E>7O=EF64 7 318/?D >F 15.06.2020 ?> D>D<G?5: 

                                 &E6< =                                                     (20.2) 

745 &E6< - ?D>4>?6<F5?L=>EFL EFD><F5?LEF64 64EF>6O< <5F>4><, <5E.; 

&E= 3 ED>> EFD><F5?LEF64 =>D<4F<6=O=, <5E.; 

�?5D = 1,65 3 >>MDD<F<5=F ?5D5D45>F>< D45>G57> 6D5<5=< 6 746<E<<>EF< >F 

?D>4>?6<F5?L=>EF< D45>G5= E<5=O (11 G4E.), >?D545?O5<>= <EE>4O <E E>>F=>L5=<O 

GEF4=>6?5==>= < =>D<4?L=>= ?D>4>?6<F5?L=>EF< D45>G57> 6D5<5=< 6 =545?N (6 E>>F65FEF6<< 

�D<?>65=<5< 73 > �D<>47G �<=<EF5DEF64 EFD><F5?LEF64 < >><<G=4?L=>7> E>7O=EF64 7 

318/?D >F 15.06.2020); 

�E? = 0,07 3 >>MDD<F<5=F E=<65=<O ?D><76>4<F5?L=>EF< FDG44 64EF>6OE D45>F=<>>6 6 

746<E<<>EF< >F ?D>4>?6<F5?L=>EF< D45>G5= E<5=O, >?D545?O5<>= 6 746<E<<>EF< >F 

?D>4>?6<F5?L=>EF< D45>G5= E<5=O (6 E>>F65FEF6<< �D<?>65=<5< 73 > �D<>47G 

�<=<EF5DEF64 EFD><F5?LEF64 < >><<G=4?L=>7> E>7O=EF64 7 318/?D >F 15.06.2020). 

$4EG5F ?D>4>?6<F5?L=>EF< EFD><F5?LEF64 ?D54EF46?5= 6 F45?<F5 20.1. 
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&45?<F4 20.13 $4EG5F ?D>4>?6<F5?L=>EF< EFD><F5?LEF64 

 

�4<<5=>64=<5  

D45>F 

�5N5< 

%�$ 6 

F5=4E 

2001 7>44, 

FOE. DG5. 

$>D<G?4 

�D>4>?6<F5- 

?L=>EFL 

EFD><F5?LEF64 

>5N5>F4, 

<5E. 

�D>4>?6<F5- 

?L=>EFL 

EFD><F5?LEF64  

E GG5F><  

64EFO, <5E. 

�>47>F>6<-

F5?L=O= 

?5D<>4, 

<5E. 

�?>M44>4 

D47654>G=>= 

E>646<=O  

.%4-9$ 
1192,22 

%=1,192:18,56:1,58=0,04 
<?=. DG5., 

&==7,4 E0,04 ^0,5-0,5 E 

0,04= 1,5 <5E. 

&6= 1,5/1,65E (1-0,07)=1,0 

<5E. 

1,5 1,0 0,2 

 

�5M4O ?D>4>?6<F5?L=>EFL EFD><F5?LEF64 >5N5>F4 E>>F65FEF6G5F D4EG5F=>= < 

E>EF46?O5F 1,0 <5E., 6 F>< G<E?5 ?D>4>?6<F5?L=>EFL ?>47>F>6<F5?L=>7> ?5D<>44 3 0,2 <5E. 

�D>4>?6<F5?L=>EFL EFD><F5?LEF64 ?>47>F>6<F5?L=>7> ?5D<>44 >?D545?O5FEO 6 D47<5D5  

20 % >F ?D>4>?6<F5?L=>EF< EFD><F5?LEF64 E>7?4E=> ?.4 «�5M<5 ?>?>65=<O», �D<?>65=<5 3, 

G4EFL 1 %�<� 1.04.03-85*. 

� ?>47>F>6<F5?L=O= ?5D<>4 EFD><F5?LEF64 5G45F ?D>6>4<FLEO >><??5>F4F<O 

<4F5D<4?>6, F5E=>?>7<G5E>4O ?>47>F>6>4 > EFD><F5?L=><G ?D><76>4EF6G, >5M4O 

>D74=<74F<>==>-F5E=<G5E>4O ?>47>F>6>4 > EFD><F5?LEF6G. 

�5M4O ?D>4>?6<F5?L=>EFL EFD><F5?LEF64 < ?>DO4>> >G5D54=>EF< EFD><F5?LEF64 ?> 

GG4EF>4< 5G4GF >?D545?5=O 74>47G<>>< 6 746<E<<>EF< >F >5N5<4 D<=4=E<D>64=<O >5N5>F4 6 

F5?>< < (<?<) MF4?>6, GEF4=>6?5==>7> 6OL5EF>OM5= >D74=<74F<5= E>7?4E=> 5<7=5E-??4=G =4 

D<=4=E>6O= 7>4. 
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21 �5D5G5=L <5D>?D<OF<= ?> >D74=<74F<< <>=<F>D<=74 74 
E>EF>O=<5< 744=<= < E>>DG65=<=, D4E?>?>65==OE 6 =5?>ED54EF65==>= 
5?<7>EF< >F EFD>OM57>EO >5N5>F4, 75<?O=O5, EFD><F5?L=O5, <>=F46=O5 < 
<=O5 D45>FO =4 >>F>D>< <>7GF ?>6?<OFL =4 F5E=<G5E>>5 E>EF>O=<5 < 
=4456=>EFL F4><E 744=<= < E>>DG65=<= 

� =5?>ED54EF65==>= 5?<7>EF< >F ?D>5>F<DG5<OE >5N5>F>6 =5F 45=EF6GNM<E 744=<= < 

E>>DG65=<=. 
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22 �5D5G5=L <5D>?D<OF<= ?> >55E?5G5=<N E>5?N45=<O 
GEF4=>6?5==OE FD55>64=<= M=5D75F<G5E>>= MDD5>F<6=>EF< 

22.1 �5>E=>64=<5 < >?<E4=<5 GEFD>=EF6 < F5E=>?>7<=, ?D<<5=O5<OE ?D< 
EFD><F5?LEF65, D5>>=EFDG>F<< < >4?<F4?L=>< D5<>=F5 744=<=, EFD>5=<= < E>>DG65=<=, 
< <4F5D<4?>6, ?>76>?ONM<E <E>?NG<FL =5D4F<>=4?L=O= D4EE>4 M=5D75F<G5E><E 
D5EGDE>6 6 ?D>F5EE5 EFD><F5?LEF64, D5>>=EFDG>F<< < >4?<F4?L=>7> D5<>=F4 744=<=, 
EFD>5=<= < E>>DG65=<= 

�5>5E>4<<O5 ?>>474F5?< M=5D75F<G5E>>= MDD5>F<6=>EF< >55E?5G<645FEO 

E>>F65FEF6GNM<<< D5L5=<O<< ?> ?D><76>4EF6G D45>F E ?>45>D>< >?F<<4?L=OE 

EFD><F5?L=OE <4L<= < <5E4=<7<>6, 46F>FD4=E?>DF=OE ED54EF6. 

�E=>6=>= 7444G5= D47D45>F>< < >EGM5EF6?5=<O <5D>?D<OF<= ?> M>>=><<< 

M?5>FD>M=5D7<< O6?O5FEO E>>D4M5=<5 ?>F5DL M?5>FD>M=5D7<< 6 GEF4=>6>4E ?>FD55<F5?O. � 

=<< >F=>EOFEO =5 F>?L>> ?>F5D< 6 47D574F4E < M?5>FD<G5E><E E5FOE, >>F>DO5 =5<7556=O 6 

?D>F5EE5 ?D5>5D47>64=<O M?5>FD>M=5D7<<, => < 4>?>?=<F5?L=O5 ?>F5D<, 6O7O645<O5 

=5E>>F65FEF6<5< D4>F<G5E>>= =47DG7>< 47D574F>6 <E =><<=4?L=>= <>M=>EF< <?< 

=5D4F<>=4?L=O<< D56<<4<< D45>FO >5>DG4>64=<O. 

�5F>4O M>>=><<< M?5>FD>M=5D7<<: 

2 >>=FD>?L 74 D56<<>< 7>D5=<O >E65F<F5?L=OE ?D<5>D>6; 

2 <E?>?L7>64=<5 4?O >E65M5=<O M=5D7>E55D574NM<E ?4<?; 

2 <E?>?L7>64=<5 D5?5 6D5<5=<, 44FG<>>6 ?D<EGFEF6<O < 46<65=<O; 

2 <E?>?L7>64=<5 <5=55 M=5D7>5<>>7> >5>DG4>64=<O; 

2 >?F<<4?L=O= ?>45>D <>M=>EF< M?5>FD>46<74F5?5=; 

2 ?D<<5=5=<5 E>6D5<5==>7> M=5D7>E55D574NM57> >5>DG4>64=<O < <4F5D<4?>6; 

2 ?D<<5=5=<5 G4EF>F=>-D57G?<DG5<OE M?5>FD>?D<6>4>6 6 M?5>FD>46<74F5?OE; 

2 <E?>?L7>64=<5 M?5>FD>46<74F5?5=, >E=4M5==OE GEFD>=EF6>< ??46=>7> ?GE>4; 

2 <E?>?L7>64=<5 M?5>FD>46<74F5?5= E ?>6OL5==O< >>MDD<F<5=F>< ?>?57=>7> 

45=EF6<O; 

2 GEF4=>6>4 6 EE5<4E M?5>FD>E=4565=<O GEFD>=EF6 74M<F=>7> >F>?NG5=<O; 

2 4?O E>>D4M5=<O ?>F5DL 6 E5FOE =4 EFD><F5?L=>= ??>M44>5 <E?>?L7>64=<5 

?D>6>44 E <54=O<< 6<?4<<, ?> 6>7<>6=>EF< <<=<<<7<D>64FL 4?<=G 

?D>6>4=<>>6 >F ?<F4NM<E ?G=>F>6 4> M?5>FD>?D<5<=<>>6; 

2 >5>DG4>64=<5 6D5<5==OE M?5>FD<G5E><E E5F5= >><?5=E4F>D4<< D54>F<6=>= 

<>M=>EF< (?D< =5>5E>4<<>EF<); 

2 GG5F D4EE>44 M?5>FD>M=5D7<<. 
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�?O >E65M5=<O EFD><F5?L=OE ??>M44>> =5 4>?GE>45FEO ?D<<5=5=<5 >F>DOFOE 

747>D47DO4=OE ?4<? < ?4<? =4>4?<64=<O E ?D>7D4G=>= >>?5>=. 

�?O G<5=LL5=<O D4EE>44 F>??<64 D45>F4NM5= F5E=<>< =5>5E>4<<>: 

2 <E?>?L7>64FL F5E=<>G E =<7><< D4EE>4>< F>??<64; 

2 <E>?NG<FL D45>FG F5E=<>< 6E>?>EFGN; 

2 4?O ?>4>7D564 EFD><F5?L=>= F5E=<>< 6 7<<=<= ?5D<>4 <E?>?L7>64FL 

E?5F<4?L=O5 GEF4=>6><; 

2 74?D5F<FL D45>FG F5E=<>< =4 D>DE<D>64==>< D56<<5; 

2 >55E?5G<FL >?F<<4?L=>5 446?5=<5 6 L<=4E. 

-=5D75F<G5E>4O MDD5>F<6=>EFL D>D<O ��<% 4>EF<745FEO 74 EG5F ?D<<5=5=<O 

>><??5>E4 M=5D7>E55D574NM<E <5D>?D<OF<=: 

2 <E?>?L7>64=<5 >><?4>F=>= D>D<O ��<%, >55E?5G<64NM5= EGM5EF65==>5 

E=<65=<5 D4EE>44 >55E?5G<64NM5= EGM5EF65==>5 E=<65=<5 D4EE>44 F5??>6>= 

M=5D7<< =4 >F>??5=<5; 

2 ?D<<5=5=<5 <E?>?=5=<O 647>=-4><>6, E>>F65FEF6GNM5<G >?<<4F<G5E>><G 

?>OEG D4=>=>6 %�$; 

2 =4?<G<5 6 647>=5 F5??>7> 6E>4=>7> G7?4 E F4<5GD><; 

2 ?D<<5=5=<5 >>=EFDG>F<< 465D5= E ?>6OL5==O<< F5??>74M<F=O<< >4G5EF64<<, 

?>=<65==>= 6>74GE>?D>=<F45<>EFLN ?D<F6>D>6 < D4?LF56; 

2 GEFD>=EF6> M?5<5=F>6 <5E4=<G5E>>7> 74>DO64=<O 465D5= (4>6>4G<>>6); 

2 <E?>?L7>64=<5 MDD5>F<6=OE >>>==OE 5?>>>6 <E ��% ?D>D<?5= E 74?>?=5=<5< 

46GE>4<5D=O< EF5>?>?4>5F><; 

2 <E?>?L7>64=<5 MDD5>F<6=OE E<EF5< >5>7D564 (?D<<5=5=<5 M?5>FD<G5E><E 

>5>7D564F5?5= E 46F><4F<G5E><< D57G?<D>64=<5< F5??>6>= <>M=>EF< 

=47D564F5?L=>7> M?5<5=F4 746<E<<>EF< >F F5<?5D4FGDO 6>74GE4 6 ?><5M5=<<); 

2 <E?>?L7>64=<5 M=5D7>E55D574NM<E ?4<?. 

% GG5F>< ?.?. 6.14, 7.22 %� 48.13330.2019, 75=?>4DO4=4O >D74=<74F<O 6 

D47D454FO645<>< ��$ GF>G=O5F ?>FD55=>EFL 6 M=5D7>D5EGDE4E < ?D>D454FO645F D5L5=<O ?> 

?D>>?44>5 6D5<5==OE E5F5= 6>4>-, F5??>-, M?5>FD>E55D565=<O < >E65M5=<O EFD><F5?L=>= 

??>M44>< D45>G<E <5EF. 

� 44==>< ?D>5>F5 D45>FO >D4F>>ED>G=O5, D4EE>4 M=5D75F<G5E><E D5EGDE>6 6 ?D>F5EE5 

EFD><F5?LEF64 <<=<<4?L=O=. �D>6<64=<5 < E>F<4?L=>-5OF>6>5 >5E?G6<64=<5 EFD><F5?5= 

?D54?>?4745FEO 6 ��� .%4, D4E?>?>65==>= =4 .6=>-%N?L4N>4DE>>< ?<F5=7<>==>< 

GG4EF>5, 6> 6D5<5==OE 647>= - 4><4E (��<%) ?D54GE<>FD5=> 6D5<5==>5 ?D55O64=<5 ?N45=. 
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22.2  �5>E=>64=<5 6O5>D4 >?F<<4?L=OE F5E=>?>7<G5E><E < <=65=5D=>-F5E=<G5E><E 
D5L5=<= ?D< >EGM5EF6?5=<< EFD><F5?LEF64, D5>>=EFDG>F<< < >4?<F4?L=>7> D5<>=F4 
>5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 E F5?LN E>>F65FEF6<O FD55>64=<O< 
M=5D75F<G5E>>= MDD5>F<6=>EF< 

�D>5>F>< D47D45>F4=4 >?F<<4?L=4O FD4=E?>DF=4O EE5<4 EFD><F5?LEF64 E <<=<<4?L=O< 

??5G>< 6>7>< 4> >5N5>F4 EFD><F5?LEF64, GF> ?>76>?O5F >?F<<<7<D>64FL D4EE>4 F>??<64 ?D< 

4>EF46>5 7DG7>6 < <4F5D<4?>6 46F>FD4=E?>DF4.  

�?O M>>=><<< M=5D7>D5EGDE>6 < ED>>>6 ?D><76>4EF64 D45>F ?D>5>F=>= 4>>G<5=F4F<5= 

?D54GE<4FD<645FEO <4>E<<4?L=>5 E>6<5M5=<5 %�$ 6 7>=5 EFD><F5?LEF64. �D54GE<4FD<645FEO 

E?54GNM4O >G5D54=>EFL < ?>DO4>> E>6<5M5=<O 6O?>?=5=<O %�$: 

2 D45>FO ?>47>F>6<F5?L=>7> ?5D<>44; 

2 D45>FO >E=>6=>7> ?5D<>44; 

2 D45>FO ?> <E?OF4=<N < ?GE>>=4?44>5. 

�4?L=5=L4O ?D>D45>F>4 < 45F4?<74F<O >><??5>E4 <5D>?D<OF<= < D45>F, ?>4?564M<E 

E>6<5M5=<N, 4>?6=4 5OFL 6O?>?=5=4 =4 ��$, D47D454FO645<>< �5=?>4DO4=>= 

>D74=<74F<5=. 
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23 &5E=<>>-M>>=><<G5E><5 ?>>474F5?< EFD><F5?LEF64 

&5E=<>>-M>>=><<G5E><5 ?>>474F5?< EFD><F5?LEF64 ?> >5N5>FG «�5GEFD>=EF6> 

%N?L4N>4DE>>7> <5EF>D>645=<O. $47654>G=4O E>646<=4 .%4-9$. ,?4<>6O= 4<54D» 

?D54EF46?5=O 6 F45?<F5 35. 

&45?<F4 35- �E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?< EFD><F5?LEF64 ?> >5N5>FG 

«�5GEFD>=EF6> %N?L4N>4DE>>7> <5EF>D>645=<O. $47654>G=4O E>646<=4 .%4-9$. ,?4<>6O= 

4<54D» 

�>>474F5?< �4<=<F4 <7<5D5=<O �5?<G<=4 

?>>474F5?5= 

%F><<>EFL %�$, FOE.DG5. (2001 7) FOE. DG5. 1192,22 

�5M4O ?D>4>?6<F5?L=>EFL EFD><F5?LEF64 <5E. 1,0 

%D54=5E?<E>G=4O G<E?5==>EFL D45>F4NM<E, G5?. G5? 33 

&DG4>74FD4FO G5?.-G 6663,6 
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24 %>>D4M5=<O 

�%� �>DNG5-E<47>G=O5 <4F5D<4?O 

��%&  �>EG44DEF65==O= EF4=44DF 

�� �>DNG4O 6<4>>EFL 

�&$ �=65=5D=>-F5E=<G5E><= D45>F=<> 

��� �57>> 6>E??4<5=ONM4O 6<4>>EFL 

��� �?44L<= >5E?G6<64NM<= ?5DE>=4? 

�&�  �5746<E<<O= F5E=<G5E><= =447>D 

�& �ED4=4 FDG44 

��% �D>5>F >D74=<74F<< EFD><F5?LEF64 

��$ �D>5>F ?D><76>4EF64 D45>F 

�� �D><OL?5==4O 557>?4E=>EFL 

��� �D545?L=>-4>?GEF<<4O >>=F5=FD4F<O 

�'- �D46<?4 GEFD>=EF64 M?5>FD>GEF4=>6>> 

$� $G>>6>4OM<= 4>>G<5=F 

%�$ %FD><F5?L=>-<>=F46=O5 D45>FO 

%�<�  %FD><F5?L=O5 =>D<O < ?D46<?4 

&�� &65D4O5 5OF>6O5 >FE>4O 

&' &5E=<G5E><5 GE?>6<O 

��<% �D5<5==O5 744=<O < E>>DG65=<O 

��� .%4  
�?>D=4O 5474 ?D><OE?4 .6=>-%N?L4N>4DE>>7> 

?<F5=7<>==>7> GG4EF>4 

 

��� 
�?>D=4O �474 �D><OE?4 ��� «$�� %=4565=<5» (��'-100) 
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25 %EO?>G=O5 =>D<4F<6=O5 4>>G<5=FO 

1 �D44>EFD><F5?L=O= >>45>E $>EE<=E>>= $545D4F<< >F 29.12.2004 7 190-$�; 

2 �5<5?L=O= >>45>E $>EE<=E>>= $545D4F<< >F 25.10.2001 7 136-$�;  

3 �>4=O= >>45>E $>EE<=E>>= $545D4F<< >F 03.06.2006 7 74-$�; 

4 �5E=>= >>45>E $>EE<=E>>= $545D4F<< >F 04.12.2006 7 200-$�; 

5 &DG4>6>= >>45>E $>EE<=E>>= $545D4F<< >F 30.12.2001 7 197-$�; 

6 $545D4?L=O= 74>>= >F 24.06.1998 7 89-$� �5 >FE>44E ?D><76>4EF64 < ?>FD55?5=<O; 

7 $545D4?L=O= 74>>= >F 21.07.1997 7 116-$� � ?D><OL?5==>= 557>?4E=>EF< >?4E=OE 

?D><76>4EF65==OE >5N5>F>6; 

8 $545D4?L=O= 74>>= >F 10.01.2002 7 7-$� «�5 >ED4=5 >>DG64NM5= ED54O»; 

9 $545D4?L=O= 74>>= >F 04.05.1999 7 96-$� «�5 >ED4=5 4F<>ED5D=>7> 6>74GE4»; 

10 �>EF4=>6?5=<5 �D46<F5?LEF64 $$ >F 16.09.2020 7 1479 «�D46<?4 ?D>F<6>?>64D=>7> 

D56<<4 6 $>EE<=E>>= $545D4F<<»; 

11 �>EF4=>6?5=<5 �D46<F5?LEF64 $$ >F 16.02.2008 7 87 � E>EF465 D4745?>6 ?D>5>F=>= 

4>>G<5=F4F<< < FD55>64=<OE > <E E>45D64=<N; 

12 �D<>47 �<=<EF5DEF64 74D46>>ED4=5=<O  < �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO 

$>EE<=E>>= $545D4F<< >F 31 45>45DO 2020 7>44 N 988=/1420= «�5 GF65D645=<< ?5D5G=O 

6D54=OE < (<?<) >?4E=OE ?D><76>4EF65==OE D4>F>D>6 < D45>F, ?D< 6O?>?=5=<< >>F>DOE 

?D>6>4OFEO >5O74F5?L=O5 ?D5464D<F5?L=O5 <54<F<=E><5 >E<>FDO ?D< ?>EFG??5=<< =4 

D45>FG < ?5D<>4<G5E><5 <54<F<=E><5 >E<>FDO»; 

13 $545D4?L=O5 =>D<O < ?D46<?4 6 >5?4EF< ?D><OL?5==>= 557>?4E=>EF< >F 26.11.2020 7 

461 �D46<?4 557>?4E=>EF< >?4E=OE ?D><76>4EF65==OE >5N5>F>6, =4 >>F>DOE 

<E?>?L7GNFEO ?>4N5<=O5 E>>DG65=<O; 

14 ��%& $ 51232-98 �>44 ?<FL564O. �5M<5 FD55>64=<O > >D74=<74F<< < <5F>44< >>=FD>?O 

>4G5EF64; 

15 ��%& $ 52290-2004 &5E=<G5E><5 ED54EF64 >D74=<74F<< 4>D>6=>7> 46<65=<O. �=4>< 

4>D>6=O5. �5M<5 F5E=<G5E><5 FD55>64=<O; 

16 ��%& $ 55990-2014 �5EF>D>645=<O =5DFO=O5 < 747>=5DFO=O5. �D><OE?>6O5 

FDG5>?D>6>4O. �>D<O ?D>5>F<D>64=<O; 

17 ��%& $ 58762-2019 �44=<O <>5<?L=O5 (<=65=F4D=O5). %<EF5<O E4=<F4D=>-F5E=<G5E><5. 

�5M<5 F5E=<G5E><5 GE?>6<O; 

18 ��%& 10704-91 &DG5O EF4?L=O5 M?5>FD>E64D=O5 ?DO<>L>6=O5. %>DF4<5=F; 
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19 ��%& 15150-69 �4L<=O, ?D<5>DO < 4DG7<5 F5E=<G5E><5 <745?<O. �E?>?=5=<O 4?O 

D47?<G=OE >?<<4F<G5E><E D4=>=>6. �4F57>D<<, GE?>6<O M>E??G4F4F<<, ED4=5=<O < 

FD4=E?>DF<D>64=<O 6 G4EF< 6>745=EF6<O >?<<4F<G5E><E D4>F>D>6 6=5L=5= ED54O; 

20 ��%& 16350-80 �?<<4F %%%$. $4=>=<D>64=<5 < EF4F<EF<G5E><5 ?4D4<5FDO 

>?<<4F<G5E><E D4>F>D>6 4?O F5E=<G5E><E F5?5=; 

21 ��%& 8731-74 &DG5O EF4?L=O5 55EL>6=O5 7>DO45D>D<<D>64==O5. &5E=<G5E><5 

FD55>64=<O; 

22 ��%& 16350-80 �?<<4F %%%$. $4=>=<D>64=<5 < EF4F<G5E><5 ?4D4<5FDO >?<<4F<G5E><E 

D4>F>D>6 4?O F5E=<G5E><E F5?5=; 

23 ��%& $ 58760-2019 �44=<O <>5<?L=O5 (<=65=F4D=O5). �5M<5 F5E=<G5E><5 GE?>6<O; 

24 ��%& 19904-90 �D>>4F ?<EF>6>= E>?>4=>>4F4==O=. %>DF4<5=F; 

25 ��%& 25129-2020 �DG=F>6>4 �$-021.&5E=<G5E><5 GE?>6<O; 

26 ��%& 6465-76 -<4?< �$-115.&5E=<G5E><5 GE?>6<O; 

27 ��%& 10704-91 &DG5O EF4?L=O5 M?5>FD>E64D=O5 ?DO<>L>6=O5. %>DF4<5=F; 

28 ��%& 15150-69 �4L<=O, ?D<5>DO < 4DG7<5 F5E=<G5E><5 <745?<O. �E?>?=5=<O 4?O 

D47?<G=OE >?<<4F<G5E><E D4=>=>6. �4F57>D<<, GE?>6<O M>E??G4F4F<<, ED4=5=<O < 

FD4=E?>DF<D>64=<O 6 G4EF< 6>745=EF6<O >?<<4F<G5E><E D4>F>D>6 6=5L=5= ED54O; 

29 ��� 105-03 �?D545?5=<5 >4F57>D<= ?><5M5=<=, 744=<= < =4DG6=OE GEF4=>6>> ?> 

67DO6>?>64D=>= < ?>64D=>= 557>?4E=>EF<; 

30 $4EG5F=O5 =>D<4F<6O 4?O E>EF46?5=<O ?D>5>F>6 >D74=<74F<< EFD><F5?LEF64, 

&�����&�; 

31 $� 102-011-89 �ED4=4 FDG44. �D74=<74F<>==>-<5F>4<G5E><5 4>>G<5=FO; 

32 $%� 68-87 �D>5>F<D>64=<5 >5N5>F>6 ?D><OL?5==>7> < 7D4644=E>>7> =47=4G5=<O 

�4?44=>-%<5<DE>>7> =5DF5747>6>7> >><??5>E4; 

33 %4=�<� 2.1.4.1116-02 �<FL564O 6>44. �<7<5=<G5E><5 FD55>64=<O > >4G5EF6G 6>4O, 

D4ED4E>64==>= 6 5<>>EF<. �>=FD>?L >4G5EF64; 

34 %4=�<� 2.6.1.2523-09 �>D<O D44<4F<>==>= 557>?4E=>EF< (�$�- 99/2009); 

35 %� 44.13330.2011 «%�<� 2.09.04-87* «�4<<=<EFD4F<6=O5 < 5OF>6O5 744=<O»; 

36 %� 45.13330.2017 «%�<� 3.02.01-87 «�5<?O=O5 E>>DG65=<O, >E=>64=<O < DG=44<5=FO»; 

37 %� 11-105-97 �=65=5D=>-75>?>7<G5E><5 <7OE>4=<O 4?O EFD><F5?LEF64; 

38 %� 11-110-99 �6F>DE><= =447>D 74 EFD><F5?LEF6>< 744=<= < E>>DG65=<=; 

39 %� 20.13330.2016 «%�<� 2.01.07-85* «�47DG7>< < 6>745=EF6<O»; 

40 %� 22.13330.2016 «%�<� 2.02.01-83* «�E=>64=<O 744=<= < E>>DG65=<=»; 

41 %� 28.13330.2017 «%�<� 2.03.11-85 «�4M<F4 EFD><F5?L=OE >>=EFDG>F<= >F >>DD>7<<»; 
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42 %� 34.13330.2021 «%�<� 2.05.02-85* «�6F><>5<?L=O5 4>D>7<»; 

43 %� 126.13330.2017 «%�<� 3.01.03-84 «�5>457<G5E><5 D45>FO 6 EFD><F5?LEF65»; 

44 %� 131.13330.2020 «%�<� 23-01-99* «%FD><F5?L=4O >?<<4F>?>7<O»; 

45 %� 2.6.1.2612-10 �E=>6=O5 E4=<F4D=O5 ?D46<?4 >55E?5G5=<O D44<4F<>==>= 557>?4E=>EF< 

(�%��$� 99/2012); 

46 %� 25.13330.2020 «%�<� 2.02.04-88 «�E=>64=<O < DG=44<5=FO =4 65G=><5D7?OE 

7DG=F4E»; 

47 C� 86.13330.2022 «%�<� III-42-80* «�47<EFD4?L=O5 FDG5>?D>6>4O»; 

48 %� 48.13330.2019 «%�<� 12-01-2004 «�D74=<74F<O EFD><F5?LEF64»; 

49 %�<� 12-03-2001 �57>?4E=>EFL FDG44 6 EFD><F5?LEF65. '4EFL 1. �5M<5 FD55>64=<O; 

50 %�<� 12-04-2002 �57>?4E=>EFL FDG44 6 EFD><F5?LEF65. '4EFL 2. %FD><F5?L=>5 

?D><76>4EF6>; 

51 %� 68.13330.2017 «%�<� 3.01.04-84 �D<5<>4 6 M>E??G4F4F<N 74>>=G5==OE 

EFD><F5?LEF6>< >5N5>F>6. �E=>6=O5 ?>?>65=<O»; 

52 %�<� 1.04.03-85* �>D<O ?D>4>?6<F5?L=>EF< EFD><F5?LEF64 < 7445?4 6 EFD><F5?LEF65 

?D54?D<OF<=, 744=<= < E>>DG65=<=; 

53 %�<� 12-04-2002 � ?D<=OF<< EFD><F5?L=OE =>D< < ?D46<? $>EE<=E>>= $545D4F<< 

«�57>?4E=>EFL FDG44 6 EFD><F5?LEF65. '4EFL 2. %FD><F5?L=>5 ?D><76>4EF6>»; 

54 %� 115.13330.2016 «%�<� 22-01-95 �5>D<7<>4 >?4E=OE ?D<D>4=OE 6>745=EF6<=». 
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�D<?>65=<5 � 

(�5O74F5?L=>5) 

 &5E=<G5E><5 GE?>6<O =4 6>4>E=4565=<5 < 6>4>>F6545=<5 
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�D<?>65=<5 � 

(�5O74F5?L=>5) 

 &5E=<G5E><5 GE?>6<O 4?O D47D45>F>< D4745?4 «��%» 
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�D<?>65=<5 � 

(�5O74F5?L=>5) 

 �4E?>DF4 =4 <=65=F4D=O5 744=<O 6D5<5==OE E4=<F4D=>-5OF>6OE ?><5M5=<= 

�D4F>>5 

>?<E4=<5: 

�D<F5? 647>=-4>< ?5D546<6=>= <>45?< "�54D" �.14.1.1 (�><5M5=<5 

DG>>6>4<F5?O) 

 

 

 

�>?=>5 >?<E4=<5: 1. -<F G?D46?5=<O,  

2. �7=5FGL<F5?L-2LF,  

3. �?F5G>4,  

4. �4E?O=O= D44<4F>D 2>�F-3LF,  

5. %FG? >D<E=O=-8LF,  

6. %F>? (�-812)-2LF,  

7. %F>? (�-814)-2LF,  

8. �5L4?>4 E ?>?>>= (470�-8250100)-2 LF,  

9. �D5E?> >D<E=>5-2LF,  

10. ,>4D (784E412E856)-2LF,  

11. &G<54 ?>4>4F=4O (�-803),  

12. /M<> 4?O =4<>F>< >455?O(470-8500010-04)-1LF,  

13. /M<> M?. 66>44 (470-3710100)-1LF.  
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�D4F>>5 

>?<E4=<5: 

�D<F5? 647>=-4>< EGL<?>4 < >5>7D56 D45>G<E 

 

 

 

 

�>?=>5 

>?<E4=<5: 

1. -<F G?D46?5=<O,  

2. �7=5FGL<F5?L ��-5(3)-2LF.,  

3. /M<> 4?O 4?F5G><(470-3912120),  

4. &5??>65=F<?OF>D (&��%-6)-2LF.,  

5. �4E?O=O= M?.D44<4F>D 2>�F.,  

6. %>4<LO(470�-8224010),  

7. �5L4?>4(470�-8230500),  

8. �4>(470-8235680)(0,14< ),  

9. '<O64?L=<> E M?.=47D56><, FG<54 E <>=>>= <7 =5D6.EF4?< < 75D>4?>< 

(470-4711300),  

10. �4FDG5>> 6O6>44 >4=4?<74F<<,  

11. �>6GE 6OFO6=>= (470�-8105010)-2LF.,  

12. %5>F<O L>4D4 EGL<?L=>7> (470�-8240010)(580E770<<)-12LF.,  

13. /M<> M?.66>44(470-3710100),  

14. /M<> 4?O =4<>F>< >455?O(470-8500010-04),  

15. -<F(470-5016012)-2LF.,  

16. �765M4F5?L ?>64D=O=,  

17. �5=F<?OF<>==O= G75?(470-8106000-01). 
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 �D4F>>5 >?<E4=<5: �D<F5? 647>=-4>< E4G=4 E4=G75? 

 

�>?=>5 >?<E4=<5: 1. -<F G?D46?5=<O,  

2. �7=5FGL<F5?L ��-5(3)-2LF.,  

3. /M<> 4?O 4?F5G><(470-3912120),  

4. �4E?O=O= M?. D44<4F>D 0,5>�F.,  

5. �5L4?>4 E ?>?>>=(470�-8250100)-1LF.,  

6. �5D>4?>(300E500<<),  

7. �>?>4(470�-8240050) E> E?<=>>=(470�-8240080),  

8. �765M4F5?L ?>64D=O=-2LF.,  

9. �4> (940?)(470�-8250200),  

10. %F4=F<O 6>4>E=4565=<O(470�-8250060),  

11. �4FDG5>> 6O6>44 >4=4?<74F<<,  

12. �5=F<?OF<>==O= G75?(470-8106000-01)-3LF.,  

13. &4<5GD(470�-8220000),  

14. �5=F<?OF<>==O= G75?(470�-8106300),  

15. �5L4?>4(470�-8240150),  

16. �GE>==O= E<5E<F5?L,  

17. �5D57>D>4>4 E4=.G7?4(470.1�-8260500),  

18. �5D57>D>4>4 4GL.>45<=O(GEF4=>6>4 470�-5016010),  

19. %<5E<F5?L 4?O 64==-2LF.,  

20. /M<> M?.66>44(470-3710100),  

21. /M<> 4?O =4<>F>< >455?O(470-8500010-04),  

22. ,F>D4(470�-8250545)-2LF.,  

23. $5L5F>4(470�-8250600)-2LF.,  

24. �GL56>= ?>44>= EF4?L=>= M<4?<D>64==O=(800E800<<)-2LF.,  

25. %>4<LO-2LF.,  

26. -?.>4<5=>4 -��-6,  

27. '=<F47->><?4>F-2LF.,  

28. &G<54 E <>=>>= <7 =5D6. EF4?<(500E600<<),  

29. >DNG>>,  

30. �4E?O=O= M?. D44<4F>D 2,0 >�F.-2LF. 
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�D4F>>5 

>?<E4=<5: 

�D<F5? 647>=-4>< 74D45D>5=4O/D474564?>4 

 

 

 

 

 

 

 

 

 

 

 

�>?=>5 >?<E4=<5: 

,>4D 46GEEF6>DG4FO= <5F4??<G5E><= -24LF 
'<O64?L=<> E M?.=47D56><, FG<54 E <>=>>= <7 =5D6.EF4?< < 75D>4?>< 

(470-4711300) 
�4E?O=O= M?. D44<4F>D 0,5>�F. 
%>4<LO 
�7=5FGL<F5?L ��-5(3) 
�5=F<?OF<>==O= G75?(470-8106000-01) 

 

 

�=GFD5==55 D4E?>?>65=<5 >5>DG4>64=<O ?> 65?4=<N 74>47G<>4 
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�D<?>65=<5 �  

%E5<4 74?D46>< EFD><F5?L=>= F5E=<>< 

 

&D55>64=<O 557>?4E=>EF<: 

- 46F>F>??<6>74?D46M<> E?54G5F D47<5M4FL =4 E?5F<4?L=> >F6545==>= ??>M44>5. 

�>>DOF<5 44==>= ??>M44>< E?54G5F 6O?>?=<FL <7 65?57>55F>==OE ??<F, < G>><??5>F>64FL 

>7=5FGL<F5?O<<, (=5 <5=55 46GE), >>L<>= (4E55EF>6O< ?>?>F=><), OM<>>< E ?5E>>< < 

?>?4F>=; 

- 6 <><5=F 74?D46>< E?54G5F <E?>?L7>64FL <5F4??<G5E><5, 75D<5F<G=O5 ?>44>=O 

6O?>?=5==O5 <7 557 <E>D>6OE <4F5D<4?>6, 6> 6=GFDL ?>44>=4 =5>5E>4<<> G?>6<FL 

=5DF5?>7?4M4NM<5 <4FO. � E?GG45 ?D>?<64 =5DF5?D>4G>F>6 =5DF5?>7?4M4NM<5 <4FO 

6O6>7OFEO =4 L?4<>=4>>?<F5?L; 

�5D54 =4G4?>< >F?GE>4 =5DF5?D>4G>F>6 6>4<F5?L-74?D46M<> >5O74=: 

- GEF4=>6<FL 46F>F>??<6>74?D46M<> =4 ??>M44>5, >55E?5G<6 =4456=>5 F>D<>65=<5 

46F><>5<?O < ?D<F5?4; 

- =4456=> 7475<?<FL 46F>F>??<6>74?D46M<>; 

- ?D>>>=FD>?<D>64FL <E?D46=>EFL ?5D6<G=OE ED54EF6 ?>64D>FGL5=<O; 

- ?D>65D<FL 6=5L=<< >E<>FD>< 75D<5F<G=>EFL FDG5>?D>6>4>6, L?4=7>6, 

F>??<6>D4744F>G=OE 47D574F>6; 

�6F>F>??<6>74?D46M<> 4>?65= 5OFL G>><??5>F>64= 46G<O >7=5FGL<F5?O<<, >>L<>= 

(4E55EF>6O< ?>?>F=><), OM<>>< E ?5E>>< < ?>?4F>= < <<5FL <=D>D<4F<>==O5 F45?<FO >5 

>?4E=>EF<. 
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&45?<F4 D57<EFD4F<< <7<5=5=<= 

�7

<. 

�><5D4 ?<EF>6 (EFD4=<F) �E57> 

?<EF>6 

(EFD4=<F) 

6 4>>. 

�><5D 

4>>. 
�>4?. �4F4 

<7<5=5==OE 74<5=5==OE =>6OE 4==G?<D>64==OE 
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